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No.DRM(P)/SBP/Conf/Elect(OP)/Selec/CLI/Provisional Answer Key/2023/25 Dated:21.08.2025

To
All Concerned

Sub:- Revised Provisional Answer Keys of the written test held on 07.01.2023,
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REVISED PROVISIONAL ANSWER KEY FOR BOOKLET-A FOR WRITTEN EXAMINATION

HELD ON 07.01.2023

SI.No Answer SI.No Answer SI.No Answer SI.LNo | Answer | SI.No | Answer |
1. A 23, C 45. A 67. B 89. A
2. A 24, D 46. D 68. C 90. B
3. A 25. A 47. B 69. B 1. C

4 e 26. B 48. A 70. B 92, A
5. A 27. C 49, A 71. A 93, A
6. D 28. B 50. D 72. B 94, B
7. B B 51. A 73. B 95, A
8. B 30. A 52. A 74. B 96. C
9. C 31, A 53, B 75. B 97. A
10. B 32. A 54, B 76. D 98. A
11. A 33, £ 55. B 77. A 99, C
12. C 34. A 56. B 78. B 100. A
13, A 35. A 57. A 79. A 101. B
14. A 36. B 58, A 80. A 102. B

15, D 37. B 59, C 81. C 103. C
16. C 38. A 60. B 82. B 104. B
17, D 39, D 61. C 83. A 105. D
18. C 40. B 62. C 84, B 106. B
19, C 41, A 63. C 85, D 107. C
20. D 42. B 64. D 86. B 108. A
91 C 43, [ 65. C 87. D 109. B
22, C 44, A 66. B 88. D 110. A




REVISED PROVISIONAL ANSWER KEY FOR BOOKLET-B FOR WRITTEN EXAMINATION

HELD ON 14.01.2023

SI.No Answer Sl.No Answer | Sl.No | Answer | SL.LNo | Answer | SI.No Answer!
1. D 23. D 45, C 67, B 89. D
2. A 24, A 46. B 68. A 90. B
3. A 25: B 47. C 69. D 91. A
4, D 26. B 48. A 70. B 92. B
5 The 27. A 49, B 71. B 93. B
nswer
ong
6. D 28. B 50Q. B 72. D 94, C
7. C 29. A 51. C 73. D 95, C
8. B 30. B 52, B 74. B 96. A
9. C 31 A 53. C 75. C 97. B
10. A 32. A 54 B 76. D 98. A
11. C 33. A 55. D 77. B 99. C
12. D 34, A 56. C 78. B 100. A
13. D 35. B 57. AorB 79. C 101. C
Or C
14, D 36. B 58. B 80. B 102, D
15. A 37. D 59. C 81. A 103. D
16. C 38. & 60. B 82. A 104, B
17. B 39. B 61, D 83. B 105. B
18. (o 40, C 62. C 84, B 106. B
|18, A 41, A 63. A 85. A 107. C
20. D 42. D 64. A 86. C 108. D
L 21, B 43, A 65. C 87. A 109. D
| 22 A 44, B 66. D 88. C 110. B




REVISED PROVISIONAL ANSWER KEY FOR BOOKLET-C FOR WRITTEN EXAMINATION

HELD ON 21.01.2023

&

SI.No Answer SI.No Answer SI.No Answer SLNo | Answer | SI.No | Answer
1. C 23, C 45, A 67. B 89. D
2. B 24, A 46. C 68. C 90. C
3. A 25. C 47 A 69. AorB 91. A

or C
4, D 26. C 48, C 70. A 92. A
5. D 27, A 49, B T o 6 93. C
6. C 28. A 50. B 72. D 94, A
7. A 29. B 51. B 73. D 8s. C
8. D 30. Cc 52. A 74, A 96. B
9. B 31. D 53. A 75, D 97. C
10. D 32. A 54, B 76. A 98. C
11. D 33. D 55. C 77, B 99, D
12, A 34, A 56. C 78. A 100. A
13. A 35. B 57. B 79. (& 101. D
1 Thi 36. A 58. A 80. B 102. A
question
is wrong
which
has no
15. € 37, AorB 59. A 81. D 103. D
16. C 38. D 60. C 82. A 104. B
17. A 39. B 61. D &3. A 105. C
18. C 40. D 62. D 84. B 106. A
19. B 41. A 63. A 85. B 107. A
20. A 42, D 64. B 86. D 108. A
21, A 43, C 65. A 87. A 109. B
22. D 44, A 66. D 88. B 110. cC_ |

3
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REVISED PROVISIONAL ANSWER KEY FOR BOOKLET-D FOR WRITTEN EXAMINATION HELD ON
28.01.2023

mﬁnswer ]‘SI.W Answer | SI.No | Answer | SI.No | Answer SI.No | Answer |

L & "3 8 T &= . b | 7. C 8. | C |
fT—jT 1 24 | 0 46 | ¢ 68 | & I o B
2 1" T e e T 6. | B | o1. | ¢ |

4, A | 28 C 48. c 70. C 92. B

5. C 27. A 49. A 71 C 93. D

6. C 28. A 50. B 72 B 94, B

7. A 29. D 51. D 73. A 95. B

8. D 30. A 52. A 74. C 96. A

9. D 31. A 53. C 75. A 97. C

10. A 32. D 54. C 76. B 98. A

11. C 33. C 55. B 77. D 99 A

12, A 34. A 56. A 78. D 100. A

13. D | 35 D 57. B 79. B 101. B

14. D 36. D 58. B 80. D 102. D

15. A C 59, C 81. B 103. A

16. D 18 A 60. D 82. C 104. C

17. C 39. A 61. A 83. A 105. A

18. D 40 B 62. B 84. D 106. B

19. C 41 B 63. B 85. C 107. C

20. B | 42 A 64. A 86. D 108. C

21. D 43. C 65. B 87. B 109. A

22. @ 44. | B 66. D 88. | A 110. B
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REVISED PROVISIONAL ANSWER KEY FOR BOOKLET-E FOR WRITTEN EXAMINATION

HELD ON 06.02.2023

77608

[ SI.No

Answer

SI.No

Answer SI.No Answer SI.No Answer SI.No | Answer

1. C 23, A 45, B 67. B 89. c |
2. A 24, D 46. A 68. A 90. A
3 B 25. C 47, C 69. | B 91. D
| 4 B 26. B 48. B 70, B 92 A
3 A 27. D 49, B 71 AorC 93, C
6. D 28. A 50. A 72. D 94, A
7. A 29. A 51, B 73. C 95, D

| 8 A 30. c 52. C 74 | B [ 9. A |
) D 31, B 53, C 75 C 97. | B
10. C 32. D 54, B 76. A 08, B
11. ¢ 33. A 55. C 77. A 99, D
12. A 34, A 56. B 78. Wrong | 100. A

Question
13. A 35, B 57. A 79. A 101. C
14. C 36. A 58, C 80. B 102. B
15. B 37. A 59. C 81. B 103. A
16. D 38. C 60. A 82. B 104. B
17. A 39, A 61. C 83, D 105. A
18. C 40. B 62. B 84, B 106. A
19. D a1, A 63. A 85, B 107. B
20. C 42. B 64. D 36. C 108. B
21. B 43, C 65. D 87. D 109. C
22. D 44, C 66. B 88. C 110. C
—
i

s



REVISED PROVISIONAL ANSWER KEY FOR BOOKLET-F FOR WRITTEN EXAMINATION

HELD ON 13.02.2023

[ S.No | Answer Sl.No Answer | Sl.No AnsweLJ.No A?wer@o_ Anﬁ
1. B 23. D 45 B 67. | B 89. A

2 B 8. .8 | & C 68. | A | oo C
3. A 25, € 47. B 69. A 91, D
4, € 26. D 48. C 70. A 92. D
5, A D 49, B 71, D 93. D
6. D 28. e 50. A 72, A 94, B
T D 29, A 51, B 73. C 95, A
8. C 30. A 52, B 74, A 96. B
9. C 31, C 53, B 75. B 97, D
10, B 32. C 54, C 76. A 98. A
11. A 33 A 55, B 77. A 99. D
12. C 34, D 56. C 78. C 100. A
13, A 35, B 57. B 79. D 101. A
14, C 36. € 58, D 80. A 102. A
15. B 37. B 59, A 81. A 103, D
16. D 38. A 60, C 82. A 104, A
17. A 39. B 61. D 83. C 105. A
18. P 40. A 62. C 84. C 106. A

19, B 41, D 63. B 85. A 107. B
20, B 42, D 64. B 86. B 108. D
21, C _43;% B 65. D 87. B | 109. | A
22 C 44, B 66. A 88. B 110. B




‘ : Booklet -A
E.CO. RAILWAY T&T 72 Yqd
SAMBALPUR DIVISION HE0R HSd
Selection for the Post of Chief Loco Inspector in Level-7 of pay matrix in Electrical OP Department

fagga sidt faum & O Afee & dae -7 @ 4B Ao sWaex & Ug & forg 9

Date: / f&=1@: 7.1.2023 IHY Time: 2hrs. Max. Marks: S{&UDHTH 3feb: 100
Instructions to Candidates: IWIEAR &1 fAdw
I. Read the questions carefully and answer. s &l A= u% IRIWE
2. Candidates should not write their name & roll number in any portion of the answer book or Question paper
other than the flyleaf. JTRYRTBT A1 3= & el off R A werrselies & srerrar o1 =19 7R A R 7
ferd |
3. All answers shall be written in OMR sheet. Blue/ black ball poin-i pen should be used for answering in OMR
answer sheet HI IR W&WQﬂfﬁmml Maﬁwmﬁméﬁﬁmﬂﬁiﬁﬁm
@Ec U &1 Jar d1 |
4. Usage of Cell phones, Calculators & other Electronic gadgets inside the examination hall not Permitted.
Tten BT & 3R Ve B, FAP ey 3R - FAGP Toicy P IUFRT B AT 781 o
5. Any discrepancies in Hindi Translation, English version is final.
&t srqare® #15 1 fawiom, sfsh e sifem &
6. There shall be negative marking for incorrect answers. 1/3(one third) of the marks allotted for each question

will be deducted for wrong answers.
TAd IR & [T THRIAS 3 BN TS Uy & g smdfed sfel &1 1/3 (U@ figms) Tad I & forg
DICT SfTET

7. There are 110 questions with four answer options and candidate has to answer a maximum of 100 questions,

each question will carry 01 mark.

IR IR Bl & T1Y 110 UY € 3R IHICar &7 AfIBad 100 U4 &1 IR A1 2. TP UY 01 AP BT
BT

8. In case the candidate answers more than 100 question, First answered 100 questions will be taken in to

account for evaluation.

afg IEftear 100 F iU Wil &1 IR a1 8, T TuH IR ad 100 Wi BT Gedi & fog &= § @1
ST

9. Over writing,cutting ,erasing or alteration of any type will be treated as invalid answer and zero mark will be

given for it

et 1t veR & 3R T, e, fier o1 uftad= &1 s IR 71 ST SR 59 o I 3fd
fear s

10. Candidates are not allowed to leave their seats within one hour of commencement of examination and

should deposit answer sheet and question paper supplied to him/her before leaving the examination hall .

Wﬁﬁwwﬁ%w@%%ﬂ%ﬁﬁmﬁﬁ%mﬁﬁwmﬁ
Y TR I8 ¢ TS IR YT TR WY U ST AT Fifey

1



Choose the Correct Answer B} 33 mwaﬂm

1. When is Hindi Day celebrated every vear ¢

A) September 14 B} October 14
C)yNovember 14 D)August 14

A) FrFae 14 B) a7 14
C) AF97 14 D) FH 14

2. Who is the chairman of the Divisional official Language Implementation Cammittee?
AJDRM  B)DFM  C)DCM D) DMM
FATHIT TTHAT FT3 730 T F qersg #7982
A) DRM BYDFM () DCM D) DMM
3. Which is the elementary Hindi course prescribed for Central Govt. emplovees?
A) Prabodh  B)Praveen  C) Pragya D) Parangat
4F TR FHATLAL F T Tt st (3 urrsm #9377 29
A) WA B) WEIT CyTAT D)y THT |
4. Into how many regions Indian states have been classified. according to official language act?
A) 1 B)2 ()3 D)4
TSI AT ¥ s WAy et A e i o e w8
A By2 33 4
5. When did Section 3(3) of the Official Language Act came into forec?
A) 26 January 1963 B) 15 April 1963
C)Y 13 September 1963 ) 10 May 1967
FIFTATIT ST T 97T 3(3) 77 F A0 g

A) 26 TTIT 1965 1) 15 weT 1963
Cy |5 T 1963 D) 10 9% 1967

6. When was the Official Language Act passed?
A) 10 January 1963 B) 10 April 1963
C) 10 September 1963 D) 10 Mayv 1963
AT A fafR F i gan e
A) LO T 1965 B) 10 #%+1 1963
Oy iofaa=7 1963 D) 10 7% 1963
7. When was the Official Language Act 1963 amended?
Ay 1965 B}y 1967 C) 1977 D) 1979
TTSTATT HTATHA 1963 T HaTTIET g 7
A) 1965 B) 1967 () 1977 D) 1979
8. How many times a year does the Mandal Official Language Implementation Committee meet?
A}é6times B)4times C)3times D)2 times

HEA TTAATTT S0 AH{T AT 35 11 # Fraeit are 297 2 2

2



A)6FTT B)4eax C) 397 D)29T o

9. How many sections are there in Official Language Act?

A)S B)7 )9 D)II '

TTAATAT ATAHIH | 7 foa=r gt £ 2

A)s B)7 )9 DI

10. Who was the first chairman of the Official Language Commission?
TTSTATT AT F AATIH LT 7 7

A) R.C.Panth B) B.G.Kher

B) Lalit Narayan Mishra D) Omm Mehela

TTSTHTIT ST F TITAHT HETT FIT 9 2

A) 9T #H, TRy B) 1. ft. &7

C) wferd AR firy D) 31 Hgdl

I1. What is the standard form used for suspension?

A)SF1 B)SF5 C)SF7 D)SFl11

fciem & fore wgea aH® U R e

A)SFI B)SF5 C)SF7 D)SFllI

12. According to Rule No. 3.1 of RS (Conduct) Rules, 1966. every Railway Servant shall at
all times;

A) Maintain absolute integrity B) Maintain devotion to duty
C)Botha&b D) None of the above

&FTTH F. 3.1 of RS (Conduct) Rules, 1966 & IR & U I00d HHTIR! gHT:
A) UUd SESATTAT @ B) ST & Uerd &-81 a91g @1

C) AT BEMET D) 3T | Fg 7 A8
13. Running staff is classified as employments as per Section 130 (a) of HOER 2005 /HOER 1961
A) Continuous B) Intensive

C) Essentially Intermittent D) Excluded/

F AT 130(a) THAT FHAATLTET Fl onmeemee TS ¥ arefier aefig s o &,
A) fiae B) e

B) srf7amd =7 7 stqaia+ D) afgvFa

14. Loco pilot to be moved to headquarters within _ Hrs away from HQ Loco pilot .

A)72hrs B)96hrs C)48 hrs D) 60 hrs

! Uraeie B geTe Abl yaac § He & +fiaR JReTad o ST S|
A)72hrs B)96 hrs C)48 hrs D) 60 hrs

15. PME for the running staff after 55 yrs of age is

A) Once in 4 yrs B)oncein3yrs  C)oncein 2 yrs D) once in a year

55 a8 BT MY P a1 AT ©H S R deag @
A)AFEAHATH R B)3YAHTH IR C)2TAHIS TR D) I H U §R
16. Medical fitness required for CLI is

3



A)A-1 ByA-2 CyA-3  DyB-l

Tiuersr & fom smawas fspafem . @

AA-1T BYA-2  C)A-3  D)B-I

17. Running stafl shall be granted rest of  consecutive hours in a month,
A 4 periods of 22hrs

B) 4 periods of 22hrs with full night in bed

) 5 periods of 22hrs

[} & periods of 22hrs with full night in bed
TewrHi s R g amaR O &1 9w &3 S|
A)22 T2 HT 4 3ATd

By fareaw & 7 714 % A7 22 "= A 4 wafy

Cy22 d2 A S waly

) Fae & T T % w22 A A S Aty

18. In grading of a LP by CL1, for “B" grade the marks should be between 1o
A)S0t095 Br8Dto90 C)6010 80 D 5o 60
CLIGRTLP & Y& H “B™ arade FT 3 nmnnmms Foea CIEkS
A)190 1095 Bi8lto 90 C)60to 80 D) S0 to 60

9. Standard Form No. 1| relates 1o

A) [ssue of major penalty

B) Issue of suspension

C) 1ssue of minor penalty

D) Nomination of Inquiry Officer

T T7F 5927 1] #4999

A) FEZT AT AT F2AT

B) == #1777

C) AT SATAT ST F7

D) I wfaerT #7 AT

20 Inquiry Officer can delegate his functions to:

A) Disciplinary authority  B) Defence helper

C) Presenting officer D) He cannot delegate

A) TITTAATRT, AT R} 74T TETAF
C) FEAFAT ATEFTES D) #Z T 721 2 wear

21. During suspension which type of allowance is eligible for running staft

A) Subsistence allowance  B) Average running allowance C)Botha& b D) none
EGEEE L Rt A R A C s Lo I I )

A) FaTs waT B) 3ftaa o= s i Q)T ETATIAT D) FIe oft T8



22.The detailed distribution of budget allotment 'made to railwa‘_y} administrations is contained in
A) Yellow book  B) Green book i ‘

C) Pink Book D) White Paper T

¥ FITHA F 0 0 I srde w71 gy A AR

A) fft =% B) e TR

C) TATHI TFa% D) %= FTe

23, Crew links are to be prepared based on --=---—---

A Sanctioned strength B) Loco link

C) WT1 D) Rake link

F o F-— - g1 77 FAT7 e s 2

A) HTga o= B) AT T

CYWTT D) ¥ fofF

24. Basic duty of TLC/Power controller

A) To arrange locomotive power B3) To guide running stalt

) Planning of locos to home shed for maintenance D} All the above

AT AT FEEE YA T4

A) ATHETHITZS TTa7 $T STF89T F97 & fom B) “f537 w21 #7 A=A T 8

C) v@¥ara ¥ o AT 7 219 472 T AT D) 7T 37
25. Who is the competent authority to make rule on RS (D&A) Rules?

A) President of India B) Ministry of Railways

C) Member(Staff) D) Secretary Rly.Bd.

IRGH (B TS v) Pt R fom 9919 & fore gem wifie o1 22
A) YR & PUfd B) Y& HATTY

C) ¥eq (HHTRh D) Of¥g Yaa S

26. Signals are located normally on left hand side but with the permission of it may be located on right
hand side to track

A)PCOM B)CRS C) Sighting Committee D) DRM

RudamasudaE iR RAgRg T & ogafd 338 2o o7 & faw o oiR fRya v
EIRCIE

A) Uity B)HREE ) IfATHEE D) SR

27. Which of the following is the bell code to indicate zone of speed restriction is over?

A 00 pause 00 B) 00

B) 0 pause 0 D) 000 pause 000

C) T &TAAT F T F THIGH FT AT F7 F AT F19-A7 bell code £2

A)00 7T 00 B)00

C) 0 fammm o D) 000 47T/ 000

28. Which of the following shows the correct normal life of a detonator manufacturing after 2010?

A) 7 years B) 5 years C) 6 years D) 10 years



2010 F T ATIHAT detonator £ FFT ATHAT ATE 74T 27

Ay 7 HI= B)Y S HTT Cyo |7 D) 10 HTS
29.What is the whistle code to be given by the LP when fouling mark not cleared ?

A) One long one short B) Three long

) Three short D) One long one short one leng one short

9 BI3FET HTe |1 AN Bt & o Terdt g1 ¥ w1 T o 82

A)TE FHTTFEFET B) A Ad

C) A ale 1)) T, AR T BT U AAT T A

30. Which among the following Authority to Proceed shall be issued during Block Instrament failure and LC is
obtained through indirect means of communication duly cross checking of PNs given

AYT/C or T/D 1425 B) T/369(3%) with endorsement and PN

CYyl/A 602 D) T.1408

ST T PN T T T E indirect T F WTSTE F G197 1LC U AT ATAT 2 A7 sATE 3 F AT % A
TEITT F UTTTFTT F EG H oo ST 47T AT 2.

A)YTCor T/D 1425 13)369(3b) 74T 577 PN . F |79

C)T/A 602 D) T.1408

31. Heavy winds above ~kmph is considered as dangerous for running trains.

A165  B45 O30 DY25

Feft wfe s & ww 55 ZAs 7 59 Fer F B0 @A /e S AL

Ayes  Byd4s QB0 D)25

32. At non-interlocked station. speed of the trains on main ling shall not exceed _~ kmph.
Ayt B0 C)33 Dy 45
Af-Zarats w2em T B ATEA T AT ATt PR ot g o afgw qE A AR
A)30  B)20  C)35 Dy 45

33. A fixed stop signal of a station controlling the entry of trains into next block section is called

AYFSS BYSTARTER C)LSS D) None

ST I T A7 T o arer w57 v T T Frresme s AT A  mEraAT R
A) TETETE  B) T C)TETATH D) FIE AT

34 Signals used for controlling movement of trains as per G & SR are
AYFixed, Hand. Detonating, Flare B} FSS. HOME, 1.58
C)Shunt Signals and Calling ON D) None

G & SR . % w7 21 T srarern F1 et w7 F oy g e A A e B

AT, #3, 3H, FET R) THRUATH, T, TATATT
C) sz o e M ON - D) =15 off 78
35, Distant signal location is meters before the stop signal,

A)Not less than 1000 meters B) not less than 500 meters

C) Not less than 200 meters D) Not fess than 1500 meters



(R EPE R D ko S 1 o -

A) 1000 2T ¥ =1 781 B)snnmﬁrwaﬁ."

C) 200 =T FFH AL D) 1500 e F F7 T

36. When colour light distant is combined with Gate / LSS, the normal aspect of that signal is

A)Proceed B) Danger C) Caution D) Attention ) .

e HeR dge fET DY T/ TauTy & Y A1l 8. A Y Rua erem=Ugq Barel
A) FTFZAT B) @A C) AMFLT D) 479

37. Advanced Starter signal protects .

A)Station section B) Block section

C) Signalling section D) None

A ER Faw  frawEr Fear gl

A) FEIF ET B) @T &%

C) FrrferT st D) #1% +ft 7

38. Emergency telephone point is located at every meters .
A)1000 B) 1500 C)900 D) 1600

A)I000 B) 1500 C)900 D) 1600

39. Which of the following is the correct method of authorised movement when LP passed home signal at
danger at station, with more than one reception signal and it is possible to take off only one signal?

A) Restarting Memo B) Restarting Memo+ Piloting

C) Restarting Memo-— piloting on T."36l9('3b) D) Restarting Memo and take off Routing Signal
fFafafed 4 & @ a ofigd Saad &1 w8 ader 8 99 ol Y- R @R & 6 R 3 ToRaT 2, w
3 3ffere R R & W SR ot U R &1 48 S IHa @

A) BT Tl 6T 7 0% F2r

B) #HT~ T fE i {7 & 0= FvAAT

C) E1/369(35T) 7T HHAT+ FT HATeA [T 7 9% FoAT

D) #AT HT [ 7 % FaA7 ¥ = fraer #r 3qrer

40. To clear the disabled train from mid-section, which of the following is the authority issued to the relief
engine in Automatic Block System on double line?

A)T/D912 B)T/C912+T/A912 C) T/A 602 D) T 1408

el 30 1 7ex @% § @l w9 F Oy, sew avew 07 smeod sts Aew § Ted 9 A
fFafafas & & F= ar s s fFEr s 20

A)T/D912 B)T/C912+T/A912 C) T/A 602 D) T 1408

41. To detach the loco from the formation of a goods train outside station limits on a gradient steeper than 1 in
400, which of the following shows the correct application of the hand brakes?

A) Hand brakes of all the vehicles+ HB of BV  B) Hand brakes of all the vehicles
C) Hand brakes of atleast 12 vehicles D) Hand brakes of atleast 6 vehicles +BV



400 H t § 3f¢E 1 U 1w+ Hi51 3 F163 HIenTS! & BIHTA Q 15! T AT D & o, fafafaa o
Y B 65 9P DT Jet IUTHT ST 22

A FRTEAE AR T ) e A
C) FF H T 12 ATA ¥ Fe A+ D) % ¥ 6 ATEA! F £F AT BV

42, Which of the following speed shall be observed when movement of trains against the direction of traffic is
permirted under Automatic Block System?

A) 15 kmph By 10 kmph C)20 kmph D) walking speed

frofafad o @ o bt nfa ae Sl srort oe wwrien sife e & ded aramd @ fewn & faeg 25 @t
SfTATSTE B SRR & S 82

A} 15 kmph B) 10 kmph C3y20 kmph D) o 7 af&

43. Calling ON signal cannot be taken “OFF” during tailure.

A) Signal B) Track C)Point D) Block instruments

M B EFE O =mTES D) SE TTE

44 Gate signal is identified by

AYG Marker B) P marker O) 1B Marker D) ID Marker

Tz et £ 7EETH FT7T if FATAT 2

Ay ST HTET B) T ATEF C) ATEHT ATET D) STEET WIET

45, Normal setting of points is for

A)Main Line  B) Loop Line  C)commeon loop D) Branch line
TATEZ T ATHT T2 F = 2

A TTART B FT AT CYyFIEA 47 D) 7T A5

46. During power block __trains are only permitted to run.
A) Passenger  B) Goods  C) Sub-Urban D) Diesel

AyrEdt By"™ CO)3IT92T D)y

47. A green flag by day and a white light by night moved vertically as high and as low as possible indicate

&1 Train stalling B) Train parting  C) Shunting D} none of the above

239 & 7F g AT Y U9 B TR AR TIHT AAT AT 2T 27 A 3997 FAT AT FHOH FH

| Frfma
A) T EFAT B)ZA q77% C) sifam D) ITF & H FrE q%F
48. ODC shall be allowed to be attached by & train for transport only with the prior sanction of
A) COM B) DRM C)y DME/DEE 1)) none
ATEAT A FAT THAEA F 0 2 G197 ery F71 7 srqof 2ft F T w5 F AT
A) HTE=TT B)Fiww Q) IUHISEET D) wE AR



49. When head light is defective after putting marker light the train can go with a restricted speed of

__kmph. : S
A)40 B)25 ()15 D) none ) 7
T ATZZ T ¥ 415 2% AT2Z @O S5 0 3 e A Ry e s i wisrfars i

A)0 B)25 C)15 D) FrEagr

50. The Authority to Proceed for a train to be despatched from a non -signalled/non running line on single line is

A) T/369(3b)+Endorsement B) Written Memo~PN

C) T/G 602 D) T/51 I+Endorsement

foiwrer e w7 Aoyt oS wre & e 2 At i ¥ v s gy wr afaw
A) Z/369(3FT)+ IqHTEA B) forfere aer-fimer

C) &/t 602 D) &/5 1 1+3rqHTas

51. Under which classification a derailment to a passenger train is classified?

A) Consequential accidents ~ B) Indicative accident

C)Unusual incidents D) Equipment failure

AT 27 F T IAA Tt awfiww F qe it fwr mar 2o

A) TR e B) ATH T AT

C)HTHTT AT D) 9% fawerar

52. Medical standard and frequency for the Running Staff

A) Al —once in 4 Years <45 Years, once in 02 Years <55 & every year up to 60
B) A2 -— once in 4 Years <45 Years, once in 02 Years <55 & every vear up to 60
C) Al —once in 4 Years <55 Years & every year up to 60

D) None of the above.

TEAT FAF 5 AT ATHFAT HITF AT ATIF AT memme =4

A) Al -4 |7 | TF ATT <45 |1, 02 7T § TF 17 <55 377 27 9747 60 TF

B) A2 - 4 HTS § TF a1 <45 AT, 02 AT § U 777 <55 37 27 74777 60 75

C) Al -4 7o ¥ T &7 <55 FIH 3fi¥ g7 AT 60 . TF

D) 3991 & 7 F1E 727

53. In cadre review Leave reserve post for the category of Loco Pilot Mail is

A) 30 % allowed in LP/Mail Category  B) 30 % allowed in LP/Pass Category
C) 12.5 % allowed in LP/Mail Category D) 15% allowed in both LP/Mail & LP/Pass Category

He! FHAT H e e gor fi Aot o s s 2 2
A) Tt/ Ao H 30% i aqEfT E B) merft/arer Avft § 30% FT sAfa &
C) werflae #oft § 12.5% Ft sqafa & D) werdfi/der o werdi/are aoft 591 F 15% 1 s &

54. The whistle code for passing stop signal at ON on proper authority is

A) 0 0 B)O 0 C)_ 00 D)0O0O
A FT wON el frm w a FRo @i fe | &)
A)_0 0 B)O__ 0 C) 00 D)0 00



53, When leading compartment of electric engine 15 defective and the train is driven from trailing cab by Asst
[.P. the speed shall not exceed kmph.

A)50 B)40 ()25 D)none

g AT T3 F7 ATET FIEHE T 27 7 IAETF AT 3T SATHT F T S, e ]
A3 S0 BMO ()25 D)FTE TR

36 .Difference between "scheduled departure time" and "Actual Departure tinme" for poods trains is called.
A}YPAD DB)yPDD C) PCDO DY) None

mrermfent & forg i e gme 3t araRe v g & 9 & a1 Hel I 8

A)PAD  B)PDD C) PCDO D) FrE A7
57. If BP drops less than 2.8 kg/em?2 or MR dropping below 6.8 kg'om2 indication tght glows

A) Flasher B)PCS open CYBotha& b D} None
afe didt 2.8 fem A TFA A A T THIR 6 ¢ frmAFh ¥ TR RS 5% orge oo 8
ATRER  BURNE AT O UR#E S D) Pls ARl

58. breaker controls speed circuit.
AYMCB B) MFPB C)FPB Dy MB2

A} UHEE] B)UHUGYE] ©) UTHUlE D) THED

59. 1f DI is tripped through static converter ... Lamp glows in both the cabs.

A) LLSRSI B} Internal fault tamp ) LSSIT D) External fault lamp

i E5 AT T oF Feaer 7 ST T AT R AT L AT ¥ H 07 TAFAT

A) TR AT HTE B) AATF AT AT ) mermETaariAy D) IS AT AT
60. Who is authorized for crew grading?

AyCcc BYCLl CyAnvoneof A& B ) Branch officer
AT B) #rraAard C) U A1 H A AL v D) ot stfaEr
61. The normal maximum DC Link voltage is

A} 1100V B) 1250V ) 2600V D) 2400V

A) THOOV By 1250V C) 2600V D) 2400V

62. During locked axle light will glows (HHP).

A) Brake Warn B) TE warn C) Wheel slip DjNo mdication

AF T F FTT T THHAT (HHP)

A) T FATEAT R) &% JATAAT C) =i T DYFTE HFA T51

63. Radar is availablein _ loco.

A) WDM3D B) WAP4 C) WDP4R D) WDIP3A

Ay WDM3D B) WAP4 )y WDP4B D) WDP3A
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64. To work a loco as banker in an air brake formation . COC to be closed.

A) C3W COC B) Brake cyl. COC C) LWS coc “ D) BP Iédlation (1") &C3W COC

o T A e A TR A A A AT A em A s, COC#r R S 8

Ay# iz fanft B FF REE e ) mEseTa AtEw D) Fft s (1) st it 3 zeeg et
65.MRPT is available in o

A) ECCI B) ECC2 C)ECC3 D)ECC4

----------- # MRPT 37755 2.

A) ECCI B) ECC2 C)ECC3 D)ECC4

66. As per HPC recommendations, running duty at a stretch should not exceed  hrs for the purpose of
preparation links for Mail/Express trains.

AY7hrs B)8hrs C)9 hrs D) 10 hrs

AT 7 e F e et/ 3T o forT fRrE AT A F IEed § UF B T AT S
== 7 FTUF TE AT AR

A) 79% B)8He C)9&e D) 10 =2

67. In WAG-5 loco during RB application, if there is earth fault in TM-6 field

.............. relay will act.

A) QOP-1 B) QOP-2 C)QRSI-I D) QE

Toegeit-5 ST # At TeHe F A, 31 A6 few F o W frer v w1
A) FIArI-1 B) FAT-2  C) FIATTHAE-1 D) F 3

68. Earth fault in MPH motor causes tripping of DJ through............relay.

AXQLA  B)QOP-1 C)QOA D)QRSI-I

MPH HTz7 # 74 Flez F FO0 ... Frer 3 e 7 S5 T 21 s
AYFTET  B) FIAMT -1 C) FIAT  DyFFATHE -|

69. Starting phase of ARNO is suppressed by..............oooeeee relay.

A) Q45 B) QCVAR C) Q30 D) Q44

ARNO FTITEHF F0T ..o foer grey =ar faar smar 2

A) 745 B)FHETmAT C) T30 D) T4

70. After closing DJ, ............ protects main transformer against surge voltage.

A) ETTFP-1 B) ET-2 C) ET-1 D) ETTFP-2

TN TG FATAR o T ZAETHT FT 7o) aTees § a=ral ¢l

A) EEETTETT-1 B) T&1-2 C) -1 D) TEETETT-2

71. In VCB type (DI) DJ, to close & maintain DJ ...... electro valve(s) to be energized.

A)MTDJ B) MTDJ & EFDI C)Cl118 D)EFDI

ey (Frrs) T H, S R a9 T 7 FA0 wE o TOrFT 7o (3 FT A AT ST
A)THESS  B)uwdE @ fuwde C) v 118 D)ETEETST

72. On run. if OHE contact wire is found hanging, the immediate duty of the crew is......

A) Inform TLC

B) Keep ZPT on “0” and apply Emergency brakes or press BPEMS.

11



C) Inform TPC

7} None of the above

Ay Freft £1 e #5

B) STEHTET FT 0" 77 74 A7 STITAERTATT ZF AT g7 STy 347
C) Ffreft 7 i

D) I § 7 AL AE

73. The OHE supply of two traction substations is separated byv-------

A) Isolator BysP  C)s5P D) TSS

AT EFIT AEeoEl AT AT AT BeEE T e AT AT L

A) EEIR By R C) T D) Frama

74. To maintain uniform wear & tear of panto pan ...... ... arrangement is provided on OHE.
A)YATD  B) Staggering CrAnticreep D)YA&DB

27 A A TEEET ZE- g ST AT v & L AT T FEeT i T

Ay TEET B) IF¥ ) TAr AT D) T ET

750 e relay causes Auto Regression during AL working.

A)PR] B)yPR2  (C)RGEB2 D) Q20

577 AFL % #19 F99 F 39T S2T1 (U9 & 7790 99447 21

Ay Tr=mel BydsT2 ) AvaATeAn D} F20

76. During Ar‘) application ... Relay energises and nullifies the AFL actions.
AYQ-121 B)Q-120  C)QFL. D) PR-1

AQ FETATT R AT o1 A3 207 2 o wmErE w1t #5772 w7 2

A)F-121 B) ¥9-120 () FIFEIA D} -]
77. When notches are not progressing & regressing by MP. try with----
A) LEC operation B) GR manual operation ) Ask for reliefloce D) None of the above

A) 5 atrre B) e Sera siTeeE ) TEa AT F U AE D) I H T FE AEf

78. While using RB. ...... brakes should not be used to avoid toco wheet skidding.

A} Formation(A-9) B) SA-9 C) All above D) None of the above

AT FT ST F2F AT ... TF T TTINT AT 700 (P37 97 = 5 Torm a1 T S =i
A} TE (TT-9) B) THTT-Y C) T THT Dy T § 7 FE AL

79. Break cylinder pressure in WDP4/WDG4

AY5. 2 kgisgem B 4.8 kg /sgem C) 3.8 ke /sq.em DY 3.5 ke /sg.em

WDP4/WDG4 H 8% gt R

A) 5.2 oyt 3t B) 4.8 oy et 9t ) 3.8 T e St D) 3.5 5w ; ot o

12



80. Engineering indicators are (1) (2) (3) (4)

A) Caution Indicators, Speed Indicators, Stop Indicators,v*{‘ennination Indicators
B) Coasting Boards, Warning Boards, Whistle boards, LV boards

C) a&b

D) none of the above

TR T £ (1) 2) 3 N C )

A) FTFYTAT Fehaaoh, T FHoha s, 21T HFa s, TUIH TH575
B) qZadT TS, FaTa+T ars, H21 are, vedt a7

C) TaEHTHT

D) TYIIF § & FE TR

81.In HHP locomotive Air brake is controlled by

A) Mechanically B) Electrically C) Computer D) None of these

HHP di®HIfcd H TR 9 forad grT fFafd fearwmare
ATEq Bfdfegd oFgR DT IBE AR

82. In twin pipe air brake system. coaches™ auxiliary reservoir is charged with  pressure.
AMR4 B)FP C)BC D)BP

Rea T v aF M=a §, FAF OgIF @27 F1 | Zarg & ST 57 Arar 3

AMR4 B)FP C)BC D)BP

83. Earth fault in C118 contactor coil causes  fuse to melt.
A)CCDJ B) Addl. CCBA C) CCPT D) CCBA
Cl8FFZ H qf Flez FFW e fee Srar 21

A) CCDJ B) Addl. CCBA C) CCPT D) CCBA

84. Sluggish operation of GR causes tripping of DJ through _ relay.
A)Q118 B) Q 44 C)Q 50 D) Q 45

ST 7 e st o 5 amem & S 3 2 o oy g
A)Q118 B) Q 44 C)Q 50 D) Q45

85. During dead movement COC47 to be keptin

A)Out  B) Vertical C) Horizontal D) In

FF A FIATFCOCATH:  HTETAMTE

A) #3Z B)afEFar ) gifisirea D)3F

86. Which of the following test is conducted by LP and Guard to ensure the opening of all cut out angle cocks
from engine to the last vehicle?

A) Brake feel test B) Brake continuity test ~ C) Brake power test D) none

T | AT AT 7% T T2 T2 U FlF FT GIAAT qIATST T 0 Form werdt it 7€ g1 frafertay § 7
FIT AT TEET ST T S 22

A) FF Fie = B) &% fvavar wfreror C) FFTETZFE D) FIE A8
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87, Auxiliary controlling relay is ..o

A)QI18 By Q49 O Qlg  D)QIoo

AYQI18  B)49 GO DYQI0o

88. Whenever DJ is tripped on notches GR comes Lo zero by relay.

A) Q32 ByQsr Y46 DYQ3O

S T S5 F1 7= 9w frw T smar £ A7 Srar e oo s 2L, e
A) Q32 By Q51 Cr46 Dy Q50

89. GR travelling time (0 to 32 notches) for progression is.... seconds.,

A)llto 13 By10tw 12 ) 32 D13

AT o T S AT A (0 F 32 aR) 2., T
A} 11913 R O 12 C) 32 D) 15
90. Before taking notches. if Q31 is in energised condition crew @XpPerienCes .....ociiiiiiiioeincrnciinnne.

traction failure.

A) TLTE with LSB B) TLTE without LSB
CrAuto regression with LSP - D) None of the above
Ao frt 3 g, Aty Q31 kBl B R AT IR T e i o

A) TETIET F AT e e By merAT . AT S

Cyrermadt & H1 wfer By D) 3T | F FIE T71

91. To check engine sump level. engine should be in condition

A) Shut down B) 4duNotch C) Idle D) 2w Notch

39 W ddd 99 $E b U goH BStwE H 1 918

A)yozErsd Bystar TR ) R D) 7T TR

92, When dead loco is attached on formation, if loco brakes are not releasing proportionally.
........................ is to be isolated in dead ioco te avoid wheel skidding,

AYC3W Valve  ByC2A C)MU2B D)Bothcab A 9

T TT ATE FIAGA U 2T AT £, A AT FF arqunAs = Ay wdi g v o Av e e e

L1 L AR FT T AHT § FAT AT A197 21

Ay C3WAETH  B)C2A C)MU2B D) EETFT A9
93.................numbers of brake cylinders are provided in WAG-3 or WAG-7 loco.
AY8 BI24 )6 DIz

WAG-3 T WAG-7arRT g e Rferser it s . TETH o ATAT 3

Mg By24 OGe6 D12

94. If carth fault occurs in out side of SIV, ...... lamp glows on SIV pancl.
A} OHE out of range B) External fault
C) Internal fault D} None of the above

14



72wt F ey FE # o wiee 2T & O uaaArsd; 99 o7 45 I60EaT ol

A) o= HHT F qTET B)m_fra‘w’"

C) FAT 3 D) ITEIF § § FrE T4

95. In SIV locos, if LSSIT glows continuously, crew experiences ......... tripping failure.

A)CDI B) No Tension ) Operation *A" Ending D) None of these
THHATEAT ST |, TTE TATHATHATEL FATATT THFAT T5AT &, AT FATAF FT AqAA.... T FEweram
A)ArEHTES B)Te AT AR C) AIUL9 T TAHTH D) T3 & FE 721

96. In micro processor loco, before checking any loco equipment or attending any loco trouble ensure to keep
................ switch in open position.

A) HBA B) HPAR C) BLDIJ D) HOBA

OTeET WA o #, B off Fer IwEew £ S w9 a7 IIRAT 2T F TgetaAT off A T i
................. et P & e e giAfam 74

A) HBA B) HPAR C) BLDIJ D) HOBA

97. In SIV locos. C108 contactor is provided for ........... motor.

A)AC MVRF B)DC MVRF C) SIV rectifier D) SIV inverter

SIV EFATH oot A1z F form €108 Fiveae 2T T 8

A) vt mHdtaTE B) S URSMRTE C) THATSAT YEFEHAT D) THHEAT e
98. To overcome the Q 30 relay defective trouble, .......... relay can be wedged.

A) Q45 B)Q 118 C) QCVAR D) None of the above

7 30 Frér ST o A g7 F R, L Préy %t 37 FovarT ST FrT 21

A) FI45 B)FL 118  CyRHETIAT D) ST § & TS ARl

09. After passing neutral section, If ICDJ is experienced, check ....... & ....... fuses.

A) CCPT & CCBA  B) Addl. CCBA & CCPT C) Addl. CCBA & CCBA D) CCPT & CCDJ
ZA THIT TIH T F 4TS, TS ATSATSA F A9 &, AT ... E I = 0 i 1
) #HTE s e

B) srfafi= #ieftefim s A=y

C) wrfafi=r e s #wefiem

D) HEr T 3 A

100. For wedging ................... relay in DJ Control circuit, permission of TLC is necessary.
A)Q44 B)QI1I8 C)Q45 D)Q46

FEwFERT . Frer 17 Fgrer wiehe ), froeet aafa a=EvaT 81

A) FL44 B)F[118 C) F45 D)FL46

101. To avoid ICDJ, minimum ..........ccocevviene kg/cm2 of MR/RS pressure is required.

A) 6.6 B) 6.5 C)6 D)3s

ATEHTETST | T T THE/ A0 8T F AT o, ERGEInE CEEE
A)66 B)65 C)6 D)5.5

102. While 3@ loco working as banker, puton ............. switch and close 70 cut out cock
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A) ZTLL B)Y ZBAN C)BLIO D) None of the above

A 3O ATHRT TFTT FFTE FTHFTIIGIE, .o feg #5717 70 F= W32 FF 7 g8 T
A) TEdETE B) STz C) ST D) TIFIF § I FIE THT
103, In 30 loco. Battery charger is getting supply from ..............

A} Auxiliary converter No. 1

BY Auxiliary converter No. 2

C) Auxiliary converter No. 3

D} Traction converter No. |

SO AR H T AT Fr = TETTEIE
A)  AETIE FAFLT A |

B) AEHF AT 797 2

C) HETHF FATET 97

D) ¥R FAFL7 797 |

104. [n 30 loco. for charging of BP pressure .................. COC to be kept open.

Ay A-8 B) 70 )74 Dy 47

IOHTRT F AT o AT Fwew ow oo Ararft FoFAT TET FET 2
A)A-8 B) 70 )74 Dy 47

[35. In 3 loco, Auxiliary converter No.2 feeds ..................... molors.

A) Traction motor blower-1 & 2
B} B) Transformer oil pump-1 & 2
C) SR Oil pump-t & 2

D) all of the above

A) FFOTT HIET SATAT -| 3T 2

B) ZTAET 7T - | v 2

C) TR A 99 -] 37 2

D) T AT

106. In 300 loco, location of TM Blower-115 ...,
A)Y Machine room No. 1( near cab-2)

B) Machinc room No.2( near cab-1)

) Under machine room No.1

D) Under machine room No.2

3O FATENH, AT FATHT- 1 FTEATT e
A T =1 {97 | (FF-2 FIH)

B) Wil =9 997 2 (¥4 -1 F 79)

C) 7l =7 757 | 957

D) M=y dav 2 Faga
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107. Over current relay In 3@ tocods L.

A) OCR-86 B) MVR-86
CYOCR-78 1) None
JOFATEIH SET FE A

A) FHTAT-86 ) THATAT-86

C) ATA-78 D) TR AE

108, Localion of Harmonic filter resistances in 3@ locois ...
A} Loco roof B} Inside FB

Cy Machine room No-2 1) By the side of pneumatic Panel

30 SAET H ZTEE e wiae el FT 8T

A) FTFT = B) TEAT F w37

oymfmEr a2 D) A F AT

109, In cach cab A9 feed valve is having ... nos. of cut out cocks
Ayl 132 )3 D4

yFE R A FEaEEd HET cut out cocks BT 71

A B)2 Y3 D4

110. Normat pressure of SMGR s e Kg em?.

AY25-35 11 3.0-2.0 C)y3.5-45 DY5.0-3.0
A)2.5-35 B)3.0-2.0 O)3.5-45 Ny5.0-30
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E.CO. RAILWAY TAT 7= ¥eid
SAMBAILPUR DIVISION HeqT Aol

Selection for the Post of Chicl Loco Inspector in Level-7 of pay matrix in Electrical OP Department

ﬁagﬁerﬁrtﬁfamﬁﬁﬁﬁa‘a%ﬁaﬂ 7 F e W) SdeR & UG & ol 994
TS L Y Time: 2hrs. Max. Marks: & HUBTH 3P 100

Instructions to Candidates: S¥GaR &Y Fdw

l. Read the questions carefully and answer. SEIGA 'FHF-T@TU% HRIW T

2. Candidates should not write their name & roll number in any portion of the answer book or Question paper other than
the flyleat, STRYfIHT a1 uem & forelt ot fR o TS et & Sfaray 31Uy A Sk A e A fored |

3. All answers shall be written in OMR sheet. Blue’ black ball point pen should be used for answering in OMR answer
sheet. T IR SUHIR e T forg WG SUHSR ST U@ § IT &4 & fay Hiel afei/ren @ige U &1 79
E2d

4. Usage of Cell phones. Calculators & other Electronic gadgets inside the examination hall not Permitted. glen gfd &
3ER I B, FOF I 3R 3 STAI-P Toe & IUGr Bt JIHf a6l ¢ |

5. Any discrepancies in Hindi Transtation. English version is linal.

R orgareit I ) R, Srire ST o |

6. There shall be negative marking for incorrect answers. 1/3(one third) of the marks allorted for each question will be
deducted for wrong answers.,

Tad ITRI F o TR i g ge wy % T endfed il @1 143 (v feTs) e SR ¥ farg wrer
SIFET

7. There are 110 questions with four answer options and candidate has to answer a maximum of 100 guestions. each
question will carry (1 mark,

IR IR AP & T 110 TH § 3R IR &1 fwar 100 T4 T IR &1 8, TS U 01 3id ST S0

8. tn case the candidate answers more than 100 question, First answered 100 questions will be taken in to account for
evaluation.

Ufg JEflaar (00 § it vy o1 IR <ar &, I Tud IR AT 100 Wi &1 Heaied & 1o s o v S|

9. Over writing.cuiting _erasing or alteration of any type will be treated as invalid answer and zero mark will be given
for it.

faredt oft ypR & aftar e, Bfen, e o1 uiiads B s IR FFT ST R 59 w3 e fean
S|

t0. Candidates are not allowed to leave their scals within one hour of commencement of examindtion and should

deposit answer sheet and question paper supplied to him/her before leaving the examination hall .

IrHteaRl &1 TET R 1 & U Ue & HiaR 0t Wi ST &1 afmfd 78 7 ok 3= udten g1 I8 ¥ ugd
T8 2 T8 IR YRAFT SR U UF TH AT A11eU



Choose the Correct Answer Hgl ST &I T4 HIFAT

1. What is the official language of the India?

A) Telugu B)Hindi C) Marathi D) Hindi in Devnagari Script
AT FT TTTATIT F1 #T 8 2
A) T B) &4t C)™Er D) Zaamr farf & 2

2. Who is the chairman of the Divisional official Language Implementation Committee?
A)DRM B)DFM C)DCM D) DMM

HEeT TTSTHTAT FTa 7= AT F T F19 219 27

A) ETHTTTH B) FrowTH C)$Htuw D) EmHTH

3.Which forms of the numerals should be used in official purposes of the Union of India?

A) International form of Indian Numerals B) Devnagari numerals

C) Roman numerals D) None of the these

AT A ¥ TTTERT TATTAT H AFT 5 (e =91 HT THNT 77 A7 1202
A) AT SFT FT AA0EE =T B) Z9ATIET 37F

C) 79T iF D) 3T § & F1E ART

4. Which article of the Constitution of India empowers the Indian states to choose their own Official Language?
A) Article 343 B)Article 351 C) Article 210 D) Article 345
AR & AIAUTT F1 F19 AT A=42 WTOATT TAT T ATHAT TITHTIT T T SATIHE 307 52
A) AR 343 B) ¥=&= 351 C) #EwE 210 D) 9927 345
5. In which article of the constitution of India the duty to promote the spread of the Hindi language
assigned to the Union of India?
A)Article 120 B) Article 210 C) Article 343 D) Article 35
AT & A4 F FF a=ag § BT 9197 F Y61 R GEET a7 F A 99 w0 A 197 47 82
A) =97 120 B)FT=52 210  C) IT=9% 343 D) #T=9= 35
6. When was the Official Language Act passed ?
A) 10 January 1963 B) 10 April 1963 C) 10 September 1963 D) 10 May 1963
BECIVIEICIEREET R ItG R LRI o

A) 10 FAT 1963 B) 10 ¥ 1963 C) 10 F&rda7 1963 D) 10 9% 1963

7. The 1st Official Language Commission has been constituted on 7th June 1955 as per the provisions of
the Constitution of India. Who was the Chairman of this commission?

A)K. M. Munshi B) Gopal Swami Ayengar C) B. G. Kher D) Govind Vallabh Pant

T TISTHTAT AR FT T3 7 7 1955 F7 FFFF TTa9mat F Aqare T 747 917

WTEd T AT T ATTNT F STeqe i 47

AF. 7.9t B)TUEETR eERT C) #LTET D) WA= aedd ia

8. How many times a year does the Mandal Official Language Implementation Committee meet?
A)6times B)4times C)3times D) 2 times

TEer TISTATAT FATA qA T a9 § T a77 §2% grdai 8 ?



A)6ETT  B)4AT ) 3AT D) 2AT

9. llow many sections are there in Official Language Act?

A)S B)7 C) 9 D) 11
UECIRIEICIE R A E TRk
A)S B) 7 C) 9 D) 11

0. Who chaired the first railway Hindi Salahkar Samiti constituted in 19737

A)Sri Lalit Narayvan Mishra B} Sri B.G . Kher C} Sri G.B.Pant D) Sri Lal Bahadur Shastri
1975 F 75T 70 7o7ef T257 AT, AT $it ereaqar o v o1

Ayt AfemA s frar By AT AT O ST Dy Ay Ate aErgy el

I'1. Paternity leave is admissibie with less than two surviving children for a peried of
Ay 10 davs B)20 davs C) 15 days D} 25 days
firgear sraarer 21 3 7 AT A=t o o e
A O fE B) 20 fae Cy15 =7 D) 2s
12 Maximum days of leave on average pay that can be accumulated is
A)120 i3) 180 Cy 190 D) 300 days
A)I20 B) 180 Cy 190 Dy 300 days
13, How muny days of LHAP can be accumulated to an emplovee in his service life?
A) 300 days  B)Y450 days C) 60 davs D) Unlimited
TF FTHATT F AT wrAe § A BT o ey s frar v wwaT 22
A0 B4so A Cy 600 Z= D) sretET
14, Who is the avthority to sanction Special Disability Leave?
A} Senior Scale Officer  B) I A Grade Officer C)} DRM D) ADRM
TG T 9TSRAT SteshTer =H1FA F7+1 FT ATerhre 560 £
A) A AR ATEFET B T o 3T Hfderft ) fFarmy D) vy
[5. Which No. of standard form is used for issuance of Minor penalry charge sheet on discipiinary proceedings?
AYSE-11 B)SF-I C)SF-5 D) None of these
AITTATTF wTFATIRAT 77 7 &2 30707 7 9T F 4 & 570 S 7 grAE 0T w7 37 A SEr e

A) THITE- ] BYTHTTE-1 ) THTE-3 D) TH I F% TH 1

16. Where appointing authority are not available who should be treated as appointing autharity?

A} Conrrolling Officer BYDRM  Cy GM D) CPO

A) = st B)TATH  C) SUA D) HrdtE

17. Recognized Trade Unton official can be allowed to act as defense counsel in DAR cases in

A)2 Nos. of cases  B)3 Nos. of cases  C) 3 Nos. of cases D) Any number of cases
HT=IAT UTH 2 AT AT T S0 ATHe § a9719 78T F T4 F 59 5 F17 577 1.0 S0 51 o1 TH647 5

A) 2 gTHAT FT H=T B3 ATAAT R HRT C) 5 °THAL i T D) et Fr 7=




18. In grading of a LP by CLI. for “B” grade thlc rﬁarks should be between  to
A)901095 B)80to9% C) 601080 D) 50to60
Arears g e A AR E, A e R Rwaw & wd=an Ry

A) 907 95 B) 80 & 90 C) 607 80 D) 50 % 60

19. Which of the following leave may be granted to a Rly. Servant, volunteered to donate blood in
Govt./Rly. Hospitals for railway employees.

A)Special Casual leave B) casual leave C) LAP D) LHAP

verd #i1 Fmferfa & 7 £ 77 srafrer R o war £1 H, § =g § e v F o
YT AT | TAd FHATV AT % et seqare|

A) 9T SrFRFaT sEwter B)AEEAE qEE C) UAUdy D) UAT=IY

20. Inquiry Officer can delegate his functions to:

A) Disciplinary authority ~ B) Defence helper C) Presenting officer D) He cannot delegate
ST ATIFTIT ST FTFT FT AT TFAT 2

A) FAITHATHF ITTAFTT  B) 76T AETTF  C) Tl ATAFET D) &% TATATT T2l FT Tl
21. Running staff review should be carried out for every

A) Year B) Six months C) Two years D) Three months

T (o1 T =T 7 7T 67 o

A)TF AT B)FEHe C) AT D) T HARM

22.Loco Outage means:

A) Loco outage = Engine Hours for traffic use/ 24 hrs.

B) Loco outage = Engine KMs for traffic use/24 hrs.

C) Botha&b
D) None of the above

AT T3 F7 05 2

A)FATET A3 = FTATATT ITAIT F o E9 52/ 24 52

B) @THI ATIH = ATATATT ITANT & form Soi Fo.7./24 W)

C) T 7 #F FAT

D) TAH & I 91 921

23.0n Double line or on Single Line when block instrument is defective_ is given as ATP for the LP.
A)T/A912 B) T/511 C) T/512 D) T/C-D 1425

T A2 G2 AT (316 AT 97 T4 519 IUHRC G209 21 Uadr & fom  Fr vdidy 3 =9 & gy smar 2
A)Fmo12 B) &/511 ©) f/512 D) Ei/i-E 1425

24. The distance from Home signal to BSLB shall not be less than ___ meters.

A) 180 B) 120 C) 400 D) 580

B e & Frreerd Fr 5 e & A A

A)180 B) 120 C) 400 D) 580

25. The maximum speed permitted on loop line is kmph.



A) 1825 B) 1530 C) 810 Dy 10413
Y AT T7 FAT SATIFT T o e =e 2
A)IS25  B) 15530 ) 810 Dy 10715

26.8tation limits are available between __ signals at a Block Station
A)lnner Most B) Outer Most C) Home Dy LSS
w9 T A AT S =29 T ferre &, = T B 2

AYTIVHTEZ  B) WEZr g2 C) M9 D) TATHIA
27. General Rules can be amended by
AlRailway Board B) Railway Tribunal ) Joint consultant machinery Dy GM

ety a8 Aot s 5T e s FEAaT 2

A)vEF 912 B) ¥ora feegmer C) FEF weAEFE wdE D) Ste
28. [f train parting is observed by any Railway Servamt  signal should not be exhibited.

A)Right B) Danger CY Green D) None

72 Bt Yo w3 51T 29 FT AAT 20T 1 FGT ATAT 2 AT wommom s T a2t Harar afzm
A)TE B "EAT O)FTT D) FEFA

29, Distant signal wells about the aspeet of  signal ahead.

AYSTOP B) PROCEED CYATTENTION D) DANGLER

77 =T e AT e ¥ wEe F a1 ® 34T

AySEF B) U FETAT C) AT D) =AY

30. When colour light distant is combined with Gate / 1.55. the normal aspect of that signalis

A)Proceed B) Danger ) Caution 1)) Attention
g FA7. 722 (2927 F7 7/ WATHTH F 719 FI2T AT E, AT ATAG T2 T T .

Ay FTEE B) FAY ) AT D) sqTH

31. Starler signal protects

A) Facing Points  B) Trailing Points €Y Biock Section D) Station section

AVERRTTIEST By TR TR Q) wAH IR D) e feee

32. General target time Tor turning out ART during day /night is  minutes.
A30/45 By 15/20 ) 20005 DIS0

AR FdrA Ty e Fr A Fsr aRg . iR

A)30/45 BY 15220 C)20/15  DI5/10

33, Calling ON signal is to be used only on two occasions, they are  and

A) Signal is defective. Line is occupied  B) Point failure, on inter locking working
) Derailments, accidents D) None of the above

FIET Wi e 71 3999 Fqe 27 daae W AT TR g R v

Ay e a2 ATIA I E B) 2Rl I 0T AR T

() Tz I ZAAT, ZHEATH D) 3T | I FE AL




34. Independent shunt signal or shunt below stop signal when defective is the authority to pass at “ON" for
LP.

A)T/369 3(b}+PHS B) T/409 C)T/512 D) T/511

=7 oz e oy =i frme s fg de ma gm o merdt F o vt g FA T afiE 2
A)E/369 3(b)+fim=mH B) 17409 C)#/512 D) F/511

35. 1B signal will have facility.

A) Calling ON  B) Phone Facility C) Axle counter D) All these

CIECIR R e g

AT AT 78T B) T AAET  C) THFAA F327 D) 3T 79T

36. A signal which is taken “OFF” for a train will be put to “ON" position only to or when

information about engine failure is received.

A) Issue emergency caution order B) Avertaccident C) give precedence to other train D) none

T 3 % o vure B o R 97 e vt Ry § vy S AT T T T 2 A
=T FErert 2

A) STITAFRTATT ATTLTHAT SS9 AT F4 B) FHZAT 2147

C) =7 T F1 wrafiar 3 D) 394 H & L AES

37. Normal setting of points is for

A) Branch line B) Loop Line C) common loop D) Main Line
s F ATATT #fET Ffem 2

A)FE AR B) T AT C) FEATT D) FF AT

38, ------ , mmm———- jmmmmmane are prohibited to be used for shunting purpose.
A) Calling ON. Starter and LSS B) Calling ON. Home and Starter
C) LSS. Home and Outer D) None of the above

------ \ mmemmmm mmemmennae ST TR9T 5 o 3T F F ROO AT B
A) FIET (7, #2187 M7 vermETE B) Fife A, E AT =TT

C) TEATHTH, 9T T AT D) T | § HIS A2l

39. Whenever points / signals / block instrument is disc‘:onnecled by SI/ ESM, SM shall ensure that is by SI/
ESM.

A) Re-connection notice  B) Disconnection notice C) A&B D) None of the above

UHTH TE AT FE THATE / ST T E

A) fragor rfes B) RoFRm Aey ) IWHTFEAZ . D) T

40. A green flag by day and a white light by night moved vertically as high and as low as possible indicate

A) Train stalling B) Shunting C) Train parting D) none

37 # U 237 #=T 3T Td § UF qR AT sraad 9ot g S afiew o freer dwg 21 s Eal
HEEKa

A)zA e B) efew C) 3TFETE D) UL H T F1s 7al



#1. To detach the loco from the formation of a goods train outside station limits on a gradient steeper than 1 in 400,
which of the following shows the correct application of the hand brakes?

A) Hand brakes of all the vehiclest 1B of BV B) Hand brakes of ali the vehicles

C} Hand brakes of at least 12 vehicles D) land brakes ol at least 6 vehicles —-BV

ATET FT 400 H | 7 FFGF 21 77 T2 A0 F TRV GEEE F TE A 590 409 F o, St # F w574 a7 g
F T AR ITIT 9T 27

A) F ATEAT F 2T A% + I T AT B) wedt Aveet F AT AT

C) FHTFA (2 ATRAT F 2T 8T D) 4 4 FF 6 qATEAT F 2 oF | FdT
42, is the best positive method of isolation.

A Cul Point B) Catch Siding C1 Slip Siding D) Sand Hump

STPNTA T AAH T3] SHRTTHT T4 2|

A) FZ A= By F= ArzfEn  C) ey mrefim D) &z &
43, When IBS is defective _is the authority to start the train.

A) PLCT = T/369 3(b)  B) taking oft LSS ) Taking of Co acting signal D) PHS
TTIBS ITY FAT 2 AT I o FA 3 AfART FAT R

AT - AT 360 3G B TATHTSE 1 g2 C) wE Afead B A D) e

44 When IBS is at "ON" and the telephone is out of arder. LP after waiting for _ minutes shall proceed at specd
of _when view is clear 7 not clear up to next stop signal.

A) 10-10:8 KMPH B} 5-15:8 KMPH ) 25-23/8 KMPH D) none

T ATAMH H" T F AT AR 3T L g E A v _ fime s fam _ Er A o

LT A FOT FAY 7/ AN T T A 7 T 2T

Ay10-108 AT g s By s s ol gz O asoass R efrar D) e E AT

45, Gate-cum-Dristant sighal will be located at a distance of __meters before the gale.

A)20 3) 240 C) 180 D) none

Tegn-frEz oma_ f g  e fRe S e o e Hee

A}20 B) 240 C) 180 1) #rE 7zl

46. When 1BS is at "ON" the LP shal! stop the train at‘JB and contact by |3 Phone.

A) Front station master B) rear station master  C) Guard of the train ) n(;nc of the abave
FAIBS AT L LP A TN IB WA 7 & Fa e T

A) The TZ9TH TTFET By Fav s9M 972e ) T F s D) T & § F1E 721

47.Violently waving a white light horizontally across the body of a person indicates

A) Proceed  B) goslowly ) Stop dead D) none

F 9Ty 07 ETS = 7 UE AR T e g U =T T T R

AT aTE B) €710 ST ) w7 E¥T D) I A ErE AT

48. When LP observes fogey weather in the block section. a speed restriction of _ kmph in Absolute Block
System.

Aol - 30 B} 43 -25 CY 30-45 ) none of the above



S T w3 fer S ST 2, A1 e st e & wfe Aty Foredt of =z
A)60-30 B) 45-25 C) 30-45 D) T H 9 5% 781

49. When engine pushing a train and guard is travelling in brake van, which is leading, the speed shall not exceed

kmph, when guard is not travelling in leading vehicle, the speed shall not exceed kmph.

A)15/10 B) 25/8 C) 40/25 D) none of the above.

N4 A FT T OFT 3 TET BT AT L T & F qUAT F7 777 LT ool &, e ofa oz 7 srfers 727 2,

S ATE AL BT AU AT F AT Fwd 9T, Uy el 9y oy & afie 75 2y |

A)15/10  B) 25/8 C)40/25 D) 3990 # ¥ F12 721

50. When leading compartment of electric engine is defective and the train is driven from trailing cab by
Asst LP, the speed shall not exceed kmph.

A)50 B) 40 C)25 D) none of the above

T TATHEF THA FT AT FEATEHE T 2T A 29 2 sl verft gy e ¥ & A=t wfy

e 5= & wfaF 727 2R

A)50 B)40 C) 25 D) I F H EE AT

51. Fresh BPC is required whenever No. and more vehicles are attached or detached.

A)25 FWU B) 15 FWU C) 10 FWU D) none of the above

ST AT AT 3T g

A)25T%Eegg B) I5THS=gE  C) 10 THE=gy D) ITLE H H F5 T27

52. FP pressure in loco shall be and in BY -------- .

A) 6.2 kg/em2-5.7 kg/em2  B) 6.0 kg/em2-5.8 kgiem2  C) 6.1 kg/em2-5.0 kg/em2 D) none of the above
AT 3 TRt o B L

A)6.2 A R2-5.7 FRmAnft2 - B) 6.0 FmmanT2-5.8 At

C) 6.1 FRmAR-5.0 FFmad2 D) 3w § # Frd A

53. Reduction in BP pressure causes -

A) Brake binding B) wheel skidding C) Brak_e application D) none of the above

#rft g=Ta F F T FHTET FAAT 2

(a) & A3 B) =i BAET ) o wftershor D) 3971 H § g T81

54. Parking brake is provided to ......... wheels in WAG-9 loco,

A)1.4.5&8 B)2,6.7&1I C)2&11 D)I1,6,7 & 12
WAG-9 ATl # ... TF2FT T 97T % w2 fFar sfram 2

A)lL4.5&8 B)2,6,7&I1I C)2&11 D)1,6,7& 12

1

55. To detach loco of a goods train having BOX N/ BCN / BRH, etc., minimum number of vehicles hand brake

are to be applied from both ends excluding BV,
A)l5 B)10 C5 D)2

T O / H O / FATTT AT AT ATATET F AT BT AT F7 3 [T =ATH FTAT ATEAT & £ % FT ST

T BIEHL AT (R0 F AT AT 2



A5 B C3 D2
56 . Engine whistle code 0 0 - indicates

A) Train arrived incomplete  B) Train stalled ) Less vacuum/Air pressure D) none

AT E T 0. ifEFEAT R

AV T R)zIRTE ) FH Ay AT D) T F A EE AR

57. While backing a full train from one line to another via main line the shunting supervision is done by
A)Guard B} 88 'y Points man D} none

T ATEA 7 2T T 29 F1 TF AT & G TS T g A A9 T v FTT o AT 2

AYTITE By mATH O TEZ &4 D) IO H FORTE ARl
S8 relay is called traction power circuit-1 earth fauit protection relay.
A)YQOP-2  BQOP-1 () QOA D) QRSI-1

ey £1 Taor qrET Af42-1 9F wiez TreFee R F27 JE7 )

A)FFFE-2 B) FIA-1 ) AT D) FATTAAE- |

59 relay will act when winding failure takes place in T™M-1.

Ay QRSI BQLM ) QOP-] Dy QOP-2

T™M-IHFIRTTRT I 7 et e F)

A)FIARTAATE B) FTATH ) FLE-] D) FLAT-2

60. In WAG-5 loco during RB application, it there is earth fault in TM-6 field ... relay will act.

A) QOP-1 B) QOP-2 ) QRSI-I D) QF

RB TICAFTA & 21979 WAG-3 AT H, 3°7 TM-6 e T i wiee & ... frer w0 =)

A) FLATIT- | B) #AM-2 C) FARTAAE-| D) =

61. To isolate the TM-3 in WAP-4 loco (without RB). HMCS-1 has 1o be placed in - .............. positionand ............
to be packed on —ve side of TM,

A)4.11-12th B)4, J1-10th € )4, 12-6th D). 11-6"

WAP-4 AT (RB F T3AT) § TM-3 FT F#0 %99 F form, HMCS-1 it 993 vaar 20 E1E I A
T™ % -3 77 e fo ST 2

Ay4 11297 B) 4. FM1-104F )4 F2-67F D)4, T1-6FF

62. Earth fault in MPH motor causes tripping of DJ through. ...........relay.

A)YQLA  B)QOP-1 C)QOA  DIQRSI-L
TS Hre7 § 9 e F w1 S i i 1 F wTew A B 2

A) FUATT By Fs -t Oy FgEn D) FIATTHATE -1

63Arno starting phase is given through ... ..., comactor & .................. resistance.
AYCIIB& RIS BYCII8& RGR  CO)CI143 & R118 DY 108 & RPGR

Ano TRFTFR AT WW?W%@’T%‘&TW? .................. PICER
AHT8 7 w18 BYET1I8 afie srvsttare )T 145 =7 =21 18 DYT108 &7 T
64. In VCB type (DT) DI. to close & mamtain DJ ... clectro valve(s) to be energized,

A)YMTDI BYyMTDJ & EFDIJ C)C118 DEFDI]

bit



AT T (ST F19 F, T A1 77 F A T 7= T o R ared (3 F a5 5 R

A) THEETS B) UHETEIST 37 SURST C)#118 D) STFE

65. In conventional locos, to close DI ............ BL switches to be operated.

A)BLDJ B) BLRDI C) BLDJ, BLRDJ D) BLSN

TRE I A S AR A F o Frmre Fa= w=rfor B o &)

A) FTESS B)dimeramdisr  C) ety fmaa Sy D) HTATATT
66. The purpose of the CHBA is .................

A) Charging Batteries B) Supply to Arno

C) Supply to all control circuits afler closing DIJ D) both A & C

=TT FTITIT 2

A) T =TS FAT B) 31T 7 AT

C) T 52 F F AT AT FZ1T ATz T ALfS D) T S #Y FT

67. The OHE supply of two traction substations is separated by-------

A) Isolator B) SP C) SSP D) TSS

AT THIT FIFEAT £T AL TATE AT .. GO A a7 ST 2

A) ATHTAET Bymadt  C)wAwad D) e
.68.In modified locos Notch Repeater gets supply from-------

A) CHBA B) DC-DC Converter C) TFVT D) ARNO
Tz Soet & At Foftes 4§t Al e 7 ST S

A) =T B) T-FfT Faee C) FATFEATAT D) =T

69. During A9 application .........c.cccovvvevennene. Relay energises and nullifies the AFL actions.
A)Q-121 B) Q-120 C) QFL D) PR-1

A9 FTTATT F 379 ... Foer o e & sfte T FE T A7 7E FeAT 2

A) Fg-121 B)#g-120 C) FUETH D) Fr#-1

70.The minimum battery voltage required to energise conventional AC loco is ............... Volts.
A) 50 B) 90 C)y110 D) 1000.

T AT A ST T s e A A e 3

A) 50 B)90 C)110 D) 1000

71. If Q52 is permanently energised, crew experiences ............ traction failure.

A) TLTE with LSB B) TLTE without LSB C) Auto regression with LSP D) None
7f2 Q52 ®qTft =7 F AfFa &, AT IAF ... FHOT FAFeATT T AT FAT 2

A) TR ¥ AT Ao B) e 3 e Aerrs

C) TATHT F AT A= Fhre D) 397IF § 7 F1< 7@l

72. Purpose of QII9 1S .ooeveeeeeeeee e, ’

A) To enrgise VEULs B) Late starting of MCP-3

C)To energise VEAD D)Both A & B

(0] Lk ko v - (OIS B ) S

10



A) VEULs F7 a5 s ¥ B B) MCP-3 1 541 # 97
C} VEAD 7 3fdy 97 % o N) A &7 BEMT

73, QD actions are -----

A)Y Auto regression of few notches B) Auto sanding

C) LSP glows DY All the above

QD AT 8 e

A) T TEETAT 7 027 Fasr B) wi=T =T

C) TATHYT FFAT B D} 3T T

74. While using RB ... brakes should not be used to avoid loco wheel skidding.

A) Formation{ A-9) B} SA-9 C) All above D) None of the above

STFHT T TR T TAHA.. AT s Tt 257 7 999 & o g7 =7 T00197 781 a7 sm=r =t

A) T (17-9) B) TET-9 C) T AT D) T | 7 T AA T
75. In EP C118 provided locos Q100 is replaced with ... Relay.

AYQI1I19 BYyQI20 CYQTDI0O Dy Q121

EP CLI8 ® T2 B3 a1 AT Q100 F7 ... 7771 77 72y Fmm &)

A)FII119 13) #1120 C) FIEET00 D) F121

76. Auxiliary controlling relay is ...,

AYQI18 B} Q49 CyQtto Qoo

mEToE fEw B E

A) #1118 B} 49 C)#I119 D} #7100

77. When MP is moved from traction to braking side. the correet preparation for braking is ensured by glowing and
extinguishing of .,........ signalting lamp.

A) LSP B} [.SB C)LSGR ) LSRSI

e TTHT R0 T & ST HT2E o ST AT 2, Ay Ay At [ETeT 8 T HATAT A7 AT
Afatar fram s 2

A) T B AT C) AT AT D) AT AT TS

78. Before taking notches, if Q3] s in energised condition crew experiences ......ooooeeeerevenne... traction failure.
A} TLTE with 1.5B By TLTE without LSB () Auto regression with LSP 2} None of the above
T A T2, A1 Q3 | w T Rl & & A7 35 A A T s F e

A) TETTHET & AT ITLrE R) mATHEAT F AT Smed

C) vErTAdT 5 AT ATAT Frrer D) T H & FE A2

79. In conventional locos. it VCD is not acknowledged, after 68secs, ............ will happen for next 8secs.

A) No Alarm  B)Yellow flashing light will glow

Cy Alarm will sound  IMAuto regression and BP vellow light will glow

i ST A s A B IR wE ST B AT 68 W F ARG A § FE m L g ATTm)
A) FTE AATH T2T B) AT =roaAT Tror Fwera

C) €T T AT D) AET e e T fA7 Trordt 95 s

11



80. Air compressor in the HHP locomotive is

A) Single stage B) Twostage C) Three stage — ~DYFour stage

HHP ATTHITT & T #37 &

A) fie == Byz=s (O)M = D)FE=A

81. When dead loco is attached on formation. if loco brakes are not releasing proportionally, ........................ is to

be isolated in dead loco to avoid wheel skidding.

A) C3W Valve B) C2A C)MU2B D) Both cab A 9

S T ATET FT GAAT 7 27 AT ST 8, 0% Ay a e wr g e S AaS A A
A) T 3 seeg AT B)#T2 1w C) mHg2AT D) FFI FT T 9
82. When hand brake is applied in WAG-5 or in WAG-7 locos....... s wheels brakes gets apply.

A) No-2 both sides, no-4 one side B) No-2 both sides

C) No-1 both sides, no-2 one side D) No-4 both sides, no-2 one side

T WAG-5 IT WAG-7 ATHI B 22 o AT SATaT &, a7 o o a2 gl F F% 99T 2l
A) FEY -2 FF] AT, A7 -4 TF ATE B) 797 -2 AT ATF

C) #37 -1 FI 97F, F97 -2 UF a7F D) 797 -4 21 A7F, 497 -2 UF T7F

83. If earth fault occurs in out side of SIV., ...... lamp glows on SIV panel.

A) OHE out of range B) External fault C) Internal fault D)None

T 94 Hiez SIV F ATE7 i A< ZaT 8, AT ... SIV T7er 97 97 steqar 21

A) FT=E HHT F AR B) A& 31T C) srafy= 39 D) 3T H A FIE AR

84. When SIV is working ............cc.euenen. relay energises.

A) QSIT B) QCON C) QCVAR D) None

EERLE EC T o i i - S frrafrg 2

A) FIUHATEE B) FLHTE C)FAEmaT D) 5HH & FirE T

85. In SIV locos, ........ switch is to be kept on *0”, in the event of external earth fault and unable to rectify and to work

the train further.
A) HSIV B) HVSI C) HBA N D) HCHBA

THEATEAT ATRI H, . = 70" 7% AT EraT 2, avedt ond wiee it Rufy F A o Srp Foa H wmwf f e i
T AN FTH FI49 F o)

A) THTHATEAT B) wATIHATE C) T D) T

86. On switching on HBA, ..............ccceeviininne relay in DJ control circuit will energise provided Addl. CCBA,
CCBA and CCPT are in good condition.

A)Q 45 B)Q 44 c)Q118 D) None of the above

TEAT T BT T F AT, e <t AT 7fFe § Fer afe 21 smoa g9 afafs =, fiddm
T AT Fr=t Pafa 7 8

A) ¥ 45 B) ¥ 44 C)Fg 118 D) I | & FTS q51

87. LSCHBA glowing on run, but D/ is not tripped indicates ........ or ....... equipment is defective.

12



Ay QVvel or CHBA B) ARNO or CHBA C) QCVAR or ARNO D) ARNO or QVol

FAT T7 LSCHBA F0F 72T 8. 4% D) oA e wmrg o merar g fo a7 STFI AT B
AYQV6el ITCHBA B) ARNO FTCHBA  C) QCVAR AT ARNO D) ARNGITQVAI
§8. Earth fault in Q 118 relay coil causes ......... fuse to melt.
A)CCBA By CCDl CyCCPT Dy Addl. CCBA
QUSBHAFEAT AT T 7T ... T e ST
A) T B) #HTET= C) Frfrfrdy Dy wrfafr= A=

89. During BP continuity test, ................ kg em2 of BP pressure 10 be dropped through A9 in the loco.
Ay2s R) 3.5 a2 Dy
P FEA S AT AMRIH TOF Greag TS Jorv &7 . a2t fierar Fmar =t
A)2.5 B)3.5 C)2 m
80. In double head trailing loco , A8 coc must be in ..., position.

A) Open B) Close C) Either (A) or (B) D) None of the above

T B2 ST ATRT BT 'S L Ry W Frey e

A) AT B ECE Cyar A (my AT () DY 7T B F FTE A

91, How many position setting of C3 W distributor valve has
(A) Two position selling (B} One position setting  (C)Three position sctting () No different setting
C3 W v ara §it fadi g afia g

yFfafr At R AT o fm At D) s A A

92, In conventional locos. before resetting VCTL L., to be operated.
AYIIBA to be keptin "0" and * 1’ B)Y MP (o be kept on *(°
C)ZPT tobe kept in *0"and " 1° D) MPJ 10 be moved to *N™ and then F

TV AT T, VOD FT AR #7 F 78e, TraTTer f3ar FmeT 2
A) THITTHRTO &7 1§ v3q7 ST B) TEYT 0 H T AT
CYZPTFT 3 ' H vmr AT D) MPJ TN 817 {57 F & & =73 st

93.Auto drain valve blows during

{A) Loading of compressor (B) Unloading of compressor

(C} When MR safety valve blow (D) MR pressure is above 10.5 kgicm?2

% ZTA Hel 3 Afed T AT 8

(A) FIAT HFTATE 2T I2T 2 (B) @ T AT

(C) FF "TEAT qTAT TOT IS (D) THAE Z47E 10,5 B w2 7 3w 2
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94. What is the maximum speed of the WDG 4 locomotive

A) 150 Kmph B)140 Kmph C) 120 Kmph D) 100 Kmph

TEAEIAT 4 ATRTAT A T ATFAT T F97 22

A) 150 fRfrafd =z B0 fEfiafa gz ©) 120 BT a9y D) 100 Fft ufF d=7
95. Which type of diesel engine model is fitted in HHP locomotive

A) ALCO-25] B) GT46 C)710G3B D) GT 46MAC

T AR H 3 TE T A o S e AT AT 8

A) ALCO-251 B)S#T46 C) 710 53t D) it 46MAC

96. Which type of Traction Motors fitted in HHP LOCO?

A) 3-Phase AC Motors B) DC Séries Motors C)Both A & B D) None of these
Tt TR P T £ e wree s s 30

A)IFT TR A B) S A At C)w AT AT EAT D) TH A S A

97. Which type of Main Generator fitted in HHP LOCOQO?

A) DC Generator B)3 phase Alternator C) Both A & B D) None of these
T AR H T T FT T T2 AT AT 20

A) S FTET B) 3 T qeevHeT C) UHAL AT EET D) TAH F A AR

98. Main role of Traction Inverters in HHP LOCO?

A) To control 3-Phase AC Induction Motors B)To control 3 phase Alternator

C)Both A & B D) None of these

TETET ST FFO THaET i g i

A) 3-F= UHY Z3F9 Hed BT REBE Fa F T B) 3 990 geevaey Fir R wv w fow
C) 7 s &F St D) 37 H I A&l

99. Current rating of GEN FIELD circuit breaker in HHP loco is

A)40 Amp B)50 Amp C)90 Amp D)35 Amp

14



T A i S e A ey w v
A) 40 TTTHGT B S0 TOHGT  C) 90 TUHEYT D) 35 T
(00, How many DC LINK switch gears in 1HE P LOCO?
Aje B)s O 343

mETETT AT A e e A e g 8

Ao B15 Cr4 D)3

101, How many Power Contactors are avatlable in WG4 Locomotive?

A) 8 B)Y )0 D) 6
WG4 FTHRETEE | B 1ree FieT Iaerey ¥
AYE By O)y0 Dé

102, [n WDG4 loco compressor is cooled by

A) Nature  B) Air ) Oil D} Water
WDGE T AT F997 3197 537 BT A1eT 8
AyTEf ByAr OFd Dyardl

103, In WG4 power conlactors are replaced wilh

Ay FS contactor - B) only reluys CYBKT/REY D) DC Link

WDG4 T a7 FierFst &1 ateria ey s e
AYTETE ATEEAT  B)FEA A O)drEdamidt Dy Il HE
104 For quick charging of BP in WDGd ... is used.

A} Fool pedal B) A9 reicase CySPLI/SP2Z D) None of these

WDGA T BP FT 54T IS 0T & T T T FAT FATAT £
A)TETEA B) T 9 T C)SPI/SP2 D) ZFH T FIE 75T

{05 What is the full speed RPM of the HIHP locomotive engine
A) 1000 RPM By 904 RPM ) 900 RPM D] 950 RPM

HHP @I T @i 70 T RPM 77 2

15



A) 1000 s fims B) 904 sTHITH ) 900 ATHUH D) :950 ST

106. Flasher light working voltage |

AY72Vv. B) 12V )24V D) None of these

A)724T B) 12t C)24Ht D) zaH F FrE TE

107. Head light rating in WDP4/WDG4 loco is

A) 100W 32V B)200W 30V C) 250W 32V D) 250W 34V
WDP4/WDG4 #T#1 § 22 @tz 1 I g &

A) 100W 32V B) 200W 30V C) 250w 32V D) 250W 34V

108. What is the effect of auto flasher operation

A) Engine comes to idle  B) auto flasher indication C) Buzzer D) All of above
ATET FA9IT AT T F9T TATT 2

A) T AT ST ST 2 B) Aer e d#Fg C) a7 D) I0re A4t
109.MR pressure not building up due to

A) MR EQ COC in open condition  B) Pipe link chocked in MRPT system

C) Defective MVCC D) All of above

F LV THAT FT AT AL AT TR E

A) TR S AT e Rt & B) versredY e i arew B = 2
C) It AT D) 3T 7T

110. Each Traction Motor provided with

A) One speed sensor B) One speed sensor & one temp sensor
C) One temp sensor D) Two speed sensor
T EFIT 12T T2TH 7 T2

A)TF AT HagF  B) UF #fT F9T 7 uw w0y {97
C) UF yeqr Y FH97 D) =1 == #97
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SAMBALPUR DIVISION HEaR Hsd
Selection for the Post of Chief Loce Inspector in Level-7 of pay matrix in Electrical OP Department

Wmmﬁﬁm%ﬁw 7 1 & dieh] gide’ & e & fog aa

: DRI HHY Time: 2hrs. Max. Marks: 3&YSHTH 37b: 100
Instructions to Candidates: ?mﬁamaﬁﬁ'hl

1. Read the questions carefully and answer, PEEARMIE] %U% 3T IR |

2. Candidates should not write their name & roll number in any portion of the answer book or Question paper

other than the yleall E?ITWUT Uy & fpdl m%@f{ W]é_cﬂmaf HAdT HYAT ATH 3R et HT A
|

3. All answers shall be written in OMR sheet. Blue/ black ball point pen should be used for answering in OMR
answer sheet. THI I Gh'QTIGI'I'\’ Qﬂ?ﬁﬁl@ml Bﬁ'QTFGﬂ? IR UAS H I &1 %ﬁ"m:ﬁﬁ aﬁww
U= T U7 i |

4. Usuage of Cell phones. Calculators & other Electronic gadgets inside the examination hatl not Permitted. gdten
et 3 ofax A B, Paigerer R 3 e Toew & Sy & Hni T8 R

3. Any discrepancies in Hindi Translation. English version is final,

& arqared @is oft fagfaa, sieh dwseor aifam g

. There shall be negative marking for incorrect answers. [/3(one third) of the marks allotted for cach question

will be deducted for wrong answers.

T IRI & O FHRIES 3T S T Uy & R srrdfed siwt o1 15 (uw fgrs) e 3wk % g
I SITar

7. There are |10 questions with four answer options and candidate has to unswer g maximum of 100 questions.
cach question will carry 01 mark.

R FIR fqered] & A 110 UY 8 3R Iufear 1 sfiead 100 U4 &1 IR 1 ¢, TS U9 01 3F 12
8. In casc the candidate answers more than 00 question. First answered 100 questions will be taken in to account
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gfe Iufiear 100 ¥ offYe U4l ST IR a1 8. & 9yT IR ard 100 WA BT Hraie & fou o § @
el

9. Over writing.cutting ,crasing or alteration of any type will be treated as invalid answer and zero mark will be
given for il.

fepreft ot s & siteR efe. e, firer o ufvad= &1 sy SR Wi S SR 9% g < o
T |

1. Candidates are not allowed to leave their seats within one hour of commencement of examination and should
deposit answer sheet and question paper supplied to him/her before [caving the examination hall .

Irleart &1 udian YR 19 & U ge & HIeR ST Wie B o 3Afd T § AR 3% W gia sre ¥
Tgd I &1 T8 IR QR&TehT $i7 Uy U ofH e TR



Choose the Correct Answer 51 39T FT F47 Hrg=T

1.Who is eligible for Lump sum award

A) Those employees who pass the Hindi exams by more than93% B) Those employees who pass the Hindi
exams by more than 85%

() Those employees who pass the Hindi exams by private efforts D) None of these
TFHYT [IEHTY F (70 I 0T

A) T FHAT AT B ¥ 74T 95% F 18+ 9 T4 €

B) F FH=TI 97 24 it 087er 85% & afdrs s #v9 £

C) & Fo=Ter ST fft waret & &t i 7t < #7a &

D) z7H A F1E A9l
2 ministry/ office is conducting the exams under Hindi Teaching Scheme for the central

government employees

A) Law ministry B) Home ministry  C) HRD ministry D) None of these

-------- HATAF/FTATAT F5rd % o ZET foreroy T F Jga 7ier T #Er 8
A)FEAHAEE  B)[EHATEE  C) HIHE #4799 @FE 998 D) THE § T T80
3. In which order rubber stamps are to be prepared

A) Hindi- English bi-lingual form-one line Hindi and one line English

B) English - Hindi bi-lingual form-one line English and one line Hindi

C)Bothaand b

D) None of these i

5 oy F T &2 S fan o #

A) FBf-ssht fBamdt = area B sfv v arza st

B) 3r3rsT-f&t faamft =1 @ sfirsft 3fe v amen B

C) T 7t AT

D) T & FTE Aol

4. What is the Lumpsum award for passing pragya?

A)Rs.1200 B)Rs.1600 C)Rs.2000 D) Rs.2400

TST FT TTH F4 F (o107 UHAYT JaT 797 57



A) 1200 577 BY 16007 C)2000FTF D) 2400 77

5. What are the training facilities available to a central government employee to get trained in the Hindi courses
A) Regular  B) Intensive  C) Correspondence and Private 1) All of these

FZ ACET F UE FHATT AT 22T H TOErrerg Z19 o Tor g J7 TFrsyr e 3oasy 27

Ayt ByET ) TETET ¢ AT D} T THT

6. What are the Hindi courses prescribed for central government emplovees

A) Prabodh & Praveen B) Praveen & Pragyva

C)Prabodh. Praveen. Pragyva and Parangat D)Praveen. Pragva & Parangat

Fg AT & wETeAt & fom frarie B e E

A) TITY ¥ g B} T ST wET
C) 9Ty, SATL W3 7 a0 D)y wEv = Sy s
7. What is the periodicity of the meetings of Official Language Implementation Committee?

A)once in 3 months B)onee in 6 months ) onee in @ months DY once in 12 months

TTSETHT R a9 U7 FF F537 F7 ATFT8F7 F47 27
AATTEFETETY B)TEFeM A TE I C) 9 TEA H UF AT D) 12 W2 & TE A
8. When was the present parliamentary committee on official language constituted?
A) September 1975 B) January 19753 C} September 1976 D) January 1976
ST U7 AR THETT AT FT T34 T4 A7 7797 =177
aAyFrgaT 1975 BysE T 1975 ) FraT 1976 D) ST 1976
9. Which is the elementary Hindi course prescribed for central government employees?
A)Praveen B) Prabodh  C) Parangat  [3) Pragvae«
FF AIEE F wHAET & o et st B8 e oA 2
A) WETIT B) waTH C) 9177 D) w=AT
10.Which article of the Constitution of India empowers the Indian states to choose their own Official Language?
A) Article 345 B)Article 351 C) Article 210 D) Article 345
A) ST7E 343 B) A=A 351 C) I =3 210 D} A== 345
I'l. Maximum days of leave on average pay that can be accumulated is

A)120 BYI80 C)190 D)300



ST T T ST o A e o A A
A)120 B)180 C)190 D)300 | '

12. A male railway servant may be granted Patcmitf 'Iééveﬁaiﬁhg surviving children

N

A)Two B)One C)Four D) Three

T [ T AT F] SAaq agi F A g s G e g g

A3 B)TH C)aT  D)AA

13. Up to what limit, maternity leave may be combined with any kind of leave?

A) One year B) Twoyears C)Unlimited D) Six months

AT TFFTA FT (07 H0T TF FFH7T o7 THC F TTH9 F AT FET AT A7 27

A)THATA  B) T ATA C) st D) &8 Held

14. Maximum encashment of leave on average pay is.......

A) 200 days B) 180 days C) 360 days D) 300 days

FTHT AT T AFHIT FT ATTFART TFEFIT L

A200fz B)180fRAT C)360f D)300 A

15. How many sets of School Pass issued to Railway employee?

A) 6 sets per year. B) 4 sets per year. C) 3 sets per year. D) 5 sets per year
AMTRFFTTeEz BYRFTadz Owfaaiizdz pywfEaisaz

16. Break journey is not permissible in case of

A) Transfer Pass B) School Pass C) Settlement Pass D) Post Retd. Complimentary Pass
S JTST 3 T ForeTe ey A '

A)FHEATT I B) ¥ T C) F2dHz 919 D) 92 & HATHg| qT419 TTH

17. How much Service (minimum) is required for Post Retired Complimentary Pass

A) 20 years B) 25 years C) 15 years D) 33 years

Tz Feras gmard 9 F o s f4r ((Fae) aeedw g

A) 20 T B) 25 A1 C) 1591 D) 33 |10

18. Which of the following statement do bear the title of Discipline and Appeals Rule in Railways?
A) The Discipline and Appeal Rules, 1968 B) The Discipline and Appeal Rules, 1966

C) The Railway Servants (Discipline and Appeal) Rules, 1968 D) None of these



et & 7 fre e o srqemas stz sefrar e = ofid 2 e

A) SreTTaR T afrer e, 1968 B) Hq9ITHA #1798, 1966

C) Y9 AT (3o ofiv orfiten) Fam, 1968 D) 7058 & T8 781

19. Which No. of standard form is used for issuance of Major penalty charge sheet on disciplinary proceedings?
A} SF-11 B) S5F-2 CySF-1 D)y Nonc of these

HAY AT ATSSZ AITATT FTAATEN FIT F7 e i (10 F1 # ATAF FIH FT ITA (A7 TAT 2 2
AYTHTTE-1] B) THUE-S ) TATE-1 D) Z7H 7 F1E 721

20. Who is the competert authority to make rufe on RS (D&AY Rules?

A) President of India  B) Ministry of Ratlways C) Member(Staff) D) Secretary Rly.Bd.

s (31 g vy et o T e F e e wrfeer e 80

A)WMTFT F 7TETE BY YA HA1F C) 9EFT (FHAT) D) AT 7o S

21.What would be correct procedure when a faulty charge-sheet requires modification/addition
A) Canceling the earlier Cisheet with reasons B} Without canceling a fresh Cisheet may be issued
C) Continue the proceedings 1) None of these

Tyt FrsreftE A FTIAAE FTEYTRAT g T AT TEAT FT 20T

A)Ted Ahfm FrFmm A 7 FvAr | B) 77 B ERT wE A Adfir e o arasdfi g

C) FTHATEN AT 7 D) z7H & *1F 751

22.How many Annexures are attached with major penalty charge memorandum?”?

A¥2 BY3 O35 D4

ST AT AT AR ST F AT A sy e 22

A2 B)3 OS5 D4 .

23, If the disciplinary authority of'a charged official is also involved in the same case, this case should deait with
by the

A) Disciplinary Authority  B) Revising Authority  C) The next higher authority D) None

Ttz st e 1 AgemAATE R A 3 g 1 oriue & 59w /v gy e s At
A) FFITHATAT IIHFI0T B TACTEW T C) 57 39 afsrr D) #18 781

24 Time taken between two consecutive block stations is called

A) Inter scetional running time  B) Normal running time. C) Minimum running time. D) Bare running time

TATATE I A1 2201 & 19 A qf AWT ET FRT AT 2



A) 2T HFIAA AT IEH  B) AT 900 FT A0 _C)RqFAH A7 FT HAT| D) 737 7o F7 797
25. Abbreviation for RCD A :

A) Railway Customer Depot B) Regional customer depot

C) Railway consumer depot D) Regional consumel; dep‘ot-

TS % form wfEry

A) ¥era e 2T B) & ames oy

C) o9 39N 39T D) &g I7sir=ht =2y

26. HSD-1 will prepare in

A) Single B) Duplicate  C) Triplicate D) Quadruplicate

THTEST-1 H ST Fr

A)TFEAT B)IfaFe O e D) =

27. Ordinary rules may be amended by the

A) Railway Board B) Railway safety commissioner C) Print D) Indian government

wreTeor Rt 8§ e A AT AT 2

A) T 1= B) ¥¥ 9 HTEAT A C) Uz D) AT HIFIT
28. Station Limits are available between the signals at a Block Station

A) Outermost  B)Innermost C) Both A & B D)None of the above

FEITH HIHTT SoATT T4 77 - T F A ey gt E

A)FEH FTE B) #avaw C)T T A FFT D) IUE § T AT AR

29.At Class ‘D’ station. station limits are available between

A) Home signals  B) Last Stop signals ~ C) The ends of the Platform D) Both A&B
goft F F=or a7, Tue H19T F i 3Ty §

AFmfme BFm=ENfAmm o) w=EwdFEr D) T 3 #f FAT
30. The classification of a station shall be mentioned in the

A)SWR B)WTT C) Both A&B D)Operating Manual

UF LY F JHHE0T FT Toorg H foFaT ST

A)THEETAR  B)TELAE C)UHAR AT D) AT dqere

31. No Railway Servant directly connected with the working of trains shall take or use any alcoholic drink,
sedative, narcotic or stimulant drug or preparation within Hrs. before the commencement of his duty

A)12 B)16 C)10 D)8
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TAMTEEAT . =T A Yo w4 27 A AT I FaE ST =2 9F #0487 TEF AT AATFZ A
TAT ST F ST I IR AT ISR T, U, HTEE AT THSF AT AT 4TI

A)12 Bil6 )10 D)8

32. At non-interlocked station. speed of the trains on main line shall not exceed  kmph.
AY30 0 BX20 ()35 D)45
AT T T, W e A A el e o srfer w8 A
A¥30  BRO - ()35 )45
33, If any railway servant notices that a train has parted. he shall try to attract the attention of the by shouting

that the train has parted and put both his hands together above his head and separate them smartly
AYLP  BYGuard C)SM D)YLP & Guard

oIS ST 27 T 2 o ST ST 2T AT T AT S A Ay 3o A i 39 AT 7 e A
AYTET BYTTE C)TEIIR D) TN HT aTE

34.Under special instructions wherever any signal is located on right side of the track. that signaf post shall have
an _showing the line to which the signal is referred

AY Arrow B) P Marker C) G Marker D) S Marker

oy fordor & q2a o= F =riedt g sret of T e A s £ 27 e e § T T ST 3
ATz 1 Fvitar § Faed feees v e AT 2

Ay By frarEe O OTET D) TH AT

35. Whenever two vellow lights are exhibited in Distant signal the aspect is

Al Proceed  BlAttention  CiCaution  L)Stop

S <61 A7 AT T g F § GO A AT E AT qE T AT

A)WTEE B)sAAE  C)AMEATHT D) EF T

36. When the L.C gate is closed and the train is required to stop at the home signal gate-distant signal shows__
A) Yellow B)Green C)Red  1DM)Double Yellow

A T=T B)ygTr Q)= D) Tae der

37. At stations provided with___ . the advanced starter shall be taken off and then the starter

A) Starter, Advance starter  B) Advance starter, Starter  C) No Priority DY) None of the above
AT I TR AT W WA w2 F7 g2 (R s i R mmes

A) ST, T =T B) A9 wEE, Y C) S THAEAT g D)y ST § & FE AL

38. Color light calling-on signal is identified by marker



A)P B)A OG D)

FT e FTAT BOA S wET | AR A e

AT BT ot D) : '

39. Shunt signal below stop signal will show __ in ON position

A) Miniature Yellow B) No light C)Two lights are burning diagonal D)Red
wiy e & Fr o e afg fafar & gorfman

A)egfEr  B)®E IR AE C) I AT AT S E g D)=

40. When a signal is newly erected or shifted, it shall be jointly inspected by sighting committee consisting of
transportation,

AYTLLI  B)LLS!I C)TLSI D)TLLLSI

ST F1E T F9T FATET AT FATAA T TRAT AT 8, A7 29 3@ 9 &9 F e Gy s
afaf aiagT @ e,

A) THAE, TAAE B) THAAE. mHAE  C) TS, vHAE D) Fars, veAars, nHqaAs

41. Signal sighting committee will go on footplate inspection once in

A) 3 Months B) 6 months C) 12 Months D) 7 days

Faaaefarswd F o e gevee e o ot

A)3HEM B)6"EM CO)12WEq D)7

42.Outlying siding points are indicated by

A) ‘P" marker board B) ‘A’ marker board C) ‘G’ marker board D) S’ marker board
AITATST AT TE2q A FETIATATATAT

A) T ATRE ATE B) T HTEL AIE C) S AL ATE D) 'TH AT ATS

43. To put back starter/advanced starter for departing frain LP of the train should be advised by a and obtain
acknowledgement

A) PLCT B)T806 C) Written memo D) T369/1

A F TR F O /e = #9799 w@q F o i wr ra . far Ry, g aeme A e e
S aTEHT W F AT

A) Tt B) #1806 C) ferfea #wr D) £1369/1

44. Gate signal is identified by
A) G Marker B) P marker C)IB Marker D) ID Marker

Tz e 7 vg=T FRTHI ST 8
A)sttame B)ftamde C) arddtardr D) Argst Arhe

45, Normal setting of points is for

8



A)YMain Line B)LloopLine C}common loop 1>) Branch line

A T aET wnf R
A) BT @A B) T #ATZA C) FiaT 7T N EIEE I
46. Fog Signal Post 1s painted alternatively

AYWhite & Yellow B)White & Black ()Yellow & Black D)Black & White

wRFIE T A IR ' A e T A e

Ay T s T ByFEEdmEmr ) f4r @ Fr= D) F14T 17 HFE
47. Maximum speed of trains during dense fog in automatic block systerm is  kmph when aspect of signal

ahead is Attention

A)75 By )50 D) Restricted Speed

FAATTor AT Tt X T 127 5 A R AT ATOFAR  foerdt o T 2 £ T e A7 e AT 2
AY75 BI60 O30 D) ufAafas afa

48. The knowledge ol the stafl that is required to use detonators shall be tested by the testing officials

once in

A)3 Months  B)6 Months  C) One vear D)5 Years

TEAT &1 TTATT F9 & T o S & s &7 wdiern gq7 g7 gt sy v #fesrT v 717

H
AY3HEN  B)6ARE C)TEATT D) 5ATF

49. A blank signal under complete power ofl situation is to he treated as ~ signal
A)blank By defective  C) permissive DY automatic

Tof el 37 frfa e T SAF e AT Pem s sv A AT AT

A) F=r By 2 C) FTHT D) 7o

50. After passing an automatic signal at ON the 1P of the following train hauled by any locomotive shall ensure
that a minimum distance of meters is maintained between his train and preceding train.

AY240  B) 150 O) 120 D)180

fFrerferfiad 77 % merft o7 st B 1 FoA Foare B et g g qfafam s g

A)240  B)YL30 C) 120 D)L8C

S51.In 30 loco, for charging of B pressure .................. cac to he kept open,
AYA-8 B)Y70 O)74 D47

3O ARIH. BP I R AT R o coc AT EAT ATRT

AYT-8 By70 )74 D)47



52.During loco brake testing of WAG-9 or WAP-7, loe6 should.not to move up to ............. KN.
,.’- |
i
WAG-9 IT WAP-7 ¥ STHT & TEIE0T % ST AL &L .............. SO O G@1 Tel FAT A2 |

A)150 B)100 C)300 D)125

A) 150 B) 100 C)300 D) 125

53. In 30 loco, Constant speed control (CSC) can be activated above ........... kmph of speed.

A)S B)I OI15 D)Is

30 @t §, Fa afa f=o csoy Fr Bt ofe g 397 it TR 7fE G a7 a5 2
A)S B )15 D)5

54. In 30 loco. location of TM Blower-1is .......cocviiiiiiiiiniiiiiiin

A) Machine room No.1( near cab-2) B) Machine room No.2( near cab-1)

C) Under machine room No. D) Under machine room No.2
30 AR, T ST FTEITT .o AT g

A) MR =T aa7 | (FF-2F79)  B) BT =9 797 2 (7 -1 F TT9)

C) wefie &= 797 | F 989 D) wefte &9 97 2 ¥ 989

55. In 3@ loco, on moving BL key from ‘D’ to *OFF” position, ......... brakes will apply automatically.
A )Direct brakes B)Auto brakes C)Parking brakes D)AIl brakes

30 T H, e Fuit 7 L FH AE PR F I IO, FF AT ST AT ST

A)TFF TR B)ATAF )T AT D) AN AF

56 .Total oil /coolant points in WAG 9 or WAP 7 locosare ............

AY7 By C)13 D)8

WAGQWWAP?éﬁﬁgﬂﬁ?{.@ﬁWﬁg ......... L. B2l

A7 By QI3 D)8

57. In 30 loco, if speed is more than ......... % than loco MPS, only audio visual indications will appear.
A) 0.50 B)S C)15 D)50

30 A H, IR I FEaa AR MPS AT L. % H ATAFH E  ATSAT fasere a6 fa@rs 3
A)0.50 B)S CO)15 D)50

58. In 3@ loco, SS-09 belongs to .........cceevenenen. sub system.

A) Battery system B) Brake system  C)Auxiliaries HB-1  D)Auxiliary converter No.3

3OAEITE, THUH-09 . o foeen & Fafa 8
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Ay ey BygF e O)FgE=s v=eEt-l D) HETE 4927 997 3

59. WAG-Y loco is provided with ...... No. of direct brake ¢vlinders and ........ No. of parking brake cylinders.
AN2&4 B)2& 12 CH4&12 DM2Z&S

WAG-9 AT § . y=7 3 mam §1 wor 8 it gery fasizr fiw ) T g FeiEed i G

Ay 12dTd By 2d@TI2 O 4FFI D) 12#ET6

60, In 33 loco. position of control Electronics (CLE)Y during cab changing s ..

AYOFTF B} ON C)Selfhold mode D) None of the above

30 =TT H, o AT F F T2 seai A () F et a2

INEES B) AT C)#=F ZeT AT D) 3ITLF 8 %1% 481

61. In conventional locos, ......... motors are called direct motaors.

A) MPH, MVSI-l  B) MVSI-2, MVSL-1  CyMVSL-2 D) All the abave

I IEERZIE - A HTa7 T TTHF H177 Fal AT 7
A) T, TRATTAWTE. ] B) THATOWETE-Y, UHATEIA. | C) THATHTALY D) S AT
62.  ......number of shunting contactors provided in WAG-3 orWAG-7 locos.

A) 24 Bye (22 D)8

TE AT T-5 AT SIS -7 ST 8 93T T 7 o2 wivesst £7 d&=2m)
A)24  B)l6 ()2 ™IS

63. During RB. MVRF motor gets feed from ............. TM.

AYTM-1 BITM-2 C)TM-4 DYyTM-6

RB F 37, MVRF AT AT ... ™ 7 T et 7

AFmal ByAmm2 O fFrwd D) fEee
64, On run, if OHE contact wire 1s found hanging, the immediate duty  ofthe crew ... .

Ay Inform TLC B) Keep ZPT on 0" and apply Lmergency brakes or press BPEMS,

C) Inform TPC D)None of the above

T @HT STAE FAoAZ qTA7 AT Gl T 71 F0T AT AT ST FTE o,

A EmErft FT T FE B ZPT 371 "0" U7 7H T AT T ATITTRIA a9 4T FIareuHe 87
Cy IR T g=a #7 D) T F H FIE A4

65.In convendional locos, il CHBA is isolated. work the train for........... hours during day time and ............
hours during night time with minimum utilization of battery suppiy.

A)6,4 BM.6 C)5.4 D63

11



mvﬁmwwuﬁquw?ﬁﬁﬂﬁw%m%#m#m ............ 2 o =Aaw
F AT AT AL T ITET FIH FL

B) 6,4 BM,6 ()54 D)6.3

66. Purpose of Q119 1S ..o, :

A)To enrgise VEULSs B)Late starting of MCP-3 () To energise VEAD  D)Both A & B
QUIIFTTEIT R oo esemseree oo

A) FTgUE FT T F7 F o B) THHTT-3 F¥ 37 & 9rFarT
CO)VEADFrafdr s & fom  pyuwaiw fr =t

67. While using RB _..... brakes should not be used to aV(;id loco wheel skidding.

A) Formation(A-9) B)SA-9 C)Both A&B D)None of the above

FATHT ZTeT EFT2AT & g9 F (017 AT FT ITAR F79 0T, TF FT ITANT ALT (54T ATAT ATET
A)TA(T-9) B)TAT-9  C)T AT A IAT D) ITE H T AL Al

68. In EP C118 provided locos Q100 is replaced with ..... Relay.

A)Q119 B)Q120 C)QTDI00 D)QI121

EP C118 § warg fFm o &7 Q100 #7 ... & 77 72+ 3y mam 21

A)FI119  B)QI20 C)QTDI00 D)= 121

69. Q20 actions are .....

A)Auto regression of GR.  B)Glowing of LSOV & sounding of SON

C) Sounding of SON D) None of the above

A) St F7 ster flree, B) mermasrdt £ w1 o 51 A amars

C) T F sraTsr D) 3T | F TS 75T

70. When TLTE with LSB is experienced, it indicates ............. relay not energized.

A)Q-50  B)Q-51 C)Q-52 D)Q-48

T TATIET & FTT ETALE FT AT ZAT 8, AT TR o e afrr = frefm s 2

A) F-50 B)F -51 C) #9-52 D) % - 48

71. In static converter locos during RB, ................ motor stops workingand ................ motor starts working.

A) MPH , MVRH B)MVRF , MVRH C) MVRH, MVRF  D)None of the above

RB F #0H T 2F F7aet AFTH, . et Ew At e T HIET FTH F79 A1 2
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A) i, et B) THATSITTE. DAt

Q) THFHTH, THATANTE D) ITTOE § T FE AT

72.When rear cab BL s not locked properly.crew experiences ............ Traction fatlure.
A) TLTE with LSB B} TLTE with out LSB

() Auto regression with LSP D) Ist noteh auto regression with out LSP

st T S dfer S 7 AF T S5 A A AT A L ST e 2T 21
A) TATHE] F BT EOALE B TATHAT F T A

Cy TATFT F AT e DHeT D) et #® T vge wraE gty v

73. [n Air flow indicator, ............ colour needle is called as reference needle and ................. colour needle s
called as indicating needle.

A) White. Red  B)Red. Green C)Green, Red  D)Red. White
T TAE TTFE ... AT AR S w A § o A it ad F1 HAE L wE AT B
AYTFZ, A& B)ATA. BT C}EIL AT D) ATH, TS

74. In conventional locos, for discharging back pressure from CP delivery pipe Line, ......... valves are provided.

A) Un lovader B)Auto drain C)Bolh A & B DINone of the above

arinfr ST |, At T A ver e we S A AT AT, Ared arIufvE A
H. AT R O AR 7 AF qav Feard v w o HTeF 7T AT £

AYITAET  B)FAFA )T A A D) T F A A
75.In WAG 7 leco. If all line contactors are not closed. ensure...,., coes are in open position,
AYEP2&LP3  BYPI&EP3 COMR4&EPI D)EPland EPZ

WAG 7 111 9, 7fe 791 w2 Fi-sd= 22 A5 8. A1 A% 59 . Avarft sav & ey v

MEfF2#E7 ST R ER SR O raumadr s D)y Ef o s T2

76. Normal pressure of SMGR is............... Kg/em?.
A)25-35 BBO0-20 CB35-45 D)50-30

SMGR FT ATHT 41T ............... [FOTEHT2 26T 2

A}25-35 BBEO-2.0 OB5-435 DB30-3.0

77. In each cab A9 feed valve is having ........number of cut out cocks
Ayl B2 O3 D4

T F A0 e AT F A A B A AR

Al B2 ©3 Dy

13



78. Location of C2A relay valve in WAG-5, WAM4 &WAGT (up to 27199) is at ......
A) Behind BA box 0.3 B) Behind BA box o2 '

C) Behind BA boxno.1 D) Behind BA box no.4 :

WAG-5, WAM4 3T WAG7 (27199 7%) § C2A Rerarea #reama ...
A)FmaFr a3 F Ty B fram dav 2 5 =

C) dro atmr Fa | F iy D) dim ater daw 4 % iy

79. In 30 loco, Oil cooling blower cools ... &...... Oils/ water coolant.

A)SR-1,S8R-2 B)TFP-1,TFP-2 C)TFP & SR D)Traction motors

30 AT , itaer T sHT SeT FAT £ 4, AevaTeT o

A) THHAT-1, THAZ-2  B) FTFAT-1, HUwdr-2 C) Fwdt sz maame D) 2999 wred
80. 30 loco is having ................. No. of 3 phase auxiliary motors in loco under frame.
A)2 B¢ OI12 D)8

3OFATEIH oo, W ¥ A1 AT § 3 W AR Ul 1 HET 2

A)2 B)y4 012 D)8

81. In 3@ loco, In case of emergency, ALP can stop the train by operating ..................... :
A) Emergency stop switch B)Emergency brake valve

C)BPVG D)Emergency stop switch or Emergency brake valve

30 AT, AT 2ol & ovad g s AR AT HFATE o

A) STITTFTAT 70 7= B) ATqTareA 3% areq

C) Fr i D) STITHFTA 15 339 97 Ararasrei 1= 5% a1eq

82. Location of Harmonic filter resistances in 3@ loco iSe......o.cvvvvne.n.

A) Locoroof B) Inside FB  C)Machine room No-2 D)By the side of pneumatic Panel
3Q AT § ZTHTAE (et TIaaTa] T 277 oo, :
A)FEHTZT B) TR F 3w O)Afims=wda<-2 D) aradrg it a9 7 e
83. Location of Emergency stop push button switch in 30 loco is ..........

A ) In both cabs Panel A B)In both cabs Panel B

C)In both cabs Panel C D)In both cabs Panel D

3Q FATEN H THLSHT #2797 T2 Fag FT e 2........

A)TAT ST AT §  B) AT FF AT AT H

14



QM FATTA®R  D)IAIFA T a9
84. In 303 loco cab changing is to be done within ......... minutes otherwise CE will switch OFF.
Ay 0 B) 10 C)Is Do

O =T H Fa H L oz | et gieT § v F9T CE 5% 21 A1

85. 30 locois having .................. number of roof hars.

86. In 3¢ [oco, S5-i5Sbelongs o ..o . sub systent.
A) Cab-2 B) Processor FLG-1 C) Memotel (Speedometer)  D)Fire detection
3O AT, 8§S-15 ... IT TOCAT F FF0F AT 2

AyFa -2 B) 9rE97 [LG-1 ) FEee (FHErdi=7) D) &0 $7 T47 07
87 Input voliage & current of TCC is.
A) 620 -2600 V DC. max 1200 A DU B0V AC--- 2000 V. max 1100 A AC
Cy 320 -2600 V DC. max 130 A DC D) None of these
TCC 1 29 ATe2s 317 T2 Fi
™Y 620 -2600 F 2T, FE=aw 1200 7T AT 0 47 TH - 2000 A7, wfEFAE 100 T U
) 520 -2600 V DC, ATIFAT 1100 A DC D) 278 7 18 721
88. In 3¢} loco. when harmonic filter is isolated. speed of the train is restricted to ............
A) 60 Kmph. B) 40 Kmph. €)25 Kmph. D)No such restriction
30 W #, 579 ZTEIE Fhery £ e R srar 3, 5 ) afee ¥ R afafam S s,
Ayeo T aR ez B4 T O 25 tframar Dymar=n sHEw i
89. In 3¢ loco before operating throttle. ensure ............ node information on screen.
A) FLG-304  B) FLG-330 () FLG-570 ) F1.G-390
30 AFH gizer s F o, AR Frz & o T AR
A)TETAA-504  B) TEUENT-350 C) TEUAST-570 D) TRTAST-590
90. Location of line contactors -4, [.-5 & L-6 in WAG-7 (above 27200} & in WAP4 locos isat ............

A)HT-1 BA-1 panet B) HT-3 BA-Z panel C) HT-3 BA-3 panel D) HT-3 BA-4 panel

15



WAG-7 (27200 & 397) F T2 Fiedzd L-4, L-5 M7 L-6 FT 7919 7 WAPASIFI & ... 72

A) TEEL -1 Aqe B w3 fiv-2 fve | Q) mEA-3 03 e D) w3 s e

91. Location of MVSL-1 in WAG-7 loco 27200 onwards is at ..............

A) HT-1 compartment  B) HT-2 compartment  C) HT-3 compartment D) None of the above

WAG-7 @11 27200 313 & MVSL-1 FF#T9 ........... wE ,

A) TSET-| FHTEHZ  B) TFE-2 F97EH  C) HT-3 FYTEHE D) S 5 & F1% 72

92. In modified locos, when additional BP cut out cock is closed in leading side, ...... cab BP gauge shows ‘0’
reading.

A)Trailing  B) Leading C) In both cabs D)None of the above

HoTTeT A1 &, o g S e re fF S TR SR AT e g ST T 0" FfET T 2
A) AT Byt C)IWIFETH D) ITO H A L AET

93.When BP drops below 4.4 (in BP gauge) without A9............ starts functioning.

A )ACP Indication B)AFL C)Both A & B D) none of the above

5 09 F AT At 44 (FR I A F AT I I AT FTH F7AT % F7 347 21

A)TH #FT  B)UTETE  C) W AT IMT D) I H & FrE A9)

94. QD-1 is connected between.... and ........ traction motors.

A)TM2 & TM3 B)TMI1 & TM3  C)TMI1 & TM2 D)None of the above

QD-1.. 3. ... T A=A F A9 J2T g 2
AyFmm it fmms B)Am 1 fivdita3 O Auwl AT D) 3T § & A 5
95. Location of C-145 in WAG-7(27200 onwards) & in WAP4(with RB) isat ......

A) HT-1 BA-I panel B) HT-3 BA-2 panel C) HT-3 BA-3 panel D) HT-3 BA-4 panel
WAG-7 (27200 $TT) ST WAP4 (RB F HT) & C-145 F1 8474 ... .
A) THE-1 @01 99 B) UEE-3 2 fAe ) weEn3 i3 e D) veA-3 v fAe
96.In conventional locos........ reservoir pressure is used for FP pressure creation.
A)MRI B)MR2 C)MR3 D)MR4
AT AT A, TATI TGS FT ITIN TEAT Zama F477 §F forg &y smar 2
A)THAT 1  B)THAT2 C)THAT3 D) THAT 4
97. In conventional locos, SS2 safety valve is set at ....... kg/em?2.
A) 10 B)11 C)105 D),

T e AT §, SS2 HFET Afed ... kg/em2 T HZ ErET £
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A)V10 BYIT €105 D)L
98. In MU locos, MUZB position in leading loco is......... and in trailing loco is.......
A) Lead, Lead B} Trail, Lead ) Lead.Truil D) Trail, Trail

TR TR H, AT ST 5 wRET i R & S ST AT L EL
AyATz T B)ITE AT Oy AT EA DyIe I

99, Leakages in formation 'BP' pipe is indicated through...... eauges in both cabs.
AYMR  Biloco BC C)FP D) AFI

AT TR AT H AT AT FAH L T F AreAd | 20 fy w3
AYTEET RyaEmrgET O nEd Dy rrEarE

100. In air brake locos. ALP emergency brake is connected to ............ pipe line.
A)BP BIMR CO)FP D)BC

7T AF ATH H. ALP THISHT AT L 7T ATEA 7 TZT 2147 2

A) FfT BymHAT  O)TEAT DI

101.Which type of diesel engine is fitted in HHP locomotive

A} Four stroke B) Three stroke ) One stroke D) Twao stroke

AT AT # T 9T 1 ST S5 ey {rAy E
A)®IT . BT ETE C)FF T D)g T

102. For grounding conventional loco. place ZPT key in HOM box in............... position and turn it
10 o position in clock wise direction.

A) 57 clock. 77¢lock BY 57 clock. 6%clock ) 7° dock. 9% clock D117 clock. 17 clock

T ST F AT 89 & (e, ZPTf FTHOM T H .. ¥
R ELE ARG R A= 1 & i akr: RN fegfa F 727 &

A) 5 FET =E, 7 R a B) 5 f2ft =31, 6 =l =27

Cy 7 330 ==, 9 FEefr =3y D) 11° 58, 1° 93t

103. In M1 both locos pneumatic pressure is maintained equally through.... pipe.

A)BP  BYFP () BCequalising D) MR equalising

TR TET F ATEAH AT A R A G 9 FATT FT A 797 T4 S

A) T B UET O dFTETET D) TEER geEy

104. On closing BLDJ, pressing BLRDI. LSDJ remains glowing means .............. Tripping failure.
A) Opcration A beginning B} ICD) ) Operation A ending 1) Mechanical locking of DJ
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BLDJ #1 &% 73 77 BLRDJ F1 T4T9 7% LSDJ F7 G0 STHEATEZATE oo ffT fareram

A) AT T EAT  B) STEHTS S C)Wm@mg D) Eier it FHAFa AT

105. Auto sanding is done by the energisation of \ .............. Relay.
A) Q44 B)Q49 C) Q48 D)Q50

AT EHRT F Forrwor greT AT sar 21 fen

A)F[44  B)F49 C)F48  D)FI50

106.Earth fault in C 118 contactor coil causes ....... fuse to melt.

A) CCDJ B) Addl. CCBA C)CCPT D)CCBA

C 118 Fivedet FIze H o Fee F FLT . foraem & o =

A)#HES By afafw A o) FfifE D) Fiefeh

107. In emergency DJ can be tripped by ALP by pressing ...... push button switch in cab-2.

A) BPIDJ B)BPP C)BP2DJ D)BPR

AT i § T3 1 ALP 3197 ...... 091 724 P zarae o srasar 2 Fa-2 9
INER IR ELED B)drdfrft O drfnds D) Frieme

108. The defective ARNO leads to ......... tripping failure.

A) Operation A ending B) Operation B Part I C) Operation B Part Il D) Operation ‘O’
T ARNOH ... frfefer et 21 ST 21

A)srrem mifEr B) Ay f ol ) Ay AT 11 D) AT S

109. In case Q 45 relay is wedged. DJ will close directly by the moment .................... Switch closes.
A) BLRDJ B )BLDJ C)BP2DJ D)BPIDI]

AR Q4s A AT AT AT 8, AT T AT TT T AT g sz gramar
A)FimaeEy B)Fvads ) drfheds b))t

110. If DJ is tripped through static converter, ......... Lamp glows in both the cabs.

A) LSRSI B) Internal fault lamp C) LSSIT D)External fault lamp

RPR T Faem IS R aErg, ara wE E L T e B
A) TATTATTTAE  B) AATF IT 2M0F  C) TATAUHATEET D) STEIT &I a7
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E.CO. RAILWAY TdT 7= Ycid

SAMBALPUR DIVISION TSR H3d
Selection for the Post of Chief Loco [nspector in Level-7 of pay matrix in Electrical OP Department

ﬁ@mﬁmﬁﬁﬁﬁaﬁ%m -7 T O3 ieh | §¥UGRR & UE & forg =99
HHY Time: 2hrs. Mayx. Marks: S&EUEHTH 3d: 100

Instructions to Candidates: Gﬂ:ﬁﬂﬂﬂﬁ ﬁ%QT

1. Read rhe questions carcfully und answer. T & " tl%' HRIWE

2. Candidates should not write their name & roll number in any portion of the answer book or Question paper other
than the Nvleal, SARYETEDT 7 T4 & foed) ot TR & wemdolion & sratrar <uer A1 SR Je 98 7 o

3. All answers shall be written in OMR sheet. Blue! black ball point pen should be used for answering in OMR answer
sheet Tl IR SATHNR e # o I STASR IR U3® § IRk &3 & foU Hld STadren wige U9 &
PRI

4. Usage of Cell phones. Calculators & other Electronic gadgels inside the examination hall not Permitted. PRiEIRI]
& e el W, Papaiel NI 3 geiael - Toled B I B e T8

5. Any discrepancies in Hindi Translation. English version is final.

fadt srared 78 ot fawmiom, st sifam €

6. There shall be negative marking for incorrect answers. 1/3(one third) of the marks allotted for each question will be
deducted for wrong answers.

TEd 331 & U AERIAS 3 S| TS Uy & fol0 3mafed it &1 173 (U fagTs) TTerd 37k & &0 e
ST

7. There are 1D gquestions with four answer options and candidate has to answer a maximum of 100 questions, ¢ach
guestuon will carry 01 mark.

IR I fasedli 6 Ty 110 TH § SR IHIGAR $1 Hif¥@dn 100 U T IR & 6. URP U 01 3 B G

& In case the candidate answers more than 100 question. First answered 100 guestions will be taken in to account for
evaluation.

ofe IrgdR 100 G Sifiic sl T IR A1 . N WeH IR A 100 WA BT Hewin & ferg sarT o v sy

9. Over writing.cutting .erasing or alteration of any type will be treated as invalid answer and zero mark will be given

forit.

fora) +ft vpR & 2w Ifen. S, firem m uftada ST ST IR 9T S0 SR §9% o 2 ofp faar
ST |

10. Candidates are not allowed to leave their seats within one hour ot commencememnt of examination and should

deposit answer sheet and question paper supplied to him/her before leaving the examination hall .

Iufiear] &1 Tdlell = B9 & U e & it ormHt die Bie &) s e € 3R 3% URien gl B ¥ ugd
IE T IS IR IRADT 3R WY UF SIH AT A0y



Choose the Correct Answer Tl 3T FT T47 fledeT

I. Union of India is classified into ---------—-- Regionsunder Official Language Rules

A) A & B Regions B) C & D Regions C) A.B & C Regions D) None of these

AT &0 TTAT9T a9 F T8T oo &A1 7 Tt g
A) T 3T AT ar Byfi siv &g O)uw i siw+ft &1 D) =79 F Frs 721

2.When is “Hindi Day™ celebrated every year

A)November 14 B) September 14  C) November 21 D) September 21
A)l47H97  B)l4ffdar C)21799¢ D) 21 fdaw

3. From when did the section3(3) of official languages act take effect?
A)26.01.1961 B)26.01.1963  ()26.01.1965 D)26.01.1967

TISTATOT AT 7 4177 3(3) T F AT g0

A)26.01.1961 B)26.01.1963  ()26.01.1965 D)26.01.1967

4. How many inspections in a month are mandatory for Rajbhasha Adhikari of railways
A) One inspection per month B) Two inspections per month

C) Three inspections per month D) Four inspection per month

o 5 TSI A R e T e e s 2

A) ufa 712 v [fer B) 9fs /e 37 e

C) wfer #1g = Adteror D) wfa wrg =177 fFfeqor

5. When was the Official Language Rules passed?

A)1974 B)1975 C)1976 D) None of these
TISTATAT e Fa e B o g
A)1974 B)1975 C)1976 D) T8 I FE TH1

6. Which Official Language Rule of 1976, mentions about the working knowledge of the Officer/
Employee?
A) Rule-8 B) Rule-9 C) Rule-10 D) None of these

1976 % Ty wrsraray fram & srftrardy /A=l & fefaras s 1 3ow 22



A) -8 pyffree OO0 D) TAHE FF3E TE

7. Who was the chairman of the parliamentary committee on official language constituted in the year 19767
A)YOM Mehta  B) Sri B.G.Kher C) St G.B. Pant [ Sri Lal Bahadur Shastri

1976a | afzer st AT At AR F werg 1 a0

AYAFHETT  B) AT AL ET C) #t s da D) T AT qBTET ATHT

8. In which vear the Hindi translation of Railway Budget was prepared and who was the Railway Minister
A)Y 1957- .M.Gupta  B) 1956- G.B.Pant  C}1957- B.G.Kher D} 1956- Lal Bahadur Shastri

AY1957- TR OHIAT B 1956- AA AT ) 1957- LAY D) 1956~ AT AET37 AT

9. How many Hindi courses are prescribed for central government employees?

AYOne BTwo CyThree MFour

Yoz wvEr & FvErAt & A fras T arerwe Mt 82

A) T B) AT ¢y 1) =17

10.What is the main duty of the committee of parliament on official language?
A) To review the progressive usc of Hindi

B) To review the expenditure incurred for implementation of Hindi

) To review the regions based on usc of Hindi

D) Nong of these

TSI ¥ A H AE A AT g FA PI e

A) T2t = ST T 1 J AT AT )

B) 241 % Frat=aa = fora o 1 =7 i \fie #7e1

C) 278 & TR T ST S= i FH T FAT

D) TAH H 1T A1

11. llow many days of LAP in a calendar vear, a permanent/ Temporary Railway servant shall be
entitled to get?

A)20 days B) 15 days C)30days D)45 days

T ¥t A § g RBAT# LAP, vk wyrft/serft Y FaE wTe AT 22



A)2073 B)ISRT C)30fF Dy4sfRT

12. A female Railway employee shall be entitled to maternity leave for

A) 180 days B) 120 days C)90days D) 130 days

A)180f3@ By120fam  ©)90fF Dy130Rw

13. A Trade Apprentices may be granted leave on full stipend for a period not exceeding-----------
days per vear.

A)15days B)I13days C)10days D) 12 days

3 7 7 3 T T oo P & 13 7 7R 3 POy o o0 7 Y 1 T R
A5 B3 ofm pyife

I4. When no leave is admissible under any other rule, the leave granted is known as

A) LAP B) LHAP C) SPL Leave D) Extra ordinary leave.

ST FHHT st TR o ed s gt = A 8, 1 4 gd i wer ar

A) Ty B) U=t C) UHfiUS S D) SAETHTIT AT

15. What is the maximum limit of Leave not due that may be granted to a permanent Rly. Servant
during his entire service period?

A)360 days B)380days C)Unlimited D) 300 day

T T TS AT IR T FAT o F A A A S Arelt g S Ay A @ v s
FTE?

A)360 2T B)380Tw C)sifim D)300 R

16. How many sets of P.T.O. issued to the Railway employees?

A) 6 sets both for Gazetted and Non-Gazetted every year from the date of appointment.
B) 4 sets both for Gazetted and Non-Gazetted every year from the date of appointment.
C) 3 sets both for Gazetted and Non-Gazetted every year from the date of appointment.

D) 6 sets for Gazetted and 4 sets for Non-Gazetted from the date of appointment
A) T3gfer it arfia & 27 w1 T e @ st 991 F o s i
B) g it a¥ta & 22 #1er TorafAe i et 2 % B 4 37
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C) Frafce 7 A & g7 3 Tt e wetag 2T B 3 e

D) 9o~ 7 a0 7 T Ba ¥ 6 Az A sersratEe v g e

17 Attendants of Pass Holder is:-

A) Part time servant B) Servant C) Full time paid servant - ) Any person,

A) FFEITR AT By FFe Oy T 3afis 2 D) Fr2 f =fen)

18. Set means

A} Selt means 3 sets of pass per vear,

B) Set means 6 scts of pass per vear.

C) Set means 3 sets of pass & 6 sets of P.T.O. per vear.

D} Set means One set of pass or P.T.O. for Outward and Return journey

A) T= FT A4 F U A O 3 7

B) T= #7914 2 9fF a7 77 ¥ 6 757

C) & FT HAAE I AT T F 3 #2469 T F 6 92 5)

D) 37 T 9% 2 M9 FT 7 352 77§t &1 47, s7a =i arreft g 5 o

19. Which of the following statement do bear the title of Discipline and Appeals Rule in Railways?
A) The Discipline and Appeal Rules. 1968 B) The Discipline and Appeal Rules. 1966

() The Railway Servants (Discipline and Appeal) Rules. 1968 D) None of these
ﬁaﬁ%ﬁqqmm?ﬂmnﬁxwmwﬁ?fmﬁﬂ#ﬁww@

A) TR A7 {1 (9919, 1968 B) A1+ <i1v a1+t 7w, 1966

C) 9 FAAT (AT A andfien) faw, 1968 D) =8 7 F1E 757

20. Disciplinary Authority while passing orders for imposing a penalty should invariably pass?
A) Orders for penalty  B) Speaking order  C) Order for representation D) none

TE T F A T F7 o HAT SUTHATRS, T A vwams =7 7 qifvg =y Frfam

A) IATH AT AT B) T T HH ) Traieiars & B amssr D) #7575



21.Whether the disciplinary cases initiated against a Rly.-Sér-éant under RS(D&A) Rules, subsequently he is
died ,his case should be '

A) Continue and finalized B) Sent to Rly.Board  C) Sent to GM D) Closed

A (10T U) st % agd v AT F AT Ao /e o B T ) v § 3 geg e

A)ST T A sfam =73 B)THa a8 #T IS a4y C) S F 917 797 D) ==
22.Which of the standard form is required to be used for issuing the order of deemed suspension?
A)SF-1  B)SF-3 C) SF-2 D) SF-4

T TETS F 1391 T S F7H % o Gy w1 it %67 30 ey St straews 22
A)THTH-1 B)THUE-3 C)THATE-2 D) THUFA4

23. A person appointed directly to a post grade or time scale of pay can be reduced by way of punishment to
a post in lower scale/grade service or to a post which he never held before?

A) Yes B) No () Can be reduce but his pay to be protected D) None

T T U AT FHT ATAT 97 #14 Fq =1fn 7 fF=er aqeama/4re 397 8§ vF 02 F B ae F ameaw
77 BT T a7 O 5 T S e 2 e a3 aee el At am

A)YET  B)TEl  C)FH [T ST FHAT & FATha 3F A T 7E7 KT AT AR D) FrE ALY
24. Form No. of oil tank testing at RCD is

A)HSD-4 B)HSD-5 C)HSD-10 D)HSD-11

A) TATAST-4  B) THUHET-5 C) UHUAET-10 D) UUHET- |

23, Stock verifier of the Accounts department should check RCD at an interval of

A) Yearly once B) Yearly twice C) Yearly thrice D) Yearly four times

@ T3 3 F21F FeaTqaahal #7 AHST T T w71 A0, FT AT

A)HAH TH AT B)ATA KA I C) ATATET A9 a7 D) aTHHF =17 J17

26. Any Block Station which cannot be worked under Class *A’, Class ‘B’ or Class “C” conditions is termed
as

A) D class B) IB station C) special class D) metro
g AT ST T29 o0 FT ', FTE AT AT FA Y F AR FH AR AT A FHAT

o1t FET ATAT &




AV A By R O At D)

27, Whenever LPs/ALPs/SMs/Guards/Switchmen join this Zonal Railway. on transfer. they shall attend

before taking independent charge

A) Refresher course B) Promotional course  C) Initial Course D) No training required

7 7 e ey AR e 2w G e W omTEe £ L FATI T 0, A Fd s WA o A7
REE] T 3T g1

A TR A BTG A C) T TE T [} 7% Tiep T AT TR AT AR B
28. If train parting is observed by any Railway Servant ___ signal should not be exhibited

A)STOP hand B)Proceed hand C)Flag as low as high D) Nonc of the above
A)ZTASTAT B TS AN gaTAr ) e S 21 waey AT eET D) T o A AL ARl
29 Signals used for controlling movement of trains as per G & SR arc

A} Fixed signals B) Hand signals C) Detonating & Flare signals D) Al the above

S 1 AT 3 AT 2t T ST A1 R A R e e st an fre 2
Ay et 55 By gra T F9 ) o o wear A D) 3T a4t

30, The indication of the Distant signal in Caution aspect

A} Proceed and be preparcd (o stop at the next Stop signal

I3y STOP

() Proceed and be prepared to pass next signal at such restricted speed as may be
presceribed by special instructions

[DyNone of the above

AT Te T 57 F HhA A7 d4A

A) A 7 e arer iy e 97 = o a7

B)#= #71

C) 5 7% 7 3w e i o7 afaa e aff & o Fw F o e g v aEar g
FEéry frot g Rt

D) TR H F RIS AE



31. When the line clear has been obtained and the L.C gate is open to road traffic last stop signal-cum-
distant signal of LC gate shows

A) Yellow B)Green C)Red D)Double Yellow

ST AT FAAL GTH &1 ATAT 2 A7 UART T2 T2 TG 6 for0 get et 2 a7 vy 2 7 dfawm =iy
T w2 37 %1 foeme a2

A)TET B)ZIT CO)F™ D) =a« fi=T

32. When the LC gate is closed and the train is required to stop at the main line starter or loop line starter or
is required to pass through via loop line gate-cum-distant signal shows

A) Yellow B)Green C)Red D)Double Yellow

ST R 2 F% 2T SATAT £ 17 7 FT 6 AT2H F2157 A7 o9 ATeA #2187 G2 56T TZAT & 77 7 127 T2-
F9-fevde e & AT AT 2

A)H=T B)EYT C)AT@ D) A fieT

33.Calling-on signal may be provided below any stop signal expect

A) Starter B)Home C)LSS D)None of these

FIA-SAT fFrer Beft off =ty e F e mA s asar g sofe g
A) FTET B)EW  C)udTHTA D) T7H & FIE 78
34.Shunt signal detects the _ points

A) Facing B)Trailing C) Facing or Trailing D)AII the above

gz e gt st oaremar e

A)AHATFTATTETRIE  B) STHT

C) AWM FATIZE TR E AT TE AT T2T 8 D) T T4t

35. Gate signal in automatic section is identified by

A) Marker B)G Marker C)llluminated A Marker D)Both B&C

T HF4 | e e 1 wg=m feres grer 7 v 22

A)ATHT  B)STHER C) Wgx U ATHT D) #F 12 f 21

36. Even though departure signals are taken OFF. LP shall stop at stations where stoppages are scheduled in
the

A) SWR B) Operating Manual C) BWM D) WTT

ol & T e 77 F7 o T 2, verd} 39 wret g7 w4 gt =i freifa §



A)TETEHE B) TR ERaA O deequR D) Tl

37. Maximum speed of trains during dense fog in automatic block system is __ when aspect of signal ahead

is Caution

A)75  B) Restricted Speed )30 D)60

AT =t sy 1 O FT2Y F 2097 241 A1 afigay af _ Zre1 2.5 A0t B # Tee] /A
A)7S B) Il i €)30 )60

38. Whenever a signal which is detecting a point becomes defective, these points are treated as
Ajdefective B)trailing C)non interlocked D) KL points

STar 1 A A T T g TN AN TR B HI E7 A EL oA R AT Fw { AT g
A)yFmEeT By gt O) T TzmAtE D) FA €E

39. When Gate signal is at ON. the 1P shall wait  minutes by day/night and gate-man not available. LP

may pass the gate on the hand signals of ALP after ensuring that gate is closed
AYIT/2 BY2/1 €©)ys/710 Dy2id

E E R A I e M W A e I e P [ [ —— e YT #7977 A7 T=HT ZTed TAl 29T, 2 9%
& 7z Ao wvd % =272 v dT merdT F 2o i R e i A AT 2

A)1/2 B)2/1 O)5/10 Dy2/4

40. When LP passed the Gate signal at ON and gateman is not available. the LP of the first train shall
report the absence of the Gateman to the '

A) SCOR B) next SM C)PRC D) CCC

g frgasr . #ram .

A) TEETETEAT B) AT THIR ) et D) ST

41. Whenever color light signal is flickering/bobbing and does not pick up a steady aspect al least for
time, the signal shall be treated as defective

A)30Seconds B60Scconds C)90Seconds  1D)1240Seconds

AYI0FFET B)6DFET )90 HFE D) 240 HET

4218 signal will have facility



A)Telephone  B)Calling On  C)Both A & B. D)None of thé above
AT e & e 2rft
AR B)FRw A ) udw A I D) I § ¥ A a8

43. When IBS is at ON and the telephone is out of order. LP after waiting for _ minutes shall proceed at a
speed of _ kmph when view is clear/not clear up to next stop signal

A)5.20/10  B) Immediately, 20/10 C) 5. 15/08 D) immediately,15/08

4 IBS A1 21 37 AT avma 21, a1 LP_ e wfemr =7 5 ar_ S R s frafr d smrasmr o
F¢T TAY/AA 1T B T FI2 741 26

A)5,20/10 B)T4,20/10 C)5.15/08 D) T, 15/08

44. Under no circumstances should a train be backed over the points
A)Facing  B) Trailed through C)Trailing D)Non Interlocked

T off el Rafy # = Ti$e & qTe 2T ST AR

A) FTHAT  B) F WI0H F SHT  C) AT D) 77 Zzvamae

45. After exploding the detonator, the LP shall proceed cautiously up to a distance of and can pick- up
normal speed if there is no obstruction beyond that distance

A)l Km B) 15Km O)1.6 Km D)1.5 Km

Wwﬁ%wnﬁwﬁﬁ_ﬁﬁwﬁmﬁwﬁmw%aﬁwﬁﬁ
R FTS ATATA 2T

A) | Bt B) 15t C) 1.6 &t D) 1.5 fr
46. Signal warning board is located at a distance of meters in rear of a stop signal

A)I000  B)I1200 C)1400 D)2000

forrerer St 41 =t R F i dfew f 7 o R g 2
A)1000 B)1200 C€)1400 D)2000

47. All passenger carrying trains should run at .......... even under normal circumstances subject to
observance of permanent/temporary speed restrictions in force

A) Booked speed B) 10% less than MPS  C) 100 kmph D) MPS

AT wr /st TS wfaeEet F orefia wmrer ot Rafigt & ofr aret £ o sy arht e it
o, 9T FAAT TR

A) T =fte B)MPSH 10% FH C) 100 it wf¥sar D) uadiug
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4% On Double line class *B™ station Multiple Aspect Signalling statton section lies between to
signal in either dircction,

A} SLB-LSS (B) Home-LSS (C)YBSLB-LSS (D) BSLB-11OME

H

=g AT AT ET weere 97 HeAiTe werss fAerafenT see AT Bl ot fem A
BLrEEEIEREC O]
A:] _],;qll,r;['rri _“‘ra _1‘131 IFI BJ E?TII{- 53(?[ lq _l’xl (_) rj 7]_13'-] &lj _[_l;(;ITII] IT J:{ D) ﬁmw H _::‘:‘rq

49, When engine is pushing a train and Guard is travelling in brake van. which is leading. the speed shall
not exceed .......kmph. and Guard is not travelling in leading vehicle. the specd shall not exceed ... keph

AY25& 8 BI23& 10 O)a0& 15 DYIS&S

-

Sre FT I LAY X TET &7 AT IS A 59 H AT 47 T2 AL ST AN 4z TR ATAA L et ot =z
3 yrferE F97 200 o7 TS AT ATET | AT TR A TRT R A L oty ofer =2 31 wrfere =& #1tt
AY25HT S B)25ETI0 Cy403iT 15 Dy 157§

50. Last vehicle indicator during night shall be .

A) Red Mag B) red tail tamp light C) illuminated tail board D) any light

TTH F 2T ATAH FTET FEaF EET

A) AT HET B) ST 2 AT ATEE C) WAE T ATE D) 12 79T
51.In 30 loco. Auxitiary converter No.2 feeds ... motors

A) Traction motor blower-1 & 2 By Translonuer otl pump-1 & 2

C) SR Oil pump-1 & 2 ) All of the above

A) T Hrew w17 -1 72 B) IR 49 U9 -] ST 2

C) TRTEAT? 7 077 - | 7 2 D) 391 T
52 Maximum permissible speed of WAG-9 locois ... Kmph.

AY100 B30 OH140  Dy6o

WAG-9 T3 £ Aferwam s forft o =

AYLI00 B30 140 Dyled

3330 locois having ... number of auxiliary Converter (s).

A)l BY2 O D)4

JOAFIT ... TETFH AFATALT FoTas () 2
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A)l B)2 C)3 D)4

54.1f speed of the train is increased more than ...... loco MPS, emergency brake will apply in 30 loco.
A).5%  B)5% C)10% D)50%

A2 TATE B AT Ao £ e E 7 AferF 77T T AR 30 A F Tt i
A)0.5%  B)5%  C)10% . D)50%

55.In WAG-7or WAP-4, ............................ output is given to all TMs fields during RB.

A) RSI-1 B)RSI-2  C)Both RSI-1 & RSI-2  D)None of the above

WAG-7TIT WAP-4H, ... RB % S1777 532z 7+ T™M Fegasr 2y srar &

A) ATTHAE-1  B) AFTHAE-2  C) RSI-1 37 RSI-2 247 D) T H H TS T8

56 .30 loco is fitted with .............................. type of traction motors.

A ') 3 O AC Asynchronous squirrel B)TAO 659 cage induction motor

B) Hitachi D)Hitachi or TAO 659
BOFETH oo THTT il SFIH HIZT =907 21T 2
A) 3 O TH gegFfoE feredft B) EwEr 659 s vy 5=

C) FBart D) fBar=it a7 fim=i 659

57.Location of C2A relay valve in WAG-7 loco 27200 onwards & WAP-4 crew friendly cab locos is
e

A)Behind BA box no.3 B)Pneumatic panel C)Behind BA box no.1 D)Behind BA box no.4
WAG-7 AT 27200 1T 317 WAP-4 F Wl a1 $9 § C2A Frar qreq fr e L1
A) 0 T F92 3 F fR B) Irady e C)aCITEa'T"FTFiHT | Ffe D) atm dav 4 F g
58. Location of MVSL-2 in WAG-7 loco 27200 onwards is at ...............

A)HT-1 compartment B)HT-2 compartment C)HT-3 compartment D)None of the above
WAG-7 =TT 27200 S # MVSL-2 T #7 ....___. T 2

A) TET-| FFTERT B) TE1-2 FOEHzE C) U3 Frrsie D) 3ULIE § F FTE 787

59. QD-2 is connected between......and...... traction motors.

A)TM4 & TM6 B )TMS & TM6  C)TM4 & TMS D)None of the above

QD2 ...... dI¥ ... 3F9I W2H ¥ A9 J=Tgem 2

A Eima 4 dvdion e B)Sug sd@w A e ©) Hums e s D) 3921 § & Frg T8Y
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60. Total number of loco brake cvlinders in WAP-4 loco is...........

A B ¥ M2

WAP-4 FTET § AT 3% (27 FT 7 G210 2.
Ao 3)8 )4 D)2
61. Minimum FP pressure Should be ... .. Kg/ em2 in locomotive and .......... Kgiem?2 in rear SLR ot a

24 vehicles coaching.

A.0.58  B60.59  O)60.57 D056

AATH TFAT ZA1E ATREMAT H FATAHI2 7 .. AT 24 FTEAT F FI0ET F AT
TR § 21T AT

A6.0.5.8 B10.0.5.9 C).0.57 Dw.0.56
62.In conventional locos RGEB2 is connected on ............ Pipe line.

AP pipe B)Brake Pipe  C)Control pipe )AL the above

TR AT H AT TTZ ATTA 2T AT 2

AYTEF T BygF T CO)FEam Iy D) 399 AT

63. For lowering or for ratsing the pantograph in three stages ............... valve ts provided.
A)Panto servo motor - BYThrottle valve OBoth A& B DNone of the above
TETITF #1 AF FIO H A AT T T F A oo A F)

AT AT T Byglem A O usdr fAAT DYy T H A FIE T8

64. The.......... reservolr pressure is used for BA2 and BAS panels in WAGS loco.

Aycontrol reservoir  B)MR CIMR2Z DIMR4

WAGS AT H BA2 A7 BAS e & form fTEI’?‘FTr ST T S £

A) s sy BymH= | O)THHT 2 D) UHAT 4

65.In conventional locos, Air Drver is connected between ... & TeServoirs.

AMRIT . MR2Z BIMR2 . MR3  (CYMR3 . MR4 [D)None of the above

T AR H TR ¥4 4 AASETEETE &, [RE A
AYTHHATT |, TR 2 B) THST 2, THAW 3 C) THATT 3, UHA 4 D) 2T H A FTE A
66. Maximum ...kg/ cm2 of pressure will go to brake cylinders of each wagon, when BP drops to '0'.

A2 BRS5S OI18 DRB8
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Aferae ... B2 #1 7=r 5erE S Wi AT | 5| A0 7 F M s 8
A2 B)25 (C)1.8 D)38 .

67. Location of HQOP-2 in WAG-7 loco 27200 onwards iS.....c.ceune.

A)HT-1 BA-1 panel B)HT-2 compartment C)HT-3 BA-2 panel D)Switch panel

67. TEUS-7 AT 27200 FART § THFTAGT-2 FTEITE oo

A) T=ET-1 d10-1 T4+ B) T=E1-2 F#1eHe C) T=er-3 -2 §97 D) o= faer

68. In conventional locos............. pressure switch is provided on A9 control pipe line (related to AFL).
A)PI B)P2 C)RGCP  D)RGAF
T Al H,........ J97 FF= U9 F2reT G257 AT (TUFTS & FHET) I7 ITA= FATIT SAT4T 2

A)di i B)ft2 C)#Asfididt D) sesiurs
69. To by-pass the air dryer ... colour cut out cock to be closed and....colour cut out cock to be opened.

A)Red. Green  B)Green, Red C)Red. Red D)Green, Green

AT ZTHY FT ATSHTH 0 F o1 FALFE M FF I ATHLS MM oo, FeA? FE ATIE

AYHITE, 83T B)EILATA C)HTA. &9 D) &0, 897

70. In conventional locos. ........pipeline of A9 is not having any coc in both cabs.
A)MR pipe B)Control pipe C)BP pipe D )None of the above

T AT H, U9 FY L UTE9ETEA H A1 F4 H FTE HISAHT AR 2
A)THA 919 B) =gz ©) i 912w D) 3UIE A 7 F7E 78T

71. When ever cattle run over takes place, if BP dropped due to front side BP angle cut-off cock is broken .
the duty of LP is to maintain BP pressure is by closing ........................ coc.

A)MR-4 COCK B)Rear side addl. BP coc
C)Front side Addl. BP angle coc  D)Both side addl.BP cocs

ST T T9] T HT S STAT 8, A T FT AT AT U Fo2- S0 F 1 F FH107 A 147 {77 577 2, 77 et w7

FaAg g agd i FTaa@ I a o= 1.3 HT 3 FF |
A) THATT -4 FIF B) iz #1 dre srfafr fivfi s

C) |THA it AT AT T Hiire D) FHT q7% ATA =k AT H=ATHT

12. Toavoid ICD), minimom .......... o0 seemes kg/em2 of MR/RS pressure is required.

14



A6  BwS O D)5

AEHTETS & 7= & P epeaw Fraradt vwar A og 2373 i TR 2T 2
AY6.6 B6.S O D)5

73 Earth fault in Q 44 relay coil causes ... ... fuse to melt.

AYCCPT ByCCcn)  O)XCCBA MAddl. CCBA

() 44 T e | A9 FF2 F AP0 L P e AT 2

ayFEE ) AEEE oy FEET D)y whEtR s

74 Struck up of GR in full notehes during quick regression causes tripping of D) through ...
relay energisation.

AQ44 BYQ TR CrO 46 D)Q 48

e afrra £ e ool = A S w A frst 3ot 3 Ao o ST A1 f2f
A)Q44 B 118 CpQ 46 DQ AR

75 Forwedging .o relay in DJ Controt circuit. permission of TEC s necessary.

AQ44 B)Q 18 OQ45 Q46

T AR AR H Tt atsfar o o, doeredy £ i s

ANQ 44 B2 118 )45 D46

76. 1f relay Q 44 is wedged. the precautions for ... relay also to be observed along with Q 44 relay
precautions.

AN 43 By 118 OYQUVAR  D)None of the above
7% B Q 44 F1 A9 B0 SET 2, av e 3 form At @ 44 B aretat F arg g
TATAT 21 TR .

AYFIAS B)F[ 118 C)FAMEIUAT D) 3§ 7 A0E T21
77. While operating GR manually ..... equipment to be observed.

AWPHGR  B)RPGR O )CGR arc-chutes  D)RGR

T =T H ATAT FT AATAT F7d AT . ITHE R ATAFA 77 A1 A2
Ay st B) A disttae C) #0aw arh-=29 D) AT

78. Whenever DJ is tripped on notches GR comes to zero by relay.

A)O32  BIOST  O)Q46  DIQSO

w1 AT S 1 grET I o e smar & Ay v o gr A E L e
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A)FL52  B)¥51 C)F46  D)FI50

79.During RB, all traction motor fields are conneeted in----------

A)Parallel  B)Series C)Series-parallel D)None of the above

At 35 2T, w S e e e T A

A)THMET B)g@EdAr C) JEAT-AHEEGY D) U7 § F F1% A8

80. If CCBA is melting even HOBA is in OFF position ............ to be checked.

A)PANTO B)DJ C)CHBA D)LTBA

Tz e e 77 2 a1 off v S e F1 = AT AT 2
ATz BFS Ot D) v

81. Starting phase of ARNO is suppressed by...................... relay.

A)Q45 B)QCVAR Q30 D)Q44

ARNO FTYFTHF =797 ... =g ZaT 2 s 2

A)FL45 B)FHHTAT C)FL30 D) 44

82.WAG-9 or WAP-7 locos are having ..... number of dampers (in both primary and secondary suspension).
A)lo6 B)40 C)20 D)10

WAG-9 IT WAP-7 AT H ... F H=q1 St 8 T (A fEE i T feae 31 )
A)l6 B) 40 )20 D)0

83. To apply parking brakes in 30 dead loco. press. ........ side plunger of solenoid valve.

A) Left B) Right C) Any plunger D)None of the above

30 TT AT H AT 5 e F B L 9 HieTEe aTed F weeaT)
A) TFE B)TT2  C)FE Wiol¥ D) I & & FIE 451

84. While working with WAP-7 or WAG-9 with light load, if Harmonic filter is isolated, work with normal
speed after isolating ...............

A)Auxiliary converter-1 B)Traction converter-1 & 2 C)Auxiliary converter-2 D)Traction converter-|

Ze 917 % ATT WAP-7 A1 WAG-9 % 9T 19 #7d q84, 997 g%  [Feat e &, I=7 79 F 772
AT T F AT FTHF e

A) FEF FA9e7 -1 B) T T 97 -1 €2 C)FEAF F987 -2 D) THT F7967 -1
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85, In 30 loco, to isolate panto No. 2 keep panto sclector switch tn ... position and

close.........oo coc.

A) Auto . PAN-1 & 2 B)IL. PAN-1 O .PAN-2  Diloril.PAN-1or2

30 AR H T4] 97 2 Ff WEATAZ 0 F o 427 s fag e v L feafy =7

AFEL AT A2 B)ILTA- QLT DYy AT LT - AT
86. CMS 1s mimed to provide
A)Position of crew at HQ/OS B)Maintain stalus wisc records
C)PR.maintaining LR.PME details DAL of the abave

ﬁrqﬂ_‘;:{q,‘{'g%&?q I FAT S

A) TATAA/ATTH H AT 24 41 P B) fearfa & s B A v

C) Fraar, ez, fireg v g vmar D) T AdT

§7. Transmission in WDP4 D & WDP4 B locomative 15

AYAC - DC 13 AC - AC OYDC-DC DYDC - AC

WDP4 [ % WDP4 B ATRTHITET § 2T 2

AyTET-FET By T - T Oy ERfT- 2R D) I

88. Traction Inverters converts in HHP Loco?

A) DC power into 3 Ph AC power for variable frequency B AC power into 3Ph AC power
CyBoth A& B D) None of these

TS TGS UAUAY! ATH] H T AT BId 27

Ay TR s P 3 oo ek e # S e Ry e e 8 3 e e
Cy T T AT 2T D) =H & #2751

89. Traction Control Cahinet (TCC} consists of

A} Six Traction Computers. 6 DCL. switch gears

B) 6 IGBT based Inverters, DC link Capacitors and Crow bar circuit

CyBothA&B

[}y None of thése

FFIT Fare Fraae (TCC) H i &

17



A) FE TFIN Fg27, 6 SIS Ra=fie

B) 6 SESITATAT sy Teade, Y o Ffew s 77 aw affe
C) U 3 o7 TAT

D) = & FTE &

90.TCC converts during dynamic brake. In HHP Loco?

A) DC power into 3 phase AC power B) 3 phase AC power into DC power
C)Both A & B D) None of thése

St fa i o F 2o afvafda 21 9 81 va=dy S 0

A) STHT 97 13 Tl ot qaw & B) S0 amaw # 3 590r vefy e

C) 7 37 ot =T D) 8 7 FE T

91.WDG4 engine cylinders are cooled by

A) Water B) oil and water  C) super charged air and water D) air conditioning
WDG4 57 =7t & Z27 frar s 2

AT B) T ST 9T C) A9 =9 24T AT g D) a7 dterfHr
92. In the HHP locomotive, the air compressor is........

A) Aircooled B) Water cooled C) Qil cooled D) None of these

HHP ST &, 737 F997 ... 2raT 21

A)TIT Fme  B)ITHI 38T C)AX 5T D) =90 F 1S 75}

93.In WDP4/WDG#4 loco choking of fuel oil primary filter is indicated by

A) Filter condition gauge. ~ B) Oil visibility in bye pass sight glass.

C)Both A& B D) Oil visibility in sight glass near to engine Block
WDP4/WDG4 5 & W sfiaet qrzwt e w7 1 s grer aafar sar &2
A) ez feafa =0 B) araame 32 % & &+ gogan

C) T 7 &1 FHT D) S ¥ 919 318 &9 § 9o goaar @< 47

94. Total nos of cell of Batteries in WDP4 Loco (Ni-Cadmium type)

A) 32 B)50 C)64 D)None of these

WDP4 w11 (-2 o w1e) § J247 ¥ F5e gy
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A)32 B)SO )64 D) TIH I TE
93, How many ‘Traction Motors in WDP4 Locos

A)06 B4 ()08 D)None of these

WDP4 =TT # T X799 wree #
A6 BI04 108 DIEAH T FT AT
96.In WDP4 Locos Traction Motor fitted on

AYAxlesno 1. 2& 5.6 DB)All Axles ) Axlesno l. 2 & 3.4 D) None of these

WP H ATHT $F AT =307 217 2

AT AT 1 2075, 6 By mRrA C) qf e 1.2 607 3.4 D) =Ad A A1 A8
97. In WDG4 Locos RADAR s located

A) Between Rear bogie & Fuel tank B} Engine room

) Between Front bogie & Fuel tank D) None of these

WDG4 AR TE H F99 2

mTarari s Iga FF 4= B Tad %4

Cywz anfl & P 28 F 419 D) A4 F F1E AR

98.Dead engine cut-oft cock & C3W Distributor valve in WDP4/WDG4 Locos are located in
A) Nose compartment B Driver Cabin - C) Engine compartment D) Radiator compartment
WDP4/WDGA AT H 7 T3 F- 3 B 517 C3W FEadisgzy amear 4 g 2t 2
AYATE &1 fedr By "1 Ftaq O)iom B=a D) 7REmer t=x

99. How many braking position of A-9 valve have. )

A) 05 breaking position  B) (4 breaking position )03 breaking position D} 01 breaking position
A-9 FTe=T Fr Tt I IS 2

A) 05 AT TSTa B) 04 37 AIsfier ) 03 #fFr Fsita D) 01 Jf&#7 Frsiierd

100. In WDP4/WDG4 if GR (power) trips continuously three times within 10 minutes

A)Y Truck isolation is to be done B} Defective TM is Lo be isolated

) Defective speed sensor is to be isolated D) Fail the Loco

WDP4/WDG4 § &7 GR (7f37) 10 Tame & e semae fi9 37 Ga #ar g
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A) ZF TR 3T ST 2 B) a1t 09 FT 37T Ay AT
C) OS] T H=F T 09 FATAATE D) AT FT 5 59
101.No. of Brake blocks in HHP Locos

A)24 B)I2  C)08 None of these

T AT H A S

A)24  B)12  C)08 D)=AH T FTE TH

102. MR Pressure dropping on run due to

A) Air dryer defective . B) Auto drain valve malfunctioning
C) Break cylinder pipe damaged D) All of above

A T THHAT FT Z47F A7 T2

A) TI7 T Ff B) &l ATAT AT it =TT
C) afaued Afesr arer fFrazar D) 379 a+fi

103.The clearance between brake block and wheel tyre should be ....... mm in release position of loco
brakes.

A)10 B)S O)15 D)20

A =1 AT =a o TIAT F AT FAAE . .mm BT AR A 3 A Rrefier fRafy )

A)10 B)S C)I5 D)0

104. In conventional locos proportional working pressure \;'ith A9is .....kg/cm2 .

A)2 B)2.5 C)1.8 D)3.5

TR ST H A9 F AT F1H F0 HT THIEL A oo kg/cm2 21T 21

A2 B)25 C)1.8 D)35

105.Sensitivity of distributor valve is reduction of....Kg/cm2 amount of BP pressure with in ....seconds.
A)0.6, 6 B)0.3,6  (C)0.6.3 D)0.3. 60

ferfteqey atea At daasfierar ... B2 it Sor £ qmm &= § 79 2 o 2

A)0.6,6 B)0.3.6 ()0.6,3 D)0.3,60

106.Normally ............... colour cocs to be kept open and.................. colour coc to be kept closed of air dryer.

A)Red , Green B)Green,Red C)Red, Red D)Green . Green
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AT ... T A T G T TA R aff frdreft oo s A AT Ty
F form)

A)STE, 85T B) &1, @1 C) AT, AT D) &7, &7

107. During BP pressure leakage in formation, ...... lamp glows in signaling panel.
A)LSDJ B)LSP C)LSAF D)LSB

AT Srore e F Rt L B T | A ST 21

A) THUAENS  B) TAUATT C) UMUAUUE D) Ut

108. While working with MU, If CHBA is failed in trailing loco ...... & ... lamps will glow in leading
loco.

A)LSCHBA & LSGRPT B)LSGRPT & LSOL C)LSOL & I.SCHBA  D)None of the above

TR ¥ AT FTH 74 999, T2 A= S § e g sar g & L ST STATHT
ST ATT H FHEAT

A) TATHHTET 37 TATESIAT S B) UAmesiseid] 7 maua=mea

C) TATEAT ST TeATHT=ATT D) I § & F1E 7L
109.In conventional locos, when VCD is acted, .................. ..........actions will take place.

A)Auto regression and BP drops  B)DJ trips  C)Panto lowers  D)None of the above

'15'17 e ':i ':fT ﬁ-.ﬁélqlalﬁm_& ............................................... EI-IJEII.-,QJ |
A)#iE e S At fear g BYSSrammd ©) §arsew D) 3w A & FE A8
110. If Q52 is permanently energised, crew experiences ........... traction failure.

A) TLTE with LSB  B)TLTE without LSB  C)Augo regression with LSP  D)None of the above
afE Q52 =rrft =7 7 AT &, T TTAF 3 ........ T AFeAT 7 A9 F7a7 21

A) THURAT F A AU B) uewEdt F faar fuadd

C) TATHAT F 7T A2t s D) I § A FE TE
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F.CO. RAILWAY 7ot 7= Yeld

SAMBALPUR DIVISION HIaYR Had
Selection for the Post of Chief Loco Inspector in Level-7 of pay matrix in Electrical OP Department

ﬁm%ﬁmﬁﬁﬁﬁw%ﬁaﬁ ¥ T T XU & Ug & oy =0

WHY 'ime: 2hrs. Max. Marks: HEYFTH 3T 100
Instruetions to Candidates: SENGAR &1 g™
1. Read the questions carefully and answer. ui BT g U%' IR IT A

2. Candidates should not write their name & roll number in any portion of the answer book or Question paper

other than the flvleal, ITRYFETHT I Uy F oot oft g 1 weniSelih & @TdT S T SR 3 AaR 7
ferd |

3. All answers shall be written in OMR sheet. Blue’ black ball point pen should be used for answering in OMR
answer sheet YT IR MU gfte I forg Snedl) SlUHaM IR W H I g & forg i aia o1
WS UF B O & |

4, Usage of Cell phones, Calentators & other Flectronic gadzets inside the examination hall nat Permitted.
THET BT & e U B, $APT 3R I SHATID 7T & Iumiv & S0 A1 2

5o Any discrepancies in Hindi Translation. English version is final.

) sigares e ft faggafomi, st dwpvor ifa €

6. There shall be negative marking for incorrect answers. |-3(one third) of the marks allotied for cach guestion

will be deducted Tor wrong answers.
Ted 391 & (o0 TSRS 3= 51| Uld Uy F [0 smafes ofei &7 15 (0 fae7s) mara I & g
CaEREHEIN

7. There are V0 questions with four answer options and candidate has to answer a maximunt of 10O questions,

cach question will carry 01 mark.

TR I [GHdl & Y 110 TY & 3R IHICaR FT 3feaH 100 T4 &1 IR o1 §. TAF TY 01 3% &7
BT

8. In case the candidate answers more than 100 guestion. First answered 100 questions will be taken in to

account for evaluation.

gfe Iufiear 100 ¥ 2fU® usl &7 IO a1 3. W IR 9 100 sl &1 gedieH & [ e F
SITET

9. Over writing.cutting .erasing or alteration of any tvpe will be treated as invalid answer and zero mark will be
given for it.

foreft ot g & e rsfe. wfdn. firer oy uftada o s IR /A ST iR 59 T g i
feam e

10, Candidates are notl allowed te leave their seats within one hour of commencement of examination and

should deposit answer sheet and question paper supplied to him/er betore leaving the examination hall .

Frfteart &1 ufien TF €9 % 0 Ue & Naw o e Bisy B srufa T2 § 3R 3= wden gl 9rsa
Y Ugd I 1T IR YR 3FR Uy T STHT e ARy



Choose the Correct Answer Tt 9 &l WW

[. Into how many regions Indian states have been claséiﬁcd, according to official language act?
A)l B)2 ()3 D)4
TISTATOT ATATHTH F Ao AT AT F e ST F nfiE G
Al B)2 O3 D)4

2. Which is the elementary Hindi course prescribed for Central Govt. emplovees?
A)Prabodh  B) Praveen  C)Pragya D) Parangat

F7 ATET FHATAT 7 o it yrafas BS vemm amar 20

A) TATY  B) TETT C)WET D) gAY

3. Why training in Hindi is imparted to Central Government Officers’Employees ?

A) By which they can speak with officers ~ B) By which they can do their day-to-day work in Hindi.
C) By which they can speak with colleague  D)None of the above

F% AT F AT AT A f2ET # uforarr = Ry ST 29

A) Ta g afesfi g am a9 B) 5@ T gmaT Trwe T FT FW B H v oo

C) oo 7 az#dt F ar %7 7% D) 3T | 7 F1E T8I

4. In which order Rubber Stamps are to be prepared?

A) Bilingual from-one line English and one line Hindi ~ B) Bilingual from-one line Hindi and one line English
C) Regional language D) Regional Language. Hindi. English

TaE FT AR 57 #9 F Fa £ 9 80

A) TF AT FS0 A7 vF Az BR A Ferfy B) v wvea BF o vF Az o0 F Fard
SEEIRE L D) &= wrar. 247, Fash

5. In which order the forms used by public are to be prepared

A) 1. Regional Language 2. Hindi and 3. English B) 1. Hindi 2. English and 3. Regional Language
C) I. English 2. Hindi and 3. Regional Language D) None of these

{5 7 § ST 21T 3T f e AT v A e e E

A) 1. gt w2, B4 & 3. s B) 1. T4 2. 33t & 3. &rfrr sy
C) 1. =3t 2. Bt sftw 3. arsfir wmm D) E7H & FT% TET

6. How many members are there in the committee of parliamentary on official Language?
A)21 B)25 C)27 D)30



A2l B)23 Ry )30

7. Who is the chairman of central Hindi Committee?

A) Prime Minisler B) Home Minister C} President of India D) Yice President

A) TT 3T B)TTE AT ) arA # gty Dy TTTETHT

8. What is the scheme implemented by Railway Board for doing work in Hindi?

A) Rajbhasha individual cash award scheme 13) Rajbhasha group cash award scheme
) Rajbhasha Samman award scheme Dy None ol these

) ITFATIT PR 73 ToFD7 AT AT F7) T g7 S T Al

C) TTSAATHT HIATA [P +E17 JTHA] 1) TR T AL TR
9. Hindi Day is celebrated in Indid on....oevery vear.
A) 10th Januars 3y 26th Januars ) 13th August By T4l Septemiber

AY 10 T3 B) 26 FTAIT C) 15 7= D) 14 =

10.Tn which article of the constitution of India Hindi has been declared as Otficial Language?

A) Article 120 By Article 210 C) Article 343 1) Article 331

AT F HAET F 9 gz 7 487 w7 v =i G 30

A) FT=57 120 By F =22 210 C) #9727 343 D) AT=27 351
I'l.How many days of LHAP in a year, can be credited to an emplovee?

A) 30 davs By 10 days C) 20 davs ‘[)] 12 davs

Ay30fRF B} 10 & Cy20 T Dy 12 fam

12, What is the maximum limit of Leave not due that may be granted to 4 permanent Rlv. Servant during his
entire service period?

A)Y 360 days B} 380 days C) Unlimited ) 300 davs
A) 360 i B} 380 7= Cy sreTE D) 300 &

13. Commuted leave is admissible on



A) Medical Certificate B) Request of an employee  C) Discretion of competent authority D) None
T EYTAT STaarer =g 2

A) gfEs= afefrs= B) T FHAT FT o709 C) T94H TTEFTT 7 a9 D) FT< 72T

14. A Réilway shall be granted leave of any kind for a continuous period of not exceeding......

A) 3 Years B) 4 years C) 5 years D) 6 vears

A)3 AT B) 4 7T C) 5 @TeT D) 6 AT

15. For miscarriage, including abortion, what period of Maternity leave may be granted?

A) 6 weeks B) 45 days C) 7 weeks D) 43 days

T FEA T F o wrge srrer £ FRAAT water &7 97 AT 20

A) 6 THTE B)45 & C)79HTE D) 43 fa=

16. Maximum validity for a Privilege Pass?

A) 3 months (Half-set) B) 4 months (Full-set) C) 2 months (Half-set) D) 5 months (Full-set)
ffaers T F o sfasas auar?
A) 3 T2 (ETH-H7) B) 4 T (F71-72) C) 2 FEIT (ATUT A7) D) 5 7EA (T 52)

17. Privilege issued Pass/P.T.Os. are admissible when a staff is on

A) Any Kind of leave. B) Only extra ordinary leave.  C) Only study leave. D) Only special disabilitv leave.

fasrrferTe FTfY TP T.0. TF FHEET =1 21 7 = 2

A) faT off 772 F1 Z2h B) FAH AT B2
C) F37 F<TTT ATH197| D) Fa< a9 et sra=ren

18.Split Passes are issued to which Railway Servant?

A) Only Group A’ service  B) All Officers C) All Railway Servants (A, B, C & D) D) Only GM/AGM
Forerz T P Yer T T S P 0

A)FAA 7T FAT B) A AT ©) wft verd wEETY (0, A, A @ €) D) Fae sy vy

19. How many sets of School Pass issued to Railway employee?

A) 6 sets per year. B) 4 sets per year. C)5 sets per year D) 3 sets per year.

TS FHATI HT T TIH F [ 72 Fe7 (o0 T2

ATFTT ez B)ygfFatadz O wFaTsae D) Wi a7 3 72|



200 When a Riv. Einplovee placed under suspension but only a mmaor penalty is nuposed. the mreatment of the
suspension period is as

A) THes non B) Non duty C) Duly D) None

w1 T Ry, FHTT AT FeEA F To wAT & i e o wAT S AT A7 2. e aata £

AT |7 AT E 13) % w4 C) A D) *17 7F
21 Punishment norms dealt as per

A} Rule No.3 B) Rule No. 6 C) Rule No. [ [y None of the above

4T TS F AAA HUETET AT

A) Fr 5 s By EET e C) Maw e 1 D) 379§ T FE 77
22 Appointing authority in relation 1o a Railway Servant means:

AYan authority who actually appointed him

13y equal or ligher authority empowered 10 make up.puinnncrm Lo the post

Cyany other authority

13y a&b only

A FAE Ay § et wrfaert oy ad 2

[ o

Ay TF Tt S A J 2w e e e

B) 7% 77 FTes o & o wferg e o Tt

C) 1% &= e

D) e T S AT

23. While holding enquiry. who have o [ix the date. time & venue and inform the Charged emplovee:
A} inquiry officer B) Nisciplinary guthority

C) presenting officer D) Confidential section of the dept

TZATE F74 A0, 6T 3, 770 o wqre it e 2 e s s8=d 57 g 3941 &

A) T ATEET B) A9TTFATHE TIF1T
Cy W AAFAT ATSFIT D) foramT #71 TrrT JaT

24, GST is calculated on

A Basic cost of the material B) Basic cost of the material & packing charges
3) Basic cost of the raw material. D) Rasic cost of the material + forwarding charges ! freight charges
ST i o A AT R
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A) FTHAT ¥ o1 AT B)ﬂmﬁanﬂrﬁmmﬁfrq—-rw

C) 7 AT #l A AT D) #TEAT FF H AR + SFIGT 975 ~ T FATS SoF

25. The detailed distribution of budget allotment made to railway administrations is contained in :
A) Yellow book B) Green book C) Pink Book D) White Paper

A) T TF B)img®s O)fFfFgF D)yaaT
26.Except signal, the calling ON signal can be placed below any stop signal.
A)FSS B) LSS C) Starter D) Calling on

A) THUHTH B) TR C) =127 D) it
27. Calling ON signal will show ~light in “ON" position.
A) Red B) Green C) White D) No

T AT A= _ ETEE F S st #

A) AT B)g7T  C)#¥g D) &t

28. Shunt signal protects

A)Points B) Track C) Signal D) None

sz i ¥ #Ft 74T F7AT 2

A) 5F B) &F C) e D) #T% 73l

29. When Shunting Permitted Indicator is defective, is the authority for the LP.
A) T/369 3(b)+PHS B)T/409 C)T/512 D) PHS

A)T/369 3(b)-PHS B)T/409 O)T/512 D) PHS

30. On double line after the arrival the stopping train, the point’s will be set against the

A) Front, rear, mainline B) front, rear, loop line  C)Rear, line train occupied D) none of the above

T ATSA T¥ T2 2 A9 F J12. 9122 F7 ¥ =g F fFa strowm)

A) #z, frre, meemzT B) %z, a7, 97 Az
C) fTe, AT 29 FelT F7 o AT D) 37916 | 7 F1% 9a1

31. To receive a stopping train on loop line having sand hump or buffer stop, the points must be set for
only.




A) Main line [3) sand hump Cy None ol the above MAE&B

T FAET AT TFT AT ATAT T ATZA T7 w0 s e we ¥ B gty wrdEa o Ffam
2 [T 74T AT

A) HF =TT B) 77 T38 C) 30 | I &S 95T Dy AT B

32 During powerblock rgins are only permitied Lo run.

A) Passenger B Goods ) Sub-Urban D) [iesel

Ay AT B) FTHTA C) TT-aZ DEER

33.In normal position side lights of BY shall show ........ light towards rearand ........ light towards engine
ARed & white By white & white CyNo & white D) None

arTr Rt m A A Frarrzamed e drar ke AT FT A7 wEreT FEeiET

AVETH S FFE B) AR G AT Oy FE AT wEE 1) T TE

24 From the time ol disconnection to re connection. the trains shall be admitted by method.
A) Piloting B Tuking of reception signals C)A&DB I3 none of the above

o - = e S Ly - £

e & A0S F ST =497 7, 737 FT e g s fr [

A} TraetET B)FFem e Oy AT D} TH71F § T F75 T71

35, Whenever a signal which is detecting a point becomes defective,  these points are mreated  as

A) Working B) defective C) clamped [} padlocked

INELER B) Tl () T D) frer+

36. On DL when LSS is detective s the authority to start a train,

A)PLCT B) raking off Shunt signal C) Taking of Co acting signal D} none ol the above
FTH T7 G TATHTH I AT £ A7 29 FATS T AfAw gEr

A) Troerfidy B) ¥ f3rrer w47 C) ¥ o T 7T D) TT9TF 7 7 F1Z T2

37. Whenever eolour light signal is flickering / bobbing and does not pickup a steady aspect at least for
time, the signal shall be treated as defective.

AY60 seconds BY [20 seconds ) 180 seconds D) none of the above

e W Fe Az e T ATz AT E S I m A F | quw F A v Rare wee A f AT 2L AT
THE %1 Zragol §797 F707|



A) 60 FF= B) 120FFT () 180 79 D) IT7IF | 7 FT T2f

38. Signal warning board is located at a distance of ____meters before a stop signal.

A) 2500 meters B) 1000 meters  C) 1400 meters D) none of the above

Rt et v ==t P e e A gfvow R amT

A) 2500 HTz7 B) 1000 HZF  C) 1400 #=F D) T8 F FIE 721

39. When a signal is newly erected or shifted. it shall be jointly inspected by

A) SLTI &LI B) PWI TI&SI  C) PWI.TI&LI D) none of the above

7 FrE e 797 FAy a1 sqmrAteT Gy s &, 1 o G g1 = FTeT f3FT T

A) T, B s e B) ey, fraré s v
C) Freseqars, Fars i werars D) 3T & & 78 T

40. When [B distant fails in “OFF” position is the authority for trains before dispatching.
A) Taking off Shunt signal B) PLCT+T/369.3(b)

C) Taking of Co acting signal D) none of the above

EE I IR A (AR 2 R S ke ic o 5 - | (O % form aegqme 31 gt 2T % form arfer 2
A) o= et 7 g2 B) e T+ £1/369.3(3T)

C) Hg AT FH7 =7 D) TTTF & 7 FI< T21

41. Inner Distant signal is identified by

A) ID Marker  B) IB marker C) P marker D) none

a7 ez e i me=me ZTT Fit SATeAT 2

A) FTESTATHET B) ArEAT qTHT C) 9T ATET D) F1E 71
42.0DC wagon trains shall as far as possible be rccui\:ed ON--======= line

A) Loop Line  B)Main Line  C) Common Loop D) none
EIEIL D s B Pl T o - ) — TS I7 9TH FT ST

A) T ATEA B) # ATET C) FiHd 7T D) #1% T2t

43. Engine pushing is not pefmitted without the prior permission of ----- -—-

A) Guard B) LI C) Rear Station Master D) none
----- F & srquta F f&ar d5 1fohn £ semfa 78 &
A)TTE B) TS C) frare w9 AT D) FT< 751

44. Goods train without guard shall have last brake cylinders in working condition.

8



A)S B} 7 )12 ) none ef the above

AT wE A AT E fUwd Fw (AT smwes iy el d 2

A) 3 B)7 )12 1) T T FE A
43, When non-CC rake train is stabled for more than - hours fresh BPC is required.
Ay R2 B) 24 Cyi2 [} none of the above
sy ir AT = =T = 3 wfrw F B ey By s £ AT AT F Al £ e A e
A) 52 13) 24 )12 1) T=E T AT AT
16. A goods train having 36 wagons. the BP pressure in engine shatl be andin BV
AY30 Keem?2 -4.8 kg'em?2 BBY3.2 kp.'em? -5.0 kg'em2
)53 Kgsem2 -4.6 kg'om? ) none of the above
S6 AT ATAT U WAL S WA T Ay #aErm
A)Y S0 Kesem2 <48 ke'em?2 By32 Keoom? -5.0 kgem?2
C) 5.3 Keoem2 06 ke em? ) TAH 7 =12 TET
47. When SM * Station stalf does not exchange “all-right™ signals, the £EP shall give  engine whistle
code.
A) Two long B two long. one short Cy Two shont [} one of the above

ST ETR [ T FHATT W7o e 7 AET-aET T8 AT 6. A e TEE AT FT A

A) = AT B} =T =T, TE wTE CyET 2T DYy T § 77 375 57

48. Even though FSS is in OFF position. still if a LP ol an incoming train stops at FSS and gives - 0 - 0 engine
whistle it indicates

A) lrain stalled  B)Y Train arrived incomplete ) Train running lale D) none of the above

it A1 FSS A Foaf & 2. P 467 /T 9y Ao 5 A L FSS 7 A £ - 0 - 0 57 8 e E A
AV ZAZTEIT, BT AT ) ZA T T Iq 751 2 D) THH 7 F1E AFT

49. For shunting purpose o _and ~ signals are not to be used.

A) starter, Warner, distane  B) outer. home LSS ) Calling on, co-acting. distant 13y none of the above
A) =TT, AW, 37 BYATEI, A, merans Oy FAT A AL R D) IR A AT AR

30. During TSL working. the speed of first train shallbe — kmph,

Ay25 Byx )15 ) none of the above



e

3=
ZITHTA F FTH I F 2100, TEAT A 1A falt oy w2 et

A)25 B)50 C)15 D) TUE & 7 St
51.In 30 dead loco, ....... coc should be open for charging BP pressure into auxiliary reservoir.
A)70 B) 47 C) 74 D) 136

30 TTATETH Aft zama 71 TETE frogvaw § =19 Fv 7 o ofvsiedt age ST e

A) 70 B) 47 C) 74 - D) 136
52. To perform shunting with 30 loco, keep .......... switchin .......... position.
A)154:0 B)154 : 1 C)160:0 D) 160 : 1

3O AR F AT AT Fe F oL Ra= .. Rafar |
A)154:0 B)154: 1 C)160:0 D) 160 : |

53.While energizing 30 loco. if UBA meter is showing “0™ and corridor lights also not glowing .check MCBs
NO i,

A) 100,110 B) 110,112 Cyir2, 12l D) 100.112.1

A) 100.110 B) 110,112 C) 112.112.1 D) 100,112.1

54, In 3@ loco. Battery charger output MCB No. is .......... and its location isat...............
A) 110: SBI B) 110 : SB2 C) 100 : HBI D) 100 : HB

30 FATET H, FZIT AT A3 THATHT AT L. EIESLE 201 FORRRSR
A)110:SBI B) 110:5B2 C) 100 ;: HBI D) 100 : HB

55. In 30 loco, Constant speed control (CSC) will be de-activated automatically if BP pressure drops (with or
without A9) more than ........... Kg/em2 . a

A) 1 B) 1.5 C)0.25 D) 0.6
30 AETH, AT T (T F AT AT EAT) /A 7 wfers 2ra o A wifa o (+fioa)
Tt = & fAftwT g s

A)l B) 1.5 C)0.25 D) 0.6

56 .When ZTEL is switched ON Tractive Effort( TE) is limited to ....... KN in WAG-9.

A)08to 1.5 B) 300 C) 150 D) 458

9 ZTEL ¥t 3f¥=a %2 (TE) 77 Fa= fFar 9mar 2, 771 98 WAG-9 &...... Fe 7= #1f3a gar 21
A)0.8to 1.5 B) 300 C) 150 D) 458

57.In 30 loco, If ZBAN is switched ON in working cab. ............ccooveviiiinnnne Happens.
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A) BP pressure drops to 07

B) FP pressure drops to ~0°
() BC pressure raises to 3.5 kg/em?2

D) None of the above
30 =TT H. AT ZRAN F1 =1 7 H =0 AT AT 2 AT .

A) FTET =3 ) AF T AT E B) AT ATy 0 AF [ AT E
C)B(‘WWS.Skguni?}?Fﬁ% D]?T-;F}Tiiff’«%‘?;'ﬁ
38, A0 loceishaving oo no. ot three phase ﬁuxiiiur; maoLors.
A) L6 oo B2z Cyi2 ™13
SOFTEIH 7 AT o AR 7T A
Aple6 By22 iz Dy15
39.In .

... uradient arca and terminal goods vards Constant speed contral (CSCY 0f 30 leco should not
be used.

Alp B) Down Cy Unduluting D) None of these

............ T mhoT S e e AT | 50 e T e o e (o) 71 T Al
ATAT ATTZT
As] q7 B} 13

Oy =TT 1) ZTH T FTLTH
60. In 3 O loco pulential transformer is connected to

...... roof bar.
A) Middle B) Panto-1 ) Panto-2 ) None of the above
3O | AR TS TR

...... =F AT7 7 qET 21T F

A)TET ByFEr -t O D) 37T | 7 L AL
61, En 30 loco, 5S-10 belongsto ... .. sub system.

A) Cab-2

B) Fire detection ) Memotel (Speedomcter)

) Processor FLG-1
30 AT H. $8-16

A) FA 2 By W51 #] TAT&NTAT ) WATAA (THIETHI77) D) T TETAAL- |
62, In 30 laco. $S-05 belongsto ... sub system.

AY [armonic filter B) Hotel load C) Brake system

) Fire detection
30 T T, THH-05 s I3 Tz 7 w3faa 2
A)ETH A Thees

B) #1777 T2 C)IF T D)y 313 FT 037 AT
63. 1n 30 loco. when parking brakes are applied. parking brake gauge shows ...

A} 0 Kglcm2 By Kgfem2

2 ) 3.3 Kg/em?2 Dy 6 Kgfem2
30 ST . T T FE A A E, A 9 i

......... AT T
11



N ERIGEE BM fmAd2  ©) 3.5 A D) 6 fFm/adm2

64. When BPEMS is pressed, ........... actions will take place.

A) DI trips B) Panto lowers C) BP drops D) All the above

57 ATTETHTH =T AT 2, AT o 2T

AFs e B FEoraE o) frfrziw D) T At

63. In 30 loco. location of MCP-1 is

A) In machine room No. | B) In machine room No.2

B) Below machine room No.2 D) Below machine room No. |

3O FATETH, MCP-1 FTFITT oo AT R

A)FfiT=gda7 | # Bymsfim = dav 2 #

C) wofia =9 Fav 2 F 419 D) 7 =9 797 | F =

66. In 30 loco. location of Fire detection unit (FDU) is

A) SB-1 B) SB-2 C) HB-2

D)Panel
30 ¥ H, w7 RFewem g (e Fr e L B
A) THHT- B) -2 C) T=HT-2 D) e
67. In proportional working. maximum brake cylinder pressure in WAG-9 locois .............. kg/em2
A) 1.8 kg/em2 B) 2.5 kg/em2 C) 3.5 kg/em2 D) 5 kg/em2
AT AT 7, WAG-9 #THT § Afersas a0 fersw zama ..., famT A 2
A) 1.8 TR B)2.s@Fmad2 ) 3.5 Fram D) 5 fmAdn
68. In WAG-5, ............ out put is given to all TMs fields during RB.
A) RSI-1 B) RSI-2 C) Both RS}-I & RSI-2 D) None of the above
WAG-5 3, oo ATZ2TZ RB F 27 791 TM Freger &7 e sirar 2
A) ATUFAE-1  B) ATHHATE-2  C) RSI-1 37 RSI-2 FHT D) ITEF | § F1E A%T
69. After closing DJ. ............ protects main transformer against surge voltage.
A) ETTFP-1 B)ET-2 C) ET-1 D) ETTFP-2
AT FTAFAE. ... = TTHFIHT FT 7] Gloes F a=7aT 2

A) ETTFP-1 B) ET-2 C) ET-1 D) ETTFP-2

70.Location of C2B relay valve in WAG-5.WAM4 & WAG7 (up to 27199) is at

A) In between MR-] & MR-2 B) In between MR-3 & MR-4

12



) In between MR-2 & MR-3 D Preumatic pane!

WAG-5. WAMA 37 WAGT (27199 7F) H C2B Frer area w1 #m9 ... TF
AYMR-1 v MR2 FA=H B) MR-3 &7 MR-4 F 419 7
() MR-2 &7 MR-3 F 3 D) =EteE 77

71, Location of MVSL-T in WAG-5, WAMS & WAGT tup to 27199y isat ...
Ay HT-2 compartment 13) 1I7-2 compartment towards corridor-2 towards corridor-]
CYHT-I compartiment D) HI-1 compartment towards corridor-2 towards corridor-1

WAG-5. WAML 37 WAGT (27199 TF) 8 MVSL-1 F77979 ...... S

A) TR FEqTAds Ry -0 dTERT -2 £ G w1 A
C) =AY FETEEE 1) T | e R A S w R o S
72, In conventional locas, ... reservoir pressure is used for horns

A MRI B) MR2 Cy MRS [y MR4

e w L = T L frtEe G 47 ST ST AT B

A)THHT | RByTHHAT 2 ) UFATA IBMRIEE e

73. Location ot line contactors in WAG-S WAM-4 & WAG-Tup to 27199 locos isat ...
A)HT-1 BA-1 pancl B3y 1T-3 BA-2 panel  C) [HT-3 BA-3 panel -3 BA-4 pancl
WAG-S. WAM-1 57 WAG-7 (27199 T 747 § #1e FTermed #1309 . 7

AVTEEL L S A By reAL AT e ) mEA-3 #T-3 e 1)} TAT-3 ATred A

74. Location of A-8 COC in WAG-7 loco above 27200 0s ...

A In cab- [ below A-9 B) Preumatic panel  C)ln cab-2 below A-9 D) None of the above
27200 5T WAG-7 ATHTH A-§ COC FT 777 S z

AMFLIFASTFT  pyP@EEETT OASFTFFI2H 1)) 27T & 7S AR
75. In conventional locos, CP Individual safety valve setting is ............ kg/em2 |

A)S By11.5 Oy D) 9.5

et ArEy §, ST s A AR A L a2 21

Al Byll.5 Cyil Dy 9.5

76. Location ol HOOP-1 in WAG-7 loce 27200 onwards is ...,

A) HT-1 BA-T panel By HT-3 BA-3 panel  C) HT-3 BA-2 panel 7} Switch panel
TETTS]-7 ATET 27200 7 AT TR | A iy z

13
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A)TEL AL B B) A A e Q) s A feper D) R drer

77. A-8 cut out cock position is............... in MU Iéé&iﬁg’TﬁE&;nd .................... in MU trailing loco.
A) Open. Close B) Open. Open C) Close. Close D) Close. Open

-8 iz AT i At Pl may et S A L galiv ... T T AT

A) @, AT F B) @I @rel C)FZF3, FT 77 D) &2 ¥, =@t

78. In conventional locos SS-1 safety valve setting..... Kg/em2 .

A) 8.5 B)9 C) 10.5 D)8

A)8.5 B)9 C) 105 D)8
79. When additional BP cut out cock is closed on formation side. ............ pressure will not charge in to the
formation.
A) BP B) FP C) MR D) All the above
5 AT AT FE AT F A AT AT AT AT JIT7 FIHAT # =TT T2 20m)
A) FfT B) Tt C) THHTT D) TI7TF 9T
80. When ever cattle run over takes place, after clearing the block section. the LP has to check
........................ voltage.
A) OHE voltage B) Battery voltage C) Charger voltage D) None
ST T T T WA FAT B, T T B ATE T F AR AR A Areas £ I FAT
EEikA
A) ITEE AR B) $=F aresw C) IS qreae D) FTE 7T
81. Relay Q 118 iscalled as ..........cooouveeeeeereenseesieen oo, relay.
A) GR half notch protection relay = B) Auxiliaries protection relay
B) GR full notch protection relay D) DJ protection relay
e D T SRR = Fgr AT 21
A) ST SreT T AT e B) =TI T frer
C) ST B A= Freore frer D) Et5r gz fray
82. Earth fault in Q 45 relay coil causes .........ovvovn.n.... fuse to melt.
A) CCBA B) CCDI C) CCPT D) Addl. CCBA
QasTarFead srd FlezF o .. T e Jrar 2
A)CCBA B) CCDJ C) CCPT D) Addl. CCBA

14



83, Defective QVRH relay causes ... tripping failure.

A) Operation | B)Y Operation B Part | )y Operation 1 D) Operation *O°
e QVRH Farm w2 | B
A) HTIERT | B) s 7 7 C) APTTHI 1 INEIRZICEE
84, Sluggish eperation o GR cuuses tripping of 1 through ..o rclay,
AYQ 118 1330Q 44 C)Q a0 [y (} 43
ST F AR AT & A = A T L o 7wy 7 2T 2
AJFL IS By=7 44 ¢y 50 Dy = 45
85, Lnergisation of any safety relay, causes DN to trip after.......... scconds.
A10.6 [ERRY 0.3 M35
G I e B w6, T AT Ei e I 2
A) 0.6 B0 C) 0.3 1) 5.6
86, After taking permission fram TEC. before wedging Q=44 relay ... o185t 35 10 be conducted.
A) Loco brake test BOLT test Cy GR efficiency test [3) Traction test
Foepfi @ aqmfr em Fam A e et A =T T AT ST £
A) AT T% 752 3y i Cy FTAT TAT 752 D) ZFIT 25
87. 1st noteh tripping failure causes dug to v o defective relays.
AYOQVMT | or Q¥MT 2 BYQVSL | or QVSL 2
C)yQPH or QVRH DY QVSIT or QVSEZ
st 7= FEFer ot E10 &0 F07 L AT oo, ZTTGE 207 2T 21
AXIVMT T or QVMT 2 BYOVSH 1 or QVSILL 2
CHYQPH or GVRH Y QVSI L orQVSI2
88. Relay Q43 iscalledas ... relay,
Ay DJ protection relay B} Auxiliaries protection relay
0y DJ resetting relay D) Noteh by notch Progression relay
PR ASFT et T = 2
A) I T BT R) #Err qvar fr
Cy Tror FFrfEa ey D) TR T R 3T v
89. Defective QPDJ leadsto ............ tripping failure.
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A) Operation A ending B) Operation B Part | C)ICD] D) Operation B Part [1
Y FE L fefasT faferaT € & 5T 21
A) FfverT U UfET B) A T IIE | C) AT D) ATver & 97 |

90.In SIV locos, C108 contactor is provided for ........... motor.
A) AC MVRF B) DC MVRF C) SIV rectifier D) SIV inverter
SIV @TFT H. C108 Fireaz? ... qrz7 & o w=re B s 2

A)T,Tﬁ- ) AT ,q' B] ~ ”:Ié B ].ql C) )_I'l?ﬂ éé 33;_, FTI7 D)Wﬂ ;d ;':aé:
.21 [F & ... safety relays are removed in static converter locos.
A)QLM & QLA B)QOP1 &2 C)QRSI1&2 D) QDA & QLA

.......... A7 ... v Feade AT & g e zer R e

A) QLM & QLA B) QOPI1 & 2 C)QRSI| &2 D) QOUA & QLA
92. When static converter is not working .............. fuse(s) to be checked.

A) CCINV B) CCDJ C)CCA D) CCINV & CCA
W T Frae? FH AR T TRTEAT o I AT = T AT

A) CCINV B) CCDIJ C)CCA D) CCINV & CCA
93.The correct preparation for traction as well as braking is supervised by ........ relay.

A) Q-32 B) Q-51 C) Q-50 D) Q-49

THI & ATF-HTT T £ wE FAr A e L A g S s B

A) F7-52 B) F-51 C) #1-50 D) F7-49

94. While working with MU ............ lamp glows in healthy loco, ............... lamp glows in defective loco.
A) LSOL & LSGRPT B) LSOL & LSOV~ C) LSGRPT & LSAFL D) LSGRPT & LSOL

TTHY F 779 FTH FA A0T ... ﬁvmw"'rmww? ............. AT T AT F FAAT B
A)LSOL & LSGRPT B) LSOL & LSOV C) LSGRPT & LSAFL D) LSGRPT & LSOL

95. While operating GR manually MP should be placed in ....Position.
A)O B) + ) = D)N
ST Aegere =7 § HATMd F09 7877 wedt #17 ... PafF § way sy A
A)dr B+  O- DA

96. Maximum speed of WDP4 D & WDP4 B locomotive is

A) 130 Kmph B) 160 Kmph C) 150 Kmph D) 180 Kmph

WDP4 D #17 WDP4 B ST £7 srfersas afq &
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A) 130 Tt af =2 By 160 BET a5z O 150 BT ot gz ) 186 T o e
97, Output voltage & current of TCC s,

AY620-2600 V DC. max 1200 A DU BYOV AC- 2000 Vomax 1100 A AC

520 2600 V DC, max 1100 A DC DiNone of these

TCC T 9rzaT2 1727 A7 F92 21

A 620 2600 FT I, FHEAT 1200 7 T 13y 0 =7 =T 2000 =7 FREEST 00 ToET

() 320 -2600 71 2T, APFA17 1100 7 T+ D) T95 7 =75 T2

98.In P Locos FCC-2 are located n

A) Driver cabin B) Under Truck )y Near Radiator roem DY None of thése

- =~ e e

T AT T R

A) TTTAT FaT B)ZF F 1% C)7RETT w g R N TAH 7 #7775
00 In WP WDGY Loco when Tube ol temperature exceeds 124 degrev centigrade.
AdHot oil detector operates B LLOB operates CyOSTA wrips DiBoth A and B

WP WD ATHT § 57 747 A 77 37 7797 124 5357 7200z 7 w0 77 907 2

A TR AT Ty T 2T 2 B) AT AT AT 2T 2
CIOSTA &7 3y A S B 71

100, Horse Power of Traction Motor in WDGY Loco

A)SOOKW B) 600K W CHAS0K W 17} None ol these
A) SOOKW B} 600K W C)1430KW D) T 7 F1E qEf
101 Rectitied Voliage of AC Aux. Generator in W [)(]-4 Foco

AY6dVDC B) 55V AC CYy74vDo MNone of these
TR ATET § THT sftesy Farey 57 Aeitfae e

A)63YDC B) 53V AC ) 74VDC D) TTH T F7 7E
102 Total nos. of Batteries in WD Loco Lead acid 1tvpe

A0 By02 Cy08 DNone of these

T AT T ETSt4 AT B Az v TR £ S=ivt i wen

A0 13)02 Cy08 Dy 295 7 F13 977
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103. In WDP4 Locos RADAR is located

A) Between Rear bogie & Fuel tank B) Engine room
B) Between Front bogie & Fuel tank D)None of these
WDP4 #TFT 7T § g £

A)FfEfrarr v imiF s B) T3 F&T

C) %z IR & fuw oy D) T7H 7T FTs T2

104. On run GR Trip then the engine

A) Will shut - down B)Comes to idle

C) No effect on engine D) No effect on loco
T 97 S fon fe 29

A) #F BT ST B)fAftwg gr ST
C) A9 97 FTE 991 T21 D) @THT U7 FTE TATS 721

105. No. of Radiator fan in WDP4 & WDG4 Locos

A)02 BY01 )03 D)None of these
WDP4 317 WDG4 FT=T | ¥z vt fir g

A)02 B)01 )03 D) Z7H T FTE Tol
106. In WDG4 Loco Traction Motor is......

A) Force air ventilated cooled B) Oil cooled

B) Water cooled D) None of these

WDG4 T ST ZF9T9 {187 ... &

A) T AT ZATATT 52T B) 7 F=1
C) It F=7 D) Z7H 7 F1E T8

107. In WDP4/WDG4 loco engine should not be cranked when

A) Low water button is tripped B) crank case pressure button is tripped
C) LLOB is in tripped D)OSTA is tripped

WDP4/WDG4 T S5 § 5 s a1 (347 STa7 AR

A) FH I FT q2A T ETTTE B) #0 F9 9T g2A Ry Er

C) werasrEt fr gr rar g D)OSTA fzv gramar 2

108. In WDP4/WDG4 loco during false locked axle indication
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A)lsolate the defective truck B) Isolate the defective speed sensor

C) Isolate the defective TM D) Fail the loco

T ATH TFAA SIEF9F & 31779 WDP4/WDG4 =TT H

A) ZTTYF 2 FT AT T B) 2ot 1fF Fa2F FT T F9
C) AT £ FT AT FS D) ATET T A

109.In WDP4/WDG4 loco while conducting BP leakage test LT switch should be kept in
A) Lead position B) Trail position
C) TEST position D)Helper

WDP4/WDG4 I #§ BP #1491 252 79 999 L/T 79 F1 @57 7=a7 A1f2m

A) #TE T B) T TTAT9 C) 7%= fufF D) FI7
110. In WDP4/WDG4 when continuous wheel slip is experienced due to locked axle
A)lsolate the defective TM B) Isolate the defective speed sensor
C) Fail the loco immediately D) Isolate the defective truck
WDP4/'WDG4 H 58 T THTA F FIE0 ATATT 521 (2T FT A79T AT &

A) T ET0H #T w7 ¢ B) FTTIOT T HAEF F AT F5

C) AT ®T 99 A% F7 D) FTTTIT 2 FT AT Fit
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S|
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fea smam)

10. Candidates are not allowed to leave their seats within one hour of commencement of examination and
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Choose the Correct Answer | JTY 61 Y- ﬁm

1. The Offictal Language Rules 1976, is applicable on entire countries except one State. which is that State?
A) Kerala BjyTamilnadu C)Tripura DAndhara Pradesh

TSUTH] 50 1976, T T4 B BISH I oW H AN T, 8 o0 HH T 67

NG B) AT o) Bgw D) 3y we

2. World "Hindi Day" celebrated every vear on ?

AY HI™ January BY 17" January () 12" January D) 14" September
fay R} fagg oX wrd wemn <ren &2

AVTSE B 10TFa] O 129 D) 14 fidae

3. What is the Cash Award given under Kamalapuaed Tripathi Rajbhasha Swarna Padak ?

AYRs. 10000 BYRs. 1000 CYRs. 100000 D) Rs. 10,00.000
FHETAR FUTE] AU W UaH P aga fam o arel Fie [REER #4187
A)Rs. 10,000 B} Rs. 1,000 C)Rs. 100,000 D) Rs. 10,00,000

4. Mention the name of the Award to be given for writing the book of Hingdi poems, by the Railway Board.

A)Rail Mantri Rajbhasha Rajat Padak BiLal Bahadur Shastri Awuard
CaMaithili Sharan Gupta Award D} Premchand Award

Bt Hfaaef &1 s foe & fou Ige 918 gr iU 9 a8 (6 R &1 91 Jaigti
A) 3T HA TAHIE] 9 TEH B) AId 981Gl Wk TIHN

o) Bfrelt TR e R D) WIiE [EhTY

5. Who is the Chairman of the Divisional Officia] Language Implementaton Commitlee?

AIDRM BYADRM CiNominated officer by DRM D) Division Raja thasha adhakari

HST IHT ST Bl & S FE N §

AV EIMREH  B) TSI3RTH c)@mm‘mw D) F&dTa T= Wi SiteR]

6. In which order are the Station announcements made?
A)Trilingual (Hindi, Regional & English)
B)Trilingual {(English, Regional & Hindi)
OYTrilingual {Regional, English & Hindi)
D) Trilingual (Regional, Hindi & English}
WA 9 59 F0 H @ awl @
Ay B (B, et o ot
B) et (affeh, &t v
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c) Bt (@sta, st ok &
D) vt (@i, R v ariieh)

7. Which article of the Constitution of India empowers the Indian states to choose their own Official Language?
A) Article 343 B)Article 351 C) Article 210 D) Article 345
URA P FIAUH BT D1 T T3¢ YR TUT B HUT JSTHTS A FT SHUSR a1 82

A)3TEBE 343 B)IEBGE 351 C) DG 210 D) SITBG 345

8. Name the newly introduced course in Hindi by Hindi Teaching Scheme
A)Praveen | B)Prabodh C)Parangat D)None of the above
<t fRreur gt g @t A R fa 1T ¢ Uraareh 7 A1 w1y

A) Wl B) V&Y C) TR D) STIa H A B1E T51

9. Who is the Chairman of the Town Official Language Implementation Committee constituted in major cities?
A)DRM

B)ADRM
C) Senior most Central Govt. Officer of the city.
D) Division Raja bhasha adhikari

THE TRI § T3d AR THIY B G P Jwy S e s 2

A) SISRTH

B) TSTS{RTA

C) TR B INFAH DT WHRATBR |

ECIEERIEIRNL IR DE R

10.Which is the elementary Hindi course prescribed for Central Govt. Employee
A)Praveen B)Prabodh C)Parangat D) Pragya

B% WHR HHIR & fog Fufa ke R ueasa s a3

A) ydtor B) W&y C) IR D) U

1 1.LAP shall be credited to a Railway servant at the rate of

A) 24 days per month B) 3 days per month
C) 2 days per month D) 1'4 days per month
QeTgdl 1 X A T 301 Has I STHT et STar

A) wfe AT 21 fem B) Wl AT 5 fa

o) ufa g 2 g p)ufaae 14 fRF



|2, Where appointing authority are not available who should be treated as appointing authority?
A Controliing Officer BIDRM Oy GM D) CPO

wTel frafda miter Jues 781 3, %1 Frafe wrient @ wa o 59 w1 o =R
AyFEgr e mydlemumm o) dew o) ddted

13. Within which period, Paternity Leave can be granted?

A) Six months 1) Three months C) Four months Dy 15days

fEer aafy & iR g srae e o =1 gwar g2

A) BEHEIH B) I HEH C) AR TEH D} 15

14.A Railway cmplovee shall be granted leave of any kind for a continuous period of not exceeding. ...
A) 3 Years 1Y 4 years ) 5 years D) 6 years

U 39 FHAR! B e Hf UpR 31 FRaR 3@fy & forg sigesrsn wer {3 .

Ay 3 HId B) 4 Tt 1 5 8Td Dy 6 Al

5. Who is the Campetent Authority to grant study leave within India?

A) RI}J. Board B1GM CYy DRMACTWM ) CPO
HRA B 1R e aHTe Ve &3 & o gam wiRie & e
N GEEIES 1) SIH () SlRTARTE&gEd D) Tty

16, Maximum validity for a Privilege Pass?

A} 3 months (Half-set) B} 4 months (Full-ser)
Cy 2 months (Half-ser) D) 5 months (Full-sct)
fafyds org @ forg sifiresam v

A) 3 FEM (BTP-HT) B) 4 W& (ma-de;
C) 2 HEH (3% g2y ™) 5 TE (ol ge

17. When Higher Class Pass ts issued ?

A) On medicat ground B) On Scouts & Guide
C) Cultural funcrions 17) None ot these

TR I T &9 WIR) far smar €7

A ARSI UdE W B) ®h13cd U8 MEE W

C) "ihlas & D) 378 § #)F +dl



18.Board of enquiry appointed by the Disciplinary authority?

A) Not more than 5 members B) Not less than 2 members
C) Not less than 3 members D) Not more than 4 members
RIS WIS gRT g ofid 187

A) 5 9 S o T B) 2 4 &H ¥&W T

C) 3 ¥ HH Yo gl D) 4 ¥ 31l Yo &

19. How many cases are dealing a retd. Railway employee as a defense assistant at a time?
A)S5 B)7 )3 D)8

U Ja1g 3ad HHIRT e T 7 36T Je1a® & T fra ama fAuere € 2
A)5 B)7 O3 D)8

20. Which deduction from subsistence allowance cannot be made?

A) House Rent B) P.F.subscription C) Income Tax D) None
fef iR A ¥ e R s S I TEd g 2

ATEEYE  B) TIUG Ysafhe C) §7H 2 D) P T8l
21.During suspension which type of allowance is eligible for running statf

A)Subsistence allowance B) Average running allowance

C) Both A &R D) None of the above

Feiem & SR T =T ) {58 TR ST H 3 R

A) Frafe B) 31¥d T M

C) T AR &t I D) SR H @ HIE gt

22 According to Rule No. 3.1 of RS (Conduct) Rules, 1966, every Railway Servant shall at all times;
A) Maintain absolute integrity B) Maintain devotion to duty

C)Both A & B D) None of the above

HRTH (TR Fam, 1966 B 09 WA 3.1 B SR, TAS 30 99@ HI g3 9HT,

A) gf Sr@sar #9703 B) Haed @ Wi THY 914 I8

C) A 3R BEH! D) IRIed § & g Tl

23. CMS is aimed to provide ?

A) Position of crew at HQ/OS



B) Maintain status wise records

C) PR, maintaining LR, PML details

D All of the above

Hloguy ygH 19 & ey g2

A) TEITET/TY | ared aa &) reufa

B) FURT & 3R N18 &g T

C) UTIR, TR, Yuss &eor 1g 3

) IuTE G

24 In CMS LR due time can be configured as per logic at what leve! 7

AY Zonal level B) Division level Cy Lobby M Bolh A&B
cMs T LR Foa Omm & de & IR 50 R W S g o e g o

A) SIFIRT &R R) fedterm i C) Tt D) A AR B EA]

25, is an assessment of the requirement of locomotive /diesel /electrical powers based en the number of
trains and class of traing to run on particular section.

AY Outage R) Clilization Cy Power Plan D} Bure requirement

9w dE W ae arel 3 3l W iR oA bt 4uft # enuR R diw e S faega il 5
ATTTTHT FT HHTTE |

A) 33T B) gfeagoigA ) 9raR W EUREICEREIY

26.Busic duty of Power controlier

AY To arrange motive power B) To guide runming stalf

C) Planning ot locos to home shed for maintenance 13y All of the ahove

UTaR HeleR &7 e deed '

A URe Ta T gyl T i3} I T 1 AnfERA we
C) TS & [T diept 4§19 D 7P B o D) ITRIF FHt

27, Calling ON signal will show light in “ON" position.

A) Red B) Green ) White Y No

HIa A e  emgE ) affr OYefter o feEm

A)TT BT ) TBE D) &l
28. Calling ON signal cannot be taken “OFF” during ~ failwre.
A} Signal B Track ) Point D) Block instruments

6



R & SR Bia i R &) 3ife 78 o s gear 2|
A) Ra B) ¢& C)@nRe D) ST S

29.0n single line, immediately after the arrival of a stopping train, in and in shall be set
against the

A) front, rear, line train occupied B) front, rear, loop line

C) Front, rear, mainline D) none of the above

7T T3 W, ®IT A P o & RTa alg, b= i g | @ [rHA 9 fma
SITEI

A) e, TR, ¢ arA I B) e, R, qu argA
) we, R, AT D) STiad H ¥ HIg 78

30. Whenever Tnner Distant is provided, Distant signal is capable of displaying ___ aspects only

A) Attention and Proceed B) Proceed and Caution
C) Caution and Procced D) Attention
o9 N R R e ueH P o 8, d Qe e dad ugqel & weRfd s d vemgar e
A) ST & IR M §¢ B) AT 92 3R Fraert ava
) FrauT ofR 3t 78 D) &4
31. Gate-cum-distant signal will be located at a distance of  meters in rear of the gate
A)120 B)1000 C)180 D)270
TeHrfeeefmaic s de _ A sigd wR@gm
A)120 B)1000 C)180 D)270
32. It will be the duty of the .............. o ensure that tail lamp or tail board is affixed only in the rear of the last
vehicle.
A) Points man B) station master C) guard D) TNC
TEgRBa S ... T Bl BN P o0 &0 U1 29 SIS Do sifad g & fsd e # fagar
gz
A) U™ B) WY AR C) S D) St

33.Toreceive a train on to an obstructed line, the LP shall be given  authority where there is no calling-on
signal and signal post telephone

A) T/509 B) T/511 C)T/510 D) T/512



TS ¢ T WUS 3 W A & g, wadl | s far soen wigl &1 sifent.ofq R ok
el dree 2t =8

A)T/509 B TSl OIS0 Dy T/5i2

34.During TSL working, the speed of second and subsequent trains shatl

AY 1D By15 Cy25 D) Run at their booked speed
SUHLE § B HA e, g AR I PSP vl gl
AY1D B) 15 )25 m d Py afa g

35, When a train without guard is divided in the section, after ¢learing the first portion, light engine retwming to
pick up sccond portien shall proceed on --- authority

AY T/l B) T/A602 C) T/B602 DY TACai2

or et nd areft Yol e H wfe Sl 8. o) U B ol feerai % e, wige 9 g e @ ae
& forg ded 8- Jfafel v e @gm

A) T/609 B) T/AG02 ¢y T/B602 D) T/C602

36. tn case of fire accident 10 a passenger carrying tram, the first objective to be achieved is to

A) Clear the section B) Record coach number

C) save litc and property 1} Inguire about incident

TG Y A o arel o F 31 e @ R A, v fe S aren usen 9wy 8

A) T ) et & B) R Pra w

¢) Sa R Hufty &1 ward D) TS P TR H IHdTe B

37.The Guard shall show a --- hand signals towards the rear when the train has been stopped at an automatic

stop signal.

A Proceed B) STOPR C) No Tand signal D} None of the above

e 8! TEferd Vb R W o) 81 A e WS B 3N - 514 &1 Febdl faara

A WSS B)IET C) FIE BIY Fh Rl D) ST H F PIE g
38, Speed indicator is located at --- meters from the obsoruction

A) 30 13) 90 C) 1200 1) 45

W edr T g .. R R R@ a2

A) 30 B oD Cy 1200 ™) 45

39, An example of consequential train accident is------
A) SPAD, averted collision & hreach of block

B)Collision, fire, 1.C gate & derailment

8



C) SPAD & Fire

D)none

UROTH! 3 gHe &1 Teb ISR -

A) THUTGEY, Tohvrd SIR il 1 Seeted era faar
B) THY, AT, Tadl e 3R qed @ Iaer

C) SPAD 3R 3R

D) B1E 8!

40. The required brake power of passenger carrying train shall be and for a CC rake goods train shall
be at originating station.

A) 100%, 100% B)85%, 100% C) 90%, 50% D) 100% , 85%

I & 1 aTell SF S1 STavad 9 UIa Bt 3R il ¥ e @ fae uRfe WRE R
il

A) 100%, 100% B)&5%, 100% C) 90%, 50% D) 100% , 85%

41. ODC shall be allowed to be attached by a train for transport only with the prior sanction of

A) SrDSO B) DRM C) DME/DEE D) none
ER BT daa uRaed & g 27 gRT dau & @t srgafa gl 1 gd Hed @ Ty
A) iR Suwai B)SIMRTA ) SHE/ERs D) DI A8l

42. The gate signal in automatic system is identified by

A) A-Marker B) P-Marker C) G-Marker D) illuminated A-Marker & G-Marker

e Hurelt H i R &1 ugaH EIREIRI G

A) T-HHY B) di-mmaR C) Si-HTHR D) U§& T-H@R 3R St-AIHR

43.Caution indicator is located at meters before the spot on BG.
A) 1300 B) 1200 C)1500 .[))2000

ol IR wWIe ¥ Ugd ---- Hiex W HayHi Y (a3l

A) 1300 B) 1200 C)1500 D)2000

44, If LP enters block section without authority and subsequently sends his Asst LP with a memo to SM _that
SM shall give and

A) Signals, PLCT  B) PLCT, Caution order  C) Mcmo, Signals D) none of the above

e, et o iR @ sfe SR & Wam HRa1 8 3R 91 § 307 TgUs Tad &1 U A6 & 91y
T S ST e, MOGEUHES 3R EATEm

A) Re, floadfidt  B) doedltd), greurt edw o) #39, Roe D) SWRisd & A &S gl



43 VTP is puinted alternatively.

A) White & green B) White & Black
C) Red & green Dy white & yellow

Ciibikal _ dofare wU g Mba rmmm g
A) 9T IR B B) THG 3R BT
C) &8 AR B D) §he R drar

46. Block stations under Absolute Block System are sub-classified as ,

&

A) Flag . Crossing, Noo-Crossing JRun Through

B) Reportng, Non Reporting, Classified, Unclassified
C) Class AB.C&D

) All of the above

USHITE el FRed & dgd sl WA B . . 3R
% 9§ 3u-ifew frm m 3

Ay T, BIRAT, AP, W Y,

B) femifdn, M3 Reifdn, avifaa, sraffaa
C) HE1 T o, H RS

1) JURIeR Ht

47 To receive a train on to non-signaled line, the LT shall he given
A)T/511 By[/504 Cyr/s1z M) None of the above
e 9 29 arell 189 R A U $e & forw, Tadt e smoem
AYT/511 BIT/509 OTs2 0 D) ERIFEAE

4%, While performing shunting, the points which are not protected by signals must be locked by clamped or
cotter balted and padiocked method

A} Clamped

B) Cotter holted and padlocked

C) Clamped or cotter boled and padlocked
I Both A and B

ifeT ea g, S g Rima g kit 7 € 3% W O ex aiee IR deui® i gy el fva
EIGIEIEY

AYTETS gonl
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B) BIex diee 3R Tsad
C) TS T HIeX diee 3R TSdle
D) A 3R B GH!

49. At non-interlocked station, speed of the trains on main line shall not exceed kmph.
A)l5 B30 O35 D)45

Af-Feraias R W, A AR IR A & 1f et wifey w2 @ aifres =1t anfh
A)I5 B30 ()35 D)45

50.Signals used for controlling movement of trains as per G & SR are

A)Fixed, Hand, Detonating, Flare B) FSS, HOME, LSS

C)Shunt Signals and Calling ON D) None

St 08 THIR & 3R Al Bt farsie! &1 FHafd $3a & fore Iuwae fu o aret Rera
__®

A fres, 85, 3R, "R B) UL, B, TOTET

C) Xe Fyud iR &1a off7 D) ®Ig ol

51.While 3@ loco working as banker, puton ............. switch and close 70 cut out cock.

A)ZTEL B) ZBAN C) BLHO D)None of the above
et dPR ® T H BERA 3G AR BT ... @ % 3R 70 HT 33T Bl §q BR
A)ZTEL B) ZBAN C) BLHO D) 379 4 BI% T8l
52.In 3@ loco, SS-10 belongs to ....oovvvvennnnnnn. sub system

A) Battery B) Brake system

C) Auxiliarics HB1 D) Auxiliary converter No: 3

3O ADIH, SS-10 oo, e ey ¥ gefia g

A) dcdt B) sigs Ry

C) TS a1 D) HeT® Hac] 98 3

53.In 363 loco, if vigilance penalty brakes are applied BP pressure dropsto ......... kg/cm2 .(Gauge reading)
A)2 B)2.5t03.0 C)25t03.5 D)0

g T A, ot g T se o s e Y ddi w1 eEd . femAd ge R S g @
JfEm

A)2 B)2.5t0 3.0 C)2.5t03:5 D)0

11



C) g1 ufd D) B fhee

59, 30 loco is Aitted With ...oanissvvsevimmassssvmsssassivsvressorns type of traction motors.
A) 3 @ AC Asynchronous squirrel

B) TAO 659 cage induction motor

C) Hitachi

D) Hitachi or TAO 659

QT o TR P SF Hex ah B & |
A) 3 0 TH! srgegsiiae Masd

B) EITSHT 659 Ho TR HIeX

¢) feart

D) fEamt a1 duai 659

[ SRR relay will act when winding failure takes place in TM-1.
A) QRSI BYQLM C)QOP-] D) QOP-2
™-1 AT BagR w . R sm HIm|

A) THRUGAE B) FUATH  C) Fg3Md-1 D) agaidi-2

61, In 3@ loco, Machine room blowers & their scavenging blowers works in................cociniee. Mode(s).
A)Driving mode only B) Cooling mode only

C) Off D) Driving mode & Cooling mode

30 ! #, AR T SSRT 3R 7D WA I ..o Hie § HH HX 3

A) PId IRATAS B) Had He A8

C) 3l D) SrEfdT Ot 3R it Ore

62.Traction Control Cabinet (TCC) consists of

A) 6 Traction Computers, 6 DCL switch gears
B) 6 IGBT based Inverters, DC link Capacitors and Crow bar circuit
C)BothA & B

D) None of these

eRM BT Bfee (Teo) B MHa §

A) 6 CIRM BULR, 6 SHUTTd AR

B) 6 SESIEIE Syl 3-aee, St fRis HURieR 3R 31 IR Wfbe

13



C) U AR E gt
D) 3TH A PIE 8]

63 Location of A-§ COC in WAP-4 crew friendly locos-------—
A} Tn cab-{ below A-9 B} Preumatic panet
) In cab-2 below A-Y D) None of the above

WAP-4 T W &cl] A} H A-§ COC B ADI e
MBI H A9 D ) Yafe® 9@
Ao AT D) SRF TS T2

64, Tn convenlional locos auto Drain Valve will drain out the moisture at ... Kg/em?2 (when BLCP is
closed).

A8 B)o.s O)y1o.s Dyl

IR &9 H T A TS Aty (e deeiidt d g W aeR et g
AR By9.5 Oy 10,5 mii

65.1n conventional locos during RB. if loco brake cylinder pressure 15 above 1.0 kgfem2 | relay will de-
energise o bring GR 10 *0".

A} Q51 B) QVRF CWQE Dy Q50

AR & ERA URURE At 7, afe A 3 gt &1 2ed o et @ $ue 8 @ sfteme &) o uy
a3 Shuadiss g S

A Q5] R) QVRF CIOE D) Q50

66, When BPSW {s pressed, ... valve energizes for quick recreation of BP pressure.

AYMV4 B) R6 ) VEF electricai DyipP

WE BPSW I I 8. 1 i) Gure @ e See e qTcd AT B B

A) Tl B) 3116 O) IRUG gRfRma D) AR

67. Maximum loco brake cylinder pressure with A9 1s ... ......Kg/em2 and with SA-9 s .......... Kg'em? .
AYEB 25 B)1.8,35 Cy2.0,2.5 Dyig. 38

WS T TP 6 (e &1 dfiwan qarg . o ardh: iR vane @ oy . g g g
AY1R. 25 B)1.8,35 Cy2.0,2.3 D)y 18,38

68.In conventional dead loceo, IP (M) COC must bein ... position.

A Close B) open Cy Either close or open M None of the above

urdufies S eieet H, medt () et . f&ufa d g anfeg)

14



A) T B) U= C) TT ol TS T7 3T D) SRIsT A & P 7l

69. The C145 contactor position is..... when MP is in traction side.

A) open B) close C) cither close or open D) neither close nor open
C145 Bicaex B UM ... Bl B o9 Mp SRR IS8 Al 21

A) 39 B) gl C) 1 Y g AT 31U D) 7 a Fer 3R 7 3o
70.In 58 BOXN+BYV load, if 6 DVs are defective, the effective brake power is.....%.
A)(53/359) X 100=90% B)(59/53) X 100=111%

C) Cannot calculate D) None of the above

58 BOXN+BV @18 H, 4l 6 DV TR &, Y WHTdl i TIaR ....% B

A) (53/59) X 100=90% B) (59/53)X 100=111%

C) TUAT &1 R Fpel D) 379 A 1S A

71. Melting of CCDJ fuse causes ............ tripping failure.

A) Operation ‘A’ ending B) Operation ‘O’

C) Operation ‘A’ beginning D) ICDJ

CCOI R & fga d ... Rt wa g et 81

A) SRR T GAG B) STOREH 31

C) HTRTA T B LI D) STEHIETS

72.To overcome the Q 30 relay defective trouble, .......... relay can be wedged.
A)Q45 BYQ118 C) QCVAR D) None of the above

QI RA B TN R P BRI, ............ fxet ) 3 fopar o Tpa 1

A) T 45 B) 118 C) FgHIdeR D) SR & J ®Is el
73. Relay Q 44 is having ............... seconds of time lag.

A)l B) 0.5 C) 0.6 D)2

RATgaad ... U5 T IHT AR B

Ayl B) 0.5 C)0.6 D)2

74.In Static converter loco, to work MCPs..... & ...... relays should be energized.

A) QCON & QTDI101 B) QTDI101 C) QCON D)Q 100
Vs B Tidl T, MCPs.... .. R ... R HI &7 & g wfewy farar s =nfgu

A) QCON & QTD101 B)QTD101 ~C)QCON D) Q 100

&
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75 Time delay of QSVM relay is ..., scconds.

A)3 B2 Ccyne D3 60

QsvM e &1 way fads .. ABs Bl

A}S B)2 0.6 D} 60

76.To avoid QD action in microprocessor foco. ................ switch to be pressed up o 10th notch.

A1 BPOD B3) BPSW Oy ZQWC ) PSA

RS din A op A TS RIT .............. I B 108 79 9% e I 2

AYBPQD B) BPSW C)yZQWC D} PSA

T7e i, numbers of brake cylinders are provided in WAG-5 or WAG-7 loco.

AYE B) 24 Y Dy 12

WAG-5 IT WAG-7 O] # oa Rfeisi el damr .. e &) STl g

A) R B) 24 Cy6 Dy 12

78. In Static inverter {tted loco ... lamp is provided to indicate the tripping ol static inverier.
A)QSIT B) LSGRPT Cy LSSIT [)) LSAF

RREFART APIH ... WIRRT 3R & R 3 a1 & fw vam s smen 21
A)YQSIT B) LSGRPT Cy LSSIT Dy LSAF

79 While working with MU. [f DI is tripped in trailing loeo ......... ... .. lamps will glow in leading loco.
A)YLSDI & LSGRPT B) LSOL & LSDJ

C)LSOL & LSGRPT ) LSDI, LSCHBA, L5B & 1.80L

TAY & 1Y HTH B0 qA. A S Ra @ AR . M F AP /oY
EEUE

AYLSD) & LSGRPT BYLSOIL. & [.8T3

CYLSOL & LSGRPT DYLSDJ, LSCHBA, LSB & LSOL

80, Afler resctting BPEMS switch, operate ZPT from ............ position o .............. position,

AYO, 1 By2,0 Oy 1.0 DYy1,2

BPEMS e IV FH B IE, 2TV ... fRfas . feufer o wenferg &3

AY0, | B 2,0 Gyl.o DyI.2

&1.Controlling luse for SMGR control cireuit is .....ovvevan,
AYCCPT BYCCA CyCCBA Dy CCDJ

SMGR Bed Uipe d R s s g gl

16



A) CCPT B) CCA C) CCBA D) CCDJ

82. During RB if DJ trips, ....ccooooviinenne valve de-energises and causes destruction of BP pressure automatically.
A) IP(E) B) IP(M) C)VEF(E) D) VEF(M)

IR P ERH R S RUFRAT R, A oo qTed S-S 81 9T 8 3R st IR &Y 3R ey
ELEZEET

A) TP(F) B) IP(M) C)VEF(E) D) VEF(M)

83. When BLVMT is defective blowers can be started by---------

A) Wedging contactors B) Changing switch position

C) Taking a notch D) Ask relief loco

O BLVMT GRTS &1 T SR B —-ommeeme = o o Iwar 8
A) AfS pr<acd B) feaa &1 Rufa see

C) U UGgH D) I&d di! 4!

84. The controlling fuse for reversers control circuit is ......................

A)CCA B) CCDI C) CCPT D) CCLS
fredfd paaafFe s R eatimms ..............
A) CCA B) CCDI C) CCPT D) CCLS

85. When notches are not progressing & regressing by MP, try with----

A) EEC operation B) GR manual operation

C) Ask for relief loco D) None of the above

&9 T g1 @i W 3R e T8 #R 38 &, @1 - B Iy WA Y

A) 3541 JTRTA B) SR A 3T TR

) Rt e & fog 0@ D) IRIF H H HIE 81

86.While changing Bi-polar switch on DC-DC converter, ........ switch to be switched off.
A) BLPRF B) ZRT / ZPR C) BLPRR D) BLPR
S-St Fadt W f-ydho Raa sgerd 97w, ....... Rag &) de F & amfgu

A) BLPRF B) ZRT / ZPR C) BLPRR D) BLPR
87. When BPSW is pressed ...oooooeeeeeeenene valve energizes.

A) PR1 B) MV4 C)PR2 D) QWC
EE R S 121 - — a1 WiHrg g 8|

A) PRI B) MV4 C)PR2 D) QWC

17



B8 relay causes Auto Regression during AYL working.

AYPRI BYPR2 (YRGER2 mMQ2
.................. 3@ YTHTE BT $1 & SHE e fERH &1 ERu e |
At PRI B PR2 CYRGEB2 DyQ2

59. 1M ATDs are not provided at bath ends of contact and catenary wires, il is Known as ...,
A) Unregulated OHL B) Semi regulated OHE

) Regulated OHE Dy Un known

afe TS Fieee MMPTH T F TR R A g Agd . P 0 H T A 3
A) HIRIECE AT 1) JH FESE SieTd

C) TAeE aiuTg D) 3T

90. RPS resistances are cooled by motor.

A)YMVSIT-I B) MVSL-1 CyMVRIE DY MVMT-1
RPS WA &Y Hiex g & &1 faran S 7

AYMVSEI- B) MVSL-1 Cy MVRH DY MVMT-I
9t When rear cab BL is not locked properly, crew experiences ...... Traction failure.

A)TLTE with LSB B) TLTL with out LSB

7y Auto regression with LSP ) Ist notch auto regression with out LSP

e R %9 S10d &1 31 ¥ T T ooy Srar 2. 1 9rae <o ... 29w RARerdl &1 3y S g
A) Tauwel & Wy duadts B) TeREe! & fae1 Suadis
) TEUHdt & Ty affel Rdem D) T & {81 Tge e o) Ruwe

92. In 3@ loco, Status code ‘007 means---==--———-u-

A Major fault in loco B) Nu sub system isolated
C} Minor fault in loco 1) No fault and No sub system isolated
so P, [l ere vo &1 e g

A) Tt H g8} T B) H1E Td GEH AZHCS T8 8
C) T H AT gere! 0) 7 B ok 9 v ey srsakes

93.In 3¢} loco. §5-18 belongs to . ..., sub system,

A) Fire detection B) Memotel () Processor FLG-1 1) Processor FLG-2

18



A) BRR feeamH B) HAeT C) URER THUGl-1 D) TR THTES-2

94. Fire extinguishers: Replacement shall be done onceid ..........

A) A month B) A year C) 3 months D) 6 monthly schedule

SRS T WA ... 7 s IR g s

A) TP T BUHFIE )3 HER D) 6 A Yegd

95. Air dryer starts functioning, when MR pressure reachesto ___ PSIL.

A) 100 PSI B) 200 PSI C) 150 PSI D) Immediately as loco start

TF MR UER PSI T Ugd WTdl g, T TR TR $TH BT = PR T 8
A) 100 PSI B) 200 PSI C) 150 PSI D) @l ©Te Bl 8

96.Additional C-2 relay valve is used in air brake system for

A) MR pipe charging B) BP pipe charging

C) Vacuum train pipe charging D) Feed pipe charging
fefva c-2 Rt area &1 IuET U A e & R fearsmar g
A) TH3R UTSY =M1 B) &t Urgy =i

C) dgH S Uz = D) WIS UrgY =T

97. Which of the following is the reason of hot engine

A) ETS setting defective B) Radiator fan not working

C) Radiator fins chocked D) Any of above

frafafad % @ & a1 7 S HT PR @ '

A) $Tw IR =R B) e v FH TE R @R
C) TR P G@ B B U D) IWiad H & g i
98.In WDG#4 hot oil detector is set at....degrees centigrade

A)126 B) 100 C)150 D)200

wDG4 B daf felaex &1 ... et Se w e o wrar @
A)126 B) 100 O)150 D)200

99. In the WDP 4 & WDG4 locomotive engine how many lube oil pumps used

VT A

A) One B)Two C)Three 7 D)Four
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VDP 4 3T WDG4 TieIHiRy gur | fres 7F 7E U $1 TAw e 8
A TEH By CyeH Dy IR

100, Tn WDP4/WTG4 loco speed sensor should be isolated when

A) False locked axle indication B) Traction motor burnt expericneed
) Axle locked condition DY Both A and B

WDP4/WDG4 H T WS HER &1 e 3ier fasuy S+ =gy

A) BTEH Tleb TeTd 3 S B) Ca HIZT e BT SHd 81T 8

) T wie Taufa Dy A SR B T

107 In WG loco TLOB is located in

A)Y Accessories Toom B} Compressor room
()} Engine power take oft end INECCS
sl diel J teudsie Hafkd ¢

A) THITES =1 B) PUW FH

C) Zo1 UTaR 24 offts 0E D) ECC3

102, Total nos of cell of Batteries in WD(34 Loco (Lead acid type}

A)32 B) 50 ) 64 D)None of these
WDG4 Ap! (T8 TS T # §ei1 & o IE

A) 32 B) 50 C) 64 D) TTH ¥ T el

103.In WD4/WDG4 engine cranking but not statting due to...........

A) EPD Tripped £3) Governor not advancing fuel racks
) No ftuel reaching in the eylinders D) Any one of above
WDPAWDGs ST A TPt e afea ... B EIRULE TR @R

A) 30T feugrmm B) &Y 347 3o &) AT 1El GG @8
o st M aft ugT TR D) Idad | ¥ w5 ot

104. Battery charger rectifics AC to DC of

A) Aux gen output B) Companion Alternator output

)} Main Alternator output D) None of the above
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I TR T 1 S A guRaT @
A) 980 o 33eqe B) Tt dfeevAer A3eye
C) B TR HITYL D) IWIa H A B el

105. Radiator fan controlled by .......

A) EM2000 B) TCC C) EM2000 & TCC D) None of these
Wrerud ... g Fafa
A)EM2000  B)TCC C) EM2000 3R TCC D) 378 9§ D13 gl

106.Total no. of Water expansion tanks inWDP4/WDG4 ....
A)l B)2 C)3 D)4
WDP4/WDG4 B &l fawiR o1 &t et T,

A)l B)2 C)3 D)4

107. Load demand of the traction motor is met by

A) EM2000 B) TCC C) EM2000 & TCC D) None of these
e TR 31 Ars f¥ute fhae g g Bt et @
A) EM2000 B) TCC C) EM2000 3 TCC D) 370 4 HIE el

108. ER/BP not creating due to.......
A)LT switch defective  B) Air break failure C)Penalty not reset D) All of above

SR/t ... P FRU A T W R
ATEd faagngyl By TReE fawaar ¢ gufrdde @ D) I Tt

109.The companion alternator runs at the same speed as*

A) Engine rpm B)Aux gen rpm C) Turbo rpm D)Locomotive rpm

o e I TR Y aeaT e

A) 399 IRYTTH B) g o $RUITH ) T8l IRUIEH D) b HIed Rdter

110. Starting Tractive effort of WDP4 Loco is

A) S40KN B) 270KN C) 400KN D)200KN
WDP4 @] &1 wIfeT 2fded v §
A) S40KN B) 270KN C) 400KN D)200KN
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